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SIXTH SEMESTER B.COM. DEGREE EXAMINATION, MAY 2015
Paper — Il : COST ACCOUNTING - Il (Revised)

Time : 3 Hours] , [Max. Marks : 80

Instructions :1) Attemptall questions according to internal choice
in each Section.
2) Working notes must be given wherevernecessary.
3) Non-programmable calculator is permitted.

SECTION-A
Answer any ten of the following :
1. a) What is profit reconciliation statement ?
b) What is by-product ?
c) What is work uncertified ?
d) Whatis Notional Profit ?
e) Whatis normal loss ?
f) What is operating costing ?
g) Write two features of process costing ?
h) Write two objectives of job costing.
i) What is contract price ?
j) Calculate passenger kms. :

Distance covered — 200 kms : No. of days — 25 days,
Capacity 40 — passengers : Seat occupied — 60 %.

k) Give the meaning of activity based costing system.
l) What is cost driver ? (10x2=20)

[P.T.O.
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SECTION-B
Answer any three of the following :

2. Calculate the amount of profit to be transferred to Profit and Loss Account
in case of contract accounting. '

Contract price : Rs. 15,00,000
* Notional profit : Rs. 1,20,000
Work certified : Rs. 7,50,000

Contractee pays 80 % of work certified.
3. From the following information, prepare as estimation Job No. 840 :
Raw materials consumed Rs. 17,000
Direct wages paid Rs. 20,000
Factory expenses — 50 % on wages
Office expenses — 20 % on factory cost
The Quotation should include a profit of 20 % on selling price.

4. Joint cost of producing three products A, B and C amounted to
Rs. 54,000. Other details of joint products are as follows :

A B C
Sales (Rs.) 84,000 40,000 36,000
Estimated profit on sales 50 % 50% 33 Y4 %
Further processing cost (Rs.) 14,000 8,000 10,000

Apportion the joint cost.
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5. KBK runs fleet of buses in between two towns is as follows :

No. of buses Seating capacity
20 60 passengers each
10 40 passengers each

Each bus makes 5 trips in a day covering distance of 10 kms. Each way
on an average buses are full on onward journey, but 75 % seats are
occupied on return trip. Assume that the company operate its fleet for

25 days in a month.

Calculate total passenger kms. for the month.

6. Prepare a reconciliation statement from the following :

Profit as per cost account Rs. 20,000
Interest debited in financial account Rs. 1,000
Overabsorption of overhead in cost account Rs. 8,800
Preliminary expenses written off Rs. 1,300
Undervaluation in opening stock in cost account Rs. 1,500
Overvaluation of closing stock in cost account Rs. 2,500

7. Explain the demerits of activity based costing system. (3x5=15)
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SECTION=C

Answer any three questions. Question13is compulsory.

8. From the following figures, prepare a reconciliation statement :

Rs.
Net profit as per Financial Accounts 30,000
. Works overhead under recovered in Cost Accounts 6,000
Administrative overheads over recovered in Cost Accounts 12,000
Depreciation charged in Financial Accounts 20,000
Depreciation recovered in Cost Accounts 28,000
Interest received on securities 25,000
Obsolescence loss charged in Financial Accounts 10,000
Income tax provided in Financial Accounts 20,000
Bank interest credited 45,000
Stores adjustments (credited in Financial Accounts) 4,000
Value of opening stock in Cost Accounts 1,04,000
Value of opening stock in Financial Accounts 1,08,000

Interest charged in Cost Accounts but not in Financial Accounts 12,000

Goodwill written off 2,000
Provision for doubtful debts 8,000
Value of closing stock in Cost Accounts 1,00,000
Value of closing stock in Financial Accounts 94,000
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9. A product passes through three processes A, B and C the details of the

10.

process are as follows :

A
Input (1,000 units) (Rs.) 8,000
Sundry materials (Rs.) 10,400
Direct labour (Rs.) 9,000
Production overhead (100 % of direct labour) -
Actual output (units) 900
Normal loss (% on input) 10 %
Scrap value per unit (Rs.) | 4

Prepare process accounts.

B

8,000

14,720

680

20 %

-8

Cc

4,100
5,600

540
25 %
10

Mr. Ranu undertook a contract for the construction of houses on
1st January 2014. The contract price was Rs. 22,50,000. The following

details are available for the year 2014.

Materials purchased
Materials issued from store
Labour

Plant installed at site

Direct expenses
Establishment charges

Material returned to stores

Rs.
3,60,000
45,000
1,35,000
1,80,000
90,000
22,500
22,500
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Material on hand at the end 9,000
Plantin hand at the end 1,35,000
Wages outstanding 27,000
Direct expenses outstanding 36,000
Work uncertified 2,25,000
Cash received (80 % of work certified) 9,00,000

Prepare the contract account. Show the relevant items in the Balance
Sheet.

11. LMOP Lid. has collected the following data for its two activities. It
calculates activity cost rate based on cost driver capacity.

Activity Cost Driver Capacity Cost
Power Kilowatthours - 1,00,000 kilowatthours  Rs.5,00,000
Quality inspection Number of inspection 20,000 inspections Rs. 8,00,000

The company makes their products LMOP for the year ending 31-3-2015.
The following consumption of cost driver was reported.

Product Kilowatt hours "~ Number of inspection
L 20,000 7,000
M 40,000 5,000
O 20,000 4,000
P 10,000 2,000
Required :

i) Compute the overheads allocated to each product from each activity.
ii) Calculate the cost of unused capacity for each activity.
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12. Vani Vegadhoot operates four buses each with 40 seating capacity
between Ranibennur and Bangalore which are 300 kms apart. Each bus
makes one round trip per day. On an average the buses are 80 % filled
while making onward trip and for downward trip 30 % seats are vacant.
Other details are :

Cost of each bus — Rs. 5,00,000
Road tax of all buses — Rs. 24,000 p.a.
Salary : Four Drivers — Rs. 5,000 p.m. each

Four conductors — Rs. 4,000 p.m. each

One clerk — Rs. 4,000 p.m.

One supervisor — Rs. 5,000 p.m.
Office Expenses — Rs. 40,000 p.m.
‘Repairs Expenses — 3,000 per quarter per bus
Replacement of tire and tube — Rs. 3 per 50 km.
Insurance of vehicle — Rs. 6,000 per quarter for each bus
Depreciation at 15 % p.a. on the vehicle cost.
Month operated January 2015 and sundry expenses for that month Rs. 12,616
Diesel cost Rs. 30 per litre

Kms run per litre 10

Prepare operating cost sheet to compute per passenger km. Assuming
all buses operate all days in a month.
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13. Amanufacturer produced and sold 300 T.V. sets during 2014. Folowing
are the details :

Direct materials — Rs. 7,80,000

Direct wages — Rs. 4,20,000

Factory overheads — Rs. 2,10,000
Administrative overheads - Rs. 1,41,000
Sales price per unit — Rs. 6,000

For 2015 it is estimated that :

i) Each T.V. set needs materials worth Rs. 2,700 and direct wages
Rs. 1,500.

i) Factory overheads are recovered percentage of Direct wages.
iii) Total administrative overheads are fixed at all level of activity.

Prepare a statement to show profits per unit if the selling price is reduced
by Rs. 100 each. Actual output and sales are 500 T.V. sets in 2015.

Give reasons for decrease in profits and suggest how profits to be
increased. (3x15=45)
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SIXTH SEMESTER B.COM. (REVISED) DEGREE EXAMINATION, MAY 2015
INCOME TAX — LAW AND PRACTICE (Paper - Il)

Time : 3 Hours] [Max. Marks : 80

Instructions : Answer all questions with the strict observation of
inner choice ineach Section.
Use of simple calculator is allowed.
Question 13 case study analysis incompulsory.

SECTION-A

1. Answer any ten of the following :
* a) How do you compute short term gain ?
b) What is indexed cost acquisition ?

c) Mention the treatment of advance money forfeited and retained by the
assessee while computing capital gains.

d) What are tax-free commercial securities ?

e) How do you treat rent derived from letting of building along with
machinery, furniture etc. ?

f) What is set-off of losses ?

g) How do you set-off speculation loss ?

h) What is adjusted gross total income ? |

i) Mention the amount of deduction allowable U/S 80 CCE.
j) Whois an individual ?

k) What is Book Profit ?

l) ExpandITOandIIT. (10x2=20)
[P.T.O.
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SECTION-B
Answer any three of the following :

2. From the following information furnished by Mr. Shripad, compute his
capital gains for the Assessment year 2014-15 :

Particulars Jewellery
Sales proceeds Rs. 30,00,000
Year of sale 2013-14

Cost of acquisition Rs. 1,16,000
Year of acquisition 1983-84

Cost of improvement Rs. 7,85,000
Year of improvement 2011-12
Selling expenses Rs. 5,000

The cost inflation index for 1983-84 is 116, 2011 — 12 is 785 and
2013-14 is 939.

3. Smt. Shobha furnishes the following details for the previous year ending
31-12-2014:

a) Interest on securities issued by Govt. of India Rs. 20,000.

b) Winnings from lotteries (net) Rs. 14,000.

c) Interest on debentures of XYZ Company Ltd., Rs. 3,600

d) Dividend from Indian Company Rs. 2,000

e) Income from non-agricultural land Rs. 6,000

Compute herincome from other sources for the Assessment Year 2014-15.

4. From the following particulars of incomes and losses for the previous
year ending 31-03-2014, calculate gross total income of Mr. Uday for
the Assessment Year 2014-15;

Rs.
a) Income from salary 2,00,000
b) Income from house property :
i) Income from let out property 50,000

ii) Loss from self-occupied property 30,000
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c) Income from business :

i) Loss from speculation business 15,000
ii) Income from non-speculation business 7 45,000
d) Longterm capital gains 20,000

5. From the following information provided by Mr. Sandeep, compute the amount
of deduction allowable U/S 80C for the Assessment Year 2014-15:
i) Life insurance premium paid Rs. 25,000 on his own life policy of
Rs. 2,00,000 which was issued prior to 31-3-2012.

i) Life insurance premium paid Rs. 20,000 on the life of wife. The sum
assured is Rs. 1,00,000. The policy was issued on 2-04-2012.

iii) Contribution to Statutory Provident Fund Rs. 15,000.
iv) Son’s tuition fees for higher education paid Rs. 38,000.
v) Subscription to NSC (VIIl issue) Rs. 25,000.

6. Santosh and Anand are the partners in a firm sharing profits and losses
equally. Book profits of the firm is Rs. 2,25,000. After charging
remuneration paid to Santosh who is a working partner Rs. 1,25,000.
Compute the total income of the firm for the Assessment Year 2014-15.

7. Total taxable income of Mr. Dileep for the previous year 2013-14 is
Rs. 6,50,000. He has paid advance tax of Rs. 56,000. Compute his tax
liability for the Assessment Year 2014-15. (3x5=15)

SECTION-C
Question 13 is compulsory. Answer any two of the remaining questions :

8. From the following information compute taxable capital gains of
Mr. Prateek for the Assessment Year 2014-15:

Particulars Residential Jewellery Non-listed
House Shares
Rs. Rs. Rs.
Cost of acquisition (Rs.) 8,00,000 10,00,000 1,22,000
Year of acquisition 1972-73 1969-70 1993-94
Cost of additions (Rs.) 2,00,000 2,00,000 1,20,000
Year of additions 1977-78 1979-80 2004-05

Cost of improvement (Rs.) 1,40,000 66,500 -

ST
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Year of improvement 1986-87 1985-86 -

Selling expenses 15,000 - 4,250
Sales proceeds 1,36,41,000 1,31,34,000 10,05,250
Year of sale 2013-14 2013-14 2013-14

The fair market value of the house property and jewellery on 1-4-1981
was Rs. 12,00,000 and Rs. 14,00,000 respectively.

He has purchased new residential house costing Rs. 8,00,000 on
2-02-2014. The cost inflation index were :

1981-82: 100, 1985-86 : 133, 1986-87 : 140, 1993-94 : 244, 2004-05 : 480
and 2013-14: 939.

. Mr. Manohar furnishes the following particulars of his investments for

the previous year ended 31-3-2014 :

a) Rs. 10,000 - 10% Central Government securities.

b) Rs. 20,000 - 18% Tax free debentures of XYZ Co. Ltd. (non-listed)
c) Rs. 40,000 - 10% U.P. Government securities.

d) Rs. 36,000 - 10% Tax free Commercial securities.

e) Rs. 30,000 — 13.5% securities of Cement Co. Ltd.

He also received during the same previous year :

i) Rs. 2,000 as interest on bank term deposits.

ii) Rs. 1,000 as interest on Karnataka Government Securities.
iii) Rs. 2,700 as interest on debentures of X Co. Ltd. (listed).
iv) Rs. 5,000 as directors sitting fees.

His other incomes were royalty from mining Rs. 12,000, ground rent
Rs. 13,000 and winnings from lotteries (net) Rs. 21,000.

He claims the following expenses :
1) Collection charges paid to bank — 1% of gross interest from securities.

2) Interest on loan taken to purchase Central Government Securities
Rs. 2,000.

3) Cost of lottery tickets purchased Rs. 500.
Compute his income from other sources for the Assessment Year 2014-15.
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10. From the following particulars furnished by Ganapati of Karwar, compute
his gross total income for the Assessment Year 2014-15 :

Rs.

a) Income from salary 2,10,000
b) Income from property A (LOP) 50,000
c) Income from property B (LOP) 12,000
d) Loss from property C (SOP) -~ 30,000
e) Income from grocery business 60,000
f) Loss from cloth business —20,000
g) Profit from Gold speculation business 24,000
h) Loss from Silver speculation business — 28,000
i) Longterm capital gains 35,000
j) Shortterm capital gains 32,000
k) Short term capital loss —-18,000
l) Longterm capital loss —45,000
m) Interest on Bank term deposits (Gross) 10,000
n) Winnings from lotteries (net) 70,000

The losses carried forward from the Assessment Year 2013-14 are :
i) Loss from cotton business Rs. 10,000.
i) Unabsorbed depreciation for the previous year 2012-13 Rs. 6,000.

11. Mr. Mahableshwar furnishes the following particulars for the Assessment
Year2014-15:

a) He is the owner of a house consisting three equal independent units.
The municipal value of the house is Rs. 1,80,000. | and Il units are
let out on a monthly rent of Rs. 6,000 each. Il unit is occupied by
him for his own residence. Municipal taxes are 10% of municipal
value which is paid by him. During the year, he repaid the housing
loan of Rs. 60,000 of which interest is Rs. 39,000. ‘
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b) During the previous year, he has earned profit of Rs. 90,000 from
fashion designing business. The above noted profit is arrived after
charging donation to approved school Rs. 5,000 and Income Tax is
Rs. 15,000.

¢) He sold non-agricultural land situated in urban area on 15-2-2014 for
Rs. 5,54,000. The land was purchased for Rs. 66,500 in December
1985. The cost inflation index for 1985-86 is 133 and for 2013-14
is 939.

d) He has received interest on term deposit of Rs. 8,000 (Gross).
e) He has received royalty of Rs. 10,000.
f) He has won prize from cross word puzzles Rs. 2,500.

g) He has let machinery and furniture at a monthly rent of Rs. 5,000 0n
1-06-2013. He has spent Rs. 2,000 on the repairs of the assets and
depreciation for the year was Rs. 5,000.

h) He has also made following payments during the previous year :
i) Payment to pension fund set up by UT1 Rs. 25,000.
ii) Subscription to bonds of NABARD Rs. 20, 000.

iii) Contribution to units of specified Mutual Fund Rs. 15,000.
Compute the total income of Mr. Mahableshwar for the Assessment

Year 2014-15

12. Leena, Meena and Veena are the partners in a firm of which Leena and
Meena are the working partners. They share Profits and Losses in the
ratio of 3: 2 : 1. The following is the Profit and Loss Account of the firm
for the year ended 31-3-2014 :

Rs. Rs. Rs.
Salary to staff 45,000 Gross profit 2,85,000
Salary to Partners : Bad debt recovered
Leena 50,000 (previously
Meena 60,000 disallowed) 3,000
Veena 30,000 1,40,000 Rentfrom house

Office expenses 32,000 property 22,000
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Interest on capital at 14% p.a.
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Interest on Post Office

Leena 21,000 SB Alc 2,000
Meena 14,000 Interest on Bank Term
Veena 7,000 42,000 deposits (gross) 6,000
Municipal taxes 2,000
Repairs 1,500
Subscription to trade association 1,000
Bad debts 500
Provisions for bad debts 3,000
Donations to college (approved) 5,000
Depreciation 10,000
Net profit :
Leena 18,000
Veena 12,000
Meena 6,000 36,000
3,18,000 3,18,000

Additional Information :

1) Municipal taxes and repairs pertain to house property let out.
2) Office expenses include commission paid to Meena Rs. 5,000 and

furniture purchased Rs. 8,000.

3) Depreciation allowable as per rules Rs. 9,000.
4) Salary to staff-includes salary paid to Veena’s son who work as Accountant.
Compute the total income of the firm for the Assessment year 2014-15 :

13. Case Study (Compulsory):

Shri Somanath, a resident individual, furnishes the following particulars

I) Profitand Loss Account for the year ending 31-3-2014

of his income :
Rs.
Salaries 80,000
Rent 36,000
Interest on Bankloan 15,000

Printing and Stationery 10,000
Provision for bad debts 5,000

Rs.
Gross Profit 2,25,000
Intereston Government
Securities
Interest on Fixed Deposit

Account (gross)

15,000

10,000

P S Y
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Bad debts 2,000 Baddebts recovered
Income tax 15,000 (previously allowed) 4,000
Advertisement 10,000
Life Insurance Premium
(own life) 10,000
Donation (unapproved) 12,000
General expenses 5,000
Depreciation 6,000
Net profit 48,000
2,54,000 2,54,000

I1) Additional information :
i) Salaries include salary paid to proprietor Rs. 25,000.

ii) General expenses include motor car expenses of Rs. 1,000 used
for personal purposes.

iii) Depreciation allowable as per rules is Rs. 8,000.
I11) After the business hours, he works in a call centre, from which he

received basic salary of Rs. 12,000 p.m. Dearness Allowance 30%
of basic salary and house rent allowance 15% of basicsalary.

He has paid profession tax of Rs. 100 per month. He lives in his own
house.

Compute his taxable income for the Assessment Year 2014-15.

And

IV) Re-compute his taxable income assuming that :
i) Life Insurance premium paid is towards life policy of his father,
ii) Donations made are to National Defence Fund, and

iii) Deposit account mentioned in the P and L Account is a Savings
Bank Account maintained with nationalised bank. (3x15=45)
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SIXTH SEMESTER B.COM. (REVISED) DEGREE EXAMINATION, MAY 2015

BUSINESS LAW

~me: 3 Hours]

[Max. Marks : 80

Instruction : Attempt all Sections according to internal choice.
AR - csoa‘@a’@aig/fmnbmmﬁ DED LI VFO0.

SECTION-A
QTN - &

Answer any ten of the following :
S FINSYNYY, e5os B8 g0
a) What is Business Law ?
o9, 3,000 OB ?
b) Whatis free consent ?
[008 #d;;% Q0TITE ?
c) What are ‘Quasi Contracts’ ?
RN WROTNPOTITeR) ?
di What are ‘Contingent Contracts’ ?
%2230 wWBETNTOTITE 2
2! What is ‘Cross-offer’ ?
‘:;‘d: TRYWNPOTITE ?
5 What is discharge of contract ?
LT OTT QRS Q0BT ?
. What is contract of ‘Pledge’ ?
NTY wTOTNL 0T389
ni Who is a special agent ?
SASHE DloveatnioPenioRessrie vl

w2

(10x2=20)

[P.T.O.
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Answerany three of the following : (3x5=1
B3 YN e3eT03 0T [IJM9R ¢ug0%0:

2.

i) What is ‘Acquisition’ ?
‘ORES’ Q0TTERD ?

j) What is unfair trade practice ?
RS 2390 BT ?

k) Whois a “Consumer” ?
o,BE 03 03T ?

1) What is consumer dispute ?
MREE T2, (8 ) 20T3eRd 9

SECTION-B
PONR - W

Define Consideration. State its essentials.
TEPOT 359,83, 23 s @ﬁ%é@ﬁ%ﬁ&q 90,

Distinguish between contract of indemnity and contract of Guarantee.
e, TOBOT 2BOT 302 2RQETOF LTOTNG FRDT TFIYANR) 2T5000.

Explain briefly the different ways of discharging the contract.
uaé)ocﬁaﬁaiz{ QRWERIT DG é)c‘ﬁz'\’e}ag #oég’mﬁ QTORD.

Write the objectives of Competition Law, 2002.
FFpees 5loes, 20023 emczezﬁmﬁdgt WTOD.

What are the objectives of Consumer Protection Act, 1986 ?
M,ET 0gFe 520003, 19863 cur3ednda) 3920,

Write a note on termination of agency by operation of law.
FORAVS FOOINF 2ITFBOD eRB TODFYIRTBR), ©0g RRRFHT e 833e9
[Nelovble}




SECTION-C
NWIN-F

Question Number13is compulsory. Answerany two of the

"emaining.

;3; 13 3T9080mon 3, fasacf?d@ﬁ%fq Wewo HTTE SUBORD:

w

. Define ‘Contract’. Explain the essentials of a valid contract.
LT 599, 33,00000. YRS WTOTT SRR eﬁozﬁﬁ%ﬁm DWOD.

Define the term ‘Agent’. Explain briefly the duties of an agent to the
principal and of a principal to an agent.

'SODF LY DET 83, WD, ORTWEIITIMDA THODF IO AT RS
TZEISH S0 52.030F LIDOMON ORI VS RIS FSF NN Bo3HN
...Jﬁ@rx)@

. What is “Contract of Agency” ? Explain the different modes of creating

anagency.
2 307 4990 LBOTHOTTERD ? Fo00F LT AR08 DN QTPINGRO, VeIO20.

- What are the anti-competitive agreements according to Competition Act,

20027
2002, =3petsod TR TFIT, & e ets DR WROWRBINTD 03 ?

Explain the various Consumer Disputes Redressal Agencies.
=380 %, TOTOTT O LIONE DT @@drﬁ@ﬁg{ QTOXD.

Case study (Compulsory) :
=.odeenE B3 (Smoia)
= , )
a) ‘X’ advances a loan of Rs. 25,000 to “Y’ a minor, on the guarantee of

‘Z'. On the due date, Y’ refuses to repay the loan on the ground of
minority. Can ‘X’ recover the amount from ‘Z’.

X0 OEoRIRT Y AR, ‘2N 500063 @redd dr. 25,000 R AOBI),
REROTR. ST T0T T Y’ B0 T BORCIIRNTIOT m@ﬁd.l
TOTITRS BRBLL QTITOROTE. X' &3 oo &sadaﬁg{ ‘70T RRED
TRTLIBOTC ?

(3x15=45)
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b) ‘Sita’ enters into a contract with ‘Ram’ that, she would sing at night

for one week at a theatre for a remuneration of Rs. 5,000 per day.
‘Sita’ sings for four days. Subsequently she felliil. Can ‘Ram’ ask for
damages for loss of income from ‘Sita’.

‘26T, ‘T2 § BT HO30EEITT 2,0030), 2,003 ETHETE T Tt BePed
20T TWREERTY. 0T 2.0038 . 5,000/ - FormSsS ey BRRRMZE.
W00, ‘AeT’ LY, ATNERTR PO3UTTY, TBRY. BTT, BEI0ET
58 TTRENE WIONIYY. ‘0o D BIMPT LIBI® SFEFY, ‘AT PO
BePuTOTIe ?

Mr. A promises to pay Rs. 20,000 per month to his wife, but, fails to

pay the promised amount. She file a case in the court against Mr. A
for breach of the agreement. Will she succeeds ?

Qoe. LD BF TR B Soned de. 20,000/ - MY BRZEY, DO IS
BRBIYE. ST B THMTEOZ T8 S0NED TED DB DPOTOMITYE. BN
33 a’gm éai 23D aibtﬁ)c:g3 B3 VLTI BrRetdr S TS BREIZT.
83 8eAT d%od:o CDBR) TECDTITE ?
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SIXTH SEMESTER B.COM. DEGREE EXAMINATION, MAY 2015
ECONOMICS (Revised)
Industrial Economics

Time : 3 Hours] [Max. Marks : 80
Instructions :1) All sub questions should be answered atone place
continuously.
2) Answer to all Sections should be written in the
same answer book.

Zresd: 1) oo v ggﬁgﬁﬁa ozSe 83T V0 80520,
2) @& DeInnY w_g’dﬁ¢dg 2.odde g0 oG
220028,

SECTION-A
IR - &

I. Answer any ten of the following questions in 2 —3 sentences each.
39N 35 10 (TRK) zInert 2-3 POYNYY YUBORD.

a) What is Private Sector ?
S39RN T 0BT ?

b) Give the meaning of Joint Sector.
BT [OODT 83 VeRD.

c) What is location of industry ?
SORRI0I FIVEBTED DOTTERD ?

d) Define planned location of industry.
03RCRTIWT VR0 FOVEBTEIRID 79,803, 0.
@ @ @ o 8 3

[P.T.O.
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e) State the meaning of balanced regional development.
RRIBRCOT T, T3ed8 @?@&5@@053 e93F QeRO.

f) Define rural industries.
MR800e60 YORTONTD, 3,509,
g) What is privatization ?

IORNEBTED DOTITEID ?

h) Expand I FC I.
| F C 1 2%020.

i) What is meant by industrial finance ?
00T BETEIRD DOTTERD ?

j) Give the meaning of short term finance.
DTG BEIFIAT LGHF JeRO.

k) Define industrial policy.
BGT Ded 539309 RR.
[) What is liberalization ?
LVTIODETTED OTITERD ? (10x2=20
SECTION-B
QLI - W
Il. Answerany three of the following.

SRV, HiemrRnch FIer wugo0.

1) Explain the role of Public Sector in India.
PTG AT T BOODT mgd@l DTOO.
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2) Critically examine Sargent Florence Theory of industrial location.
pntataleng RRTT* | 30 R AN ;T%zbeédsad %m@o@d&z{ QBT GBN
TOEERO. ‘
W
3) Write a note on Iron and Steel Industry in India.
TSI, #z%ea =0 emz:sﬁ VR0 dees £3¢3 2080000.

4) Examine the MNC's in India.
PRTITE, u&m%eodo 'éoa)’@mfdgl m’@eiﬁ;&

5) Explain the Industrial Policy 1948.
194838 gmods @eéoﬁodg{ QDWORD.

6) Examine the role of IFC1in India
033 IFCIT mgdz’% a-dbeiﬁo& (3x5=15)
SECTION-C
PN -7

Answer any three of the followings. Question 12 is compulsory.
é@ﬂé@ﬁ@@ﬁ 23eBT S0NRTH e_—-;%n’@ﬁ SVUZORD. agég 12 %w%wo.

7) Critically examine the role of MNC's in India.
0BT w&m%eojo BOBING mgddaq ammr@mﬁ waezzfo&

8) Explain Weber's theory of industrial location.
RWT* 9538 EHanlels n%meidsad R)m@oéﬁsg% DO,

9) Examine the progress of cotton textile industry in India.
PRTITE), nggd SVabiievs @’rﬂ%cﬁaﬁg{ wbez‘gﬁo&

10) Critically examine the Industrial Policy of 1956.

19560 %TTD@EO @eéojosi @domr?&mh waeéf)a.
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Explain the role and functions of SIDBI.
SIDBIT @08 monie @oﬁarﬁejm‘% DWORD.

Caselet:

The rural industries provide immediate large scale employment and
they also offer a method of ensuring a more equitable distribution of
national income. They facilitate effective mobilization of resources,
capital and skills which might otherwise remain unutilized. Some
problems of urbanization tends to create will be avoided by the
establishment of small centres of industrial production all over the
country.

Questions:

a) Give the features of rural industries.

b) Explain the merits of rural industries in India.

M3,e0e60 YUQTONTD BFLITY BS® TN NTREN VeI &0
TDH, T BTIONT FROZROT T03TCd ébzp‘aa’afa’gt ORI,
QUT OB TINTC LVPOIWTBITIT F20FBOTOF, WOTRmIY Tonw
ROTIRONY TOFIRF0 RONEE, ROBRO wWINROZS. Te3x 300238 Re.
BET YT %eo@ﬁ%ﬁmﬂ m@&z’o@d@od 03RC%ETVTERS INOCTTET
a’sﬁsm;ﬁd& QT ORI

a) TR0eed YuERINe @ﬁf@ﬁ%ﬁﬁg{ Qe&d.

b) PTITE maoees QRN rbsar{%fxi QDWOD. (3x15=45
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SXTH SEMESTER B.COM. (REVISED) DEGREE EXAMINATION, MAY 2015

COMPUTER APPLICATIONS IN BUSINESS
(Financial Accounting with Tally)

re: 3 Hours] [Max. Marks : 80

Instructions : Ans wer all Sections subject to internal choice.
Question number12 is compulsory.

SECTION-A

Answer any ten questions from the following.

a)
D)
o)

d

K)

)

Name any two buttons available in Tally ERP-9 vertical button box.
How do you activate and deactivate calculator in Tally ?

Write the procedure to shut the company in Tally.

Write the use of F, and Alt + F, short cut keys in Tally.

What is the use of contra voucher in Tally ?

Name any two Inventory vouchers in Tally.

) What do you mean by stock categories in Tally ?

What do you mean by exception reports in Tally ?
Write the use of cash flow statement in Tally.
What is voucher class ?

Expand VAT and TIN,

How do you create scenario in Tally ? (10x2=20)

[P.T.O.
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SECTION-B

Answer any three questions from the following.

2.

3.

List the advantages of Tally package ERP-9.

Write the procedure to create and alter ledger in Tally.
Wirite uses of memorandum voucher in Tally.

Explain the steps to display and alter stock items in Tally.

What is day book ? Explain the procedure to display in detailed view of
Day Book in Tally ERP-9 ?

Write the procedure to create Budgets for cost centre. (3x5 =15)

SECTION-C

Answer any three questions from the following including question number
12, which iscompulsory.

8.

0.

10.

11.

Explain the components of Tally ERP-9 window.

What is Group ? Explain predefined groups in Tally ERP-9.
Explain any five inventory vouchers in Tally.

Explain the following.

a) Purchase and Sales Register

b) Exception Reports

c) Ratio Analysis.
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\

-2 Case study question.

Mr. Ramu commenced business on 1-4-2013 Journalise the below
transactions in tabular form to identify groups, ledgers and vouchers.

1.4-13 Mr. Ramu commenced business with Rs. 10,00,000/-
2-4-13 Deposited into bank Rs. 5,00,000/-
3-4-13 Mr. Ramu withdraw Rs. 10,000 for office use.

4-4-13 Mr. Ramu withdraw Rs. 20,000 for personal use

5-4-13 Purchased plant and machinery for Rs. 3,00,000 paid by cheque.
6-4-13 Purchased goods Rs. 1,00,000 from Tejus Enterprises Ltd.
7-4-13 Sold goods Rs. 1,20,000 to Trisha Co.Ltd.

8-4-13 Purchase return to Tejus Enterprises Ltd. Rs. 25,000
9-4-13 Sales return from Trisha Co.Ltd Rs. 20,000
10-4-13 Loan given to Mr. Vinod Rs. 35,000
13. Write a short note on
a) Bank Reconciliation
b) Debt note and Credit note vouchers

c) Ratio Analysis. (3x15 = 45)
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SIXTH SEMESTER B.COM. DEGREE EXAMINATION, MAY 2015
SERVICES MARKETING

Fe3nY oo
Paper — IV (Elective Paper — Revised)

.

| T—= 3 Hours] [Max. Marks : 80

Instructions : 1) Attemptall Sections according to internal choice.
2) Question No. 13 case study, is compulsory.

TR0 1) o307 @asgffgf G FO0 DR aowm@@ VZOR0.
2) BATROTCDZTHE0D 85 QT 5B,

SECTION-A

QYN - &
<-zx2r any ten of the following : (10x2=20)
= =T lmn =2 @zﬂgﬁ@:)ﬁ SV ORD.

Define services marketing.

Y

TR BRUMLITY, TYTRR
= What is professional service ?
= 333 Fesd 0T3e0 ?

> Whatis service package ?

e e (zﬁem xdmzs’oda) QOTTERD ?
=15) “

(W]

What is strategic planning ?

223 d3o% 03RS 0T3S ?

[P.T.O.

s
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e) Write any two objectives of pricing.
238 68030 CINT) e TR @o%@éﬁ%& SEVOIOIAEY
f) Who is a Broker ?
©3R,080° 20T CIRTH 9

g) What is advertising ?
230800TREO OTTED 9

h) What is service quality dimension ?
AETICI TOE0L | HCINT QOTTERD ?

i) Mention any two service intermediaries.

QTN TE AT AesTo dac%aﬁérwadda’g NVSIDIALY

j) Whatis Service Design ?

OO &)mesz)’ QOB ?

k) What is cost based pricing ?
mgd 5003 2363 0mTesy ?

l) What is outsourcing ?
BRTMVER 0TITE 9

SECTION-B
QRN - W
Answer any three of the following questions. (3x5=1
33 PN 03T Te R @%ﬁ@ﬁ SUZOR0.
2. Explain features of services marketing.

0TI RO ﬁasae;gsamﬁﬁi QDTOO.
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5)

)

Juestion No. 13 is compulsory (case study). Answer any two of the
“amaining. (3%x15=45)

ZTOHTNRTI oD @ﬁq %m@oﬁamﬁdagd. PVDTYNYOT LITIT TR @’%ﬁ@ﬁ SUBORD.

-
=
-

(@]

(9]

. Explain strategies for influencing customer perception.

. Explain the reasons for growth in service with reference to Indian

Write on Goods v/s Services.
2380 080 AeTRTE DT FTYRAIR WICWT.
What are the drawbacks of Franchising ?

=, URCRARIORE T8, 5 IR DTORO.

=
S
23

BT NGB $ed @mdm@o&mﬁzﬁod éogﬁ'#sﬁi DO |
Explain importance of pricing.

2303 Qedo @dw@;ém@i DO,

 What are the advantages of using Agents and Brokers ?

TG TEFTIE0 T TERLTONDOT BRI IRIBROBNRPIRR) ? t
SECTION-C _ 4

PR - T

perspective.
Dl owe) Cg’)%%medfbod S OVeveIIRALOM I gleve Eadsaﬁ%ﬁdi QWORD.
Describe the process in new service development.

BB Feam S OB T3, 030030R0, DTOR.
] £

Explain the various functions undertaken by service intermediaries.

o3 aﬁot;;aﬁérﬁ%b QR ERIB DG aaomrﬁ%fag DTOD.
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11.

12.

13.

Explain the GAP model of Service Quality.
Res803> RoeasdwEs (GAP) md@mag QWO
Describe Service Life Cycle with a neat diagram.
R 23T TR KT WP TROOR DT0R.

Case study :

TFTED 7 OPT !

Assume you have newly started a Jungle Resort. What advertising
strategies you would like to adopt for its success ?

T JPBJN WO CALF FR) @do@%@p Selevioliovewwas) ojaﬁ%r’{raﬁ
030933 2308 eTHD 30@7\‘06‘5@3& OYSRRERH 0 ?
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SIXTH SEMESTER B.COM. DEGREE EXAMINATION, MAY 2015
INDUSTRIAL RELATIONS

(Group C and D) (Elective Paper -~ Revised) (Paper - 1V)
—< 3 Hours] , [Max. Marks : 80

Instructions :1) Answer all questions according to internal choice.
2) Question 13 is compuisory.

SECTION-A

“ Answer any ten of the following :

a) What is industrial relation ?

b) Who are the parties to industrial relations ?

¢) Whatis a trade union ?

d) Expand INTUC and AITUC.

e) What is meant by collective bargaining ?

f) What s distributive bargaining ?

g) What is meant by Lock-outs ?

h) What is Wild-Cat strike ?

i) Give the meaning of industrial dispute.

J) Mention any two forms of workers participation in management.
k) Mention any two limitations of workers participation in management.
) What is pluralistic approach to industrial relations. (10x2=20)

SECTION-B

“swerany Three of the following :
Bring out the characteristics of Indian labour.
Explain the importance of collective bargaining.
Briefly explain the causes of Industrial Disputes in India.
Whatis workers’ participation in management ? Briefly explain its importance.
Why do workers join a trade union ? Explain. ‘
‘Nhatis quality-circle ? What are its benefits ? (3x5=15)

[P.T.O.
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SECTION-C

Answer any three including question 13, which is compulsory.

8.

10.

11.

12.

13.

“Industrial relations benefits to all concerned with organisation by
promoting industrial peace and harmony”. In the light of this statement,

- explain the objectives and importance of industrial relations.

What are the different stages involved in the process of collective
bargaining ? Explain them.

Explain the machinery available for the settlement of industrial disputes,
under the Industrial Disputes Act—1947.

Write short notes on any three of the following :

a) Nature of industrial relations.

b) Recent trends in trade union movement in India.

¢) Conditions for effective collective bargaining.

d) Gandhian approach to industrial relations.

“Workers participation in management in India has not been a resounding
success” Give the reasons for the failure of WPM in India. What are
your suggestions to make it effective ?

Case study question (Compulsory):

Moon limited is manufacturing light vehicles and engages, nearly 5000
workers.

The conflicts between management and labour on the matters of wage-hike
and on some conditions of employment have been unresolved for the
last 3 months.

The impasse is mainly due to the union rivalries and indifferent
attitudes of the union leaders in protecting the interests of the workers.
In the back drop of this situation,
1) Bring out the problems of trade unions in India.
2) What measures do you suggest to strengthen trade union movement
in India ? (3x15=4%
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RResTmen: 1) 0308 Cfoi)rfgf@w:;adaw ZIrmert a0,
2) IZ 13 i@aﬁmﬁﬁ

@mﬁ— e

. 3emn agg emga%b :

a) 3reom R020T3 0T3eR?

b) §rmom ROLOTTE). LRNETITT 033980 7

c) T B AOTFUT Q0T ?

d) INTUC =53 AITUC YRR DFOR0.

€) RTRLT WHA QOTIBEIO?

f) Zousdesemn DOTBER?

9) @ TR0, TIBTYTD DOTITERD ?

h) ‘Fo - " (3o~ 238)) RBORT 20T3TED ?
1) $wos DERT BTT LHF BT, B0,

j) sFEresd; BORMTE ERTMESoRRB05 03RRI TIRTTR O FFTR 0.
)

)

-

k) 25FEroDd SORMmTE ERMEsiRE0D CIRPYTRTTAR DT Q0N BP0
l) §modm RoWOTT w&):a;d 3260/ 0TTE0? (10x2=20)

QTN - W

Do msg emg%az

S TR PAR OV B AV

(o))

2 HTEC0 FOROFIT rbsa@i saﬁ%‘?&l DA

TR WIFIA0W TBZ, T, DTOR.

3 0B DOTNY TN, ROEZeToN SO

£ S0 FURMT GRMEtRE 0TBeRd 7 T30 FIBEI; RobemoN QS0R0.
52 20F 8 ROPLITT FORMTTO 0358 ReCITIT 9 DTOR.

roes 30w FB orded ? wTo B odpewsndd cIRgR) ? (3x5=15)
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z3 1 Bdﬁ,@yrﬁmocﬁo:% 23T TR, SUZORD.

8. “Ropudn RoworEY H¢TY TMdE Z0od w38 mﬁoo’:{sd@( é@ﬁoaﬁ
goimeuﬁaﬁag 30T BOLOTNE YVotd BREBE.” B3 TEPFOD %ogeﬁom@m
3 0% ROWOGTIY LVTSEBNYR) 3080 0T, r{%?z:b DROXD.

9. Nuaﬁm%ﬁs’ FTACH w%cﬁaoja@ bdt’mﬁdaﬁ DNNT TOBNYY ORI ?

a@mfsﬁo QDWOD.

10. %m@%@ QTTNS aoj% —1947, 253 @@oﬁa@mgm@a @mcﬁﬁ%ﬁdaﬁ WRABORR

gielevey TFT|RHOLT DFOR.
1. 383INT ez SoRTE U we,-is“éﬁeﬁg’% 2030000.
a) §mos ROWCENY VBN,
b) RTBTEA T80T ROFRTOR WRTLONDS VLT WA,
C) TOTVTITO AR TN LB T LOBNEL.
d) 7% Foregny L BT MR ELIoNT TN.
12, 2T BBODE FORMOTD Gonesiomdng, tRUBEE o082 8RN
QB BEBODNY FURTWTTO LRNMESERRONFCD TR Eadeaﬁ%?aiz{ QRO
TR TOFERITOTRN SR Ry FUBND oIRRR) ?
13. TF0Ls L5y CF (Fmob)
TR ORI T mxﬁﬁ%ﬁ@t 3017@@:’0_%5% , AITIIT TOAIET @&Jréd;bd
F2R00T.

B3RO TURT ToTie FUY VTR, e FOWOE QRO Wi ST S0 083
TIEF BT T PVCERTI PRE TN TS ST SoNeny 0T TOTRTTNG,

TOOF T ROPRSNY TERFF T083 590FFT LB FTRITY, ROPRING
TO3TTOTES QTRENE B3 WL S L30BMTDNE,
33 ferﬁJ 56303&@
1) mdéd@ B230F B ROPUING ADF NP Bewo.
2) FIROFE FOTPEIZNG w%foaﬁ@ojaag POTBTE WORRYILL Dy CIRET

ﬁ@éﬁ@ﬁi QTN 7 (3x15=45)
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SIXTH SEMESTER B.COM. DEGREE EXAMINATION, MAY 2015
PRINCIPLES OF FOREIGN EXCHANGE - Ill (Revised)

~=e: 3 Hours] [Max. Marks: 80

Instructions :1) Answerall the questions subject to internal choice.
2) Question No. 13 (Case Study) is compulsory.

SECTION-A

*. Answerany ten:
A) What is Foreign Exchange Market ?
B) Whatis Spread ?
C) What is Fixed Rate of Exchange ?
D) What is ‘Law of One Price’ ?
)

E) Give two points of distinction between depreciation and devaluation
of currency.

F) Give the meaning of Direct Quotation.
G) What is currency arbitrage ?
H) What is exposure ?
l) Give the meaning of Hedging ?
J) Expand FEMA, and OTC.
K) Calculate spread percentage.
1 Dollar = Rs. 60.50 - Rs. 60.60.
L) Ascertain forward premium.
Spot rate 1 pound = Rs. 95.30.
60 days forward rate Rs. 95.80. (10x2=20)

P.T.O.
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SECTION-B

Answer any three of the following questions.

. Distinguish between forward trading and futures trading.

Give the merits of fluctuating rate system of exchange rate.

Find cross rate of Pound to Dollar and Dollar to Pound.
1 Pound = Rs. 90 1 Dollar = Rs. 60.

Explain in brief cross-credit swap.
Explain organisation of FEDAI.

Spot rate of Dollar is Rs. 60. Inflation rate in India is 8%, and in America
it is 4%. Find out forward rate, after adjusting for inflation rates in two
countries. (5%3=15)

SECTION-C

Answer any three, Question No. 13 (Case Study) iscompulsory :

8.
9.
10.

11.

Explain functions of foreign exchange market.
What is Exchange Rate ? Explain factors determining Exchange Rate.

Ascertain forward rates for following quotations :

Currency Spot Rate Forward points/PIPS
30Days 60Days 90Days

*Dollarto Rupees  Rs. 62.50/70 20/40 20/10 50/30

* Pound to Dollar $ 1.60/70 20/30 50/40 10/20

*Poundto Euro Euro 1.10/20 40/60 20/30 30/20

Critically evaluate principles of Purchase Power Parity Theory of exchange
rate determination.



ROV ST 000 00 O 00 O A 3  8418-F09-VISC-R-M-15
“2. Translate the following Balance Sheet under Historical rate and current
and non-current rate method :
Historical Rate : 1 Pound = Rs. 90
Current Rate : 1 Pound = Rs. 100
Balance Sheet (in Pounds)

Liabilities Amount Assets Amount
Equity 9,000 Fixed Assets 45,000
b Long term loan 90,000 Stock 18,000
Current Liabilities 18,000 Bills receivables 36,000
Bank 18,000
1,17,000 1,17,000
5) =. Case Study (Compulsory):

You are importing goods worth Dollar 100.000 from America. Money
payable in Dollars after 90 days. Todays exchange rate is Rs. 60 per
Dollar. You expect Dollar to appreciate to Rs. 63 per Dollar.

You enter into a call option deal with the your Banker on following terms :
Premium Rs. 1/ Dollar

Strike price Rs. 61/ Dollar

If the market price after 90 days is

a) Rs. 59 '

b) Rs. 64

c) Rs. 61

Explain your decision to be

1) Inthe money — Buy the Dollar from Banker

2) Out of money — Buy the Dollar from market

3) Atthe money — Cost will be same from bank or market. (15x3=45)
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35R us

BRIIMe0: 1) es0507 eyt miw’ég, DD 3:;-’;’77’?77' 204
2) 3713 (¢ ¥3) saga.
YN - D
1. 63w 10 FZnert evgoso:
A) QTed IS0 TRTBE | 0T3Be 9
B) @chood(Spread) wokdesd 9
C) T Q003 T3 wo3desd> 9
D) &% o3¢ o3y’ (Law of one price) 2owded 2

E) 8301 @aﬁdfae%(devaluation) =08y Xe38P (depreciation) 0@
de@%ﬂr{@@i VR0,

F) e—gsﬁw @S (Direct Quotation) s esae 3920,

G) 3300 aﬁozésag (Arbitrage) 2omdez 9

H) 2802038 (exposure) 2omdems 2

) Pedestes (Hedging) ejc;ﬁrqu QeRO.

J) 2308 FEMA 358 OTC.

K) 23c08o080m (spread) Be33 dddﬁg{ FOROZE0D ;
1 @oT* = 8r. 60.50 - 3. 60.60.

L) 0000 &yeoosse ddd&z( FOTIGEBOND ;
ARG 23S 1 TRoze® = O, 95.30.

60 O T033% 23¢3 2. 95.80. (10x2=3




| [ Y 00 0 0O O 0 6 5  8418-F09-VISC-R-M-15

TN - W

BT A géﬁ@ﬁ emgaﬁbo:

2.

Soonzs seued (forward trading) =33 1305 83 (future) 903 :éaaéﬁﬁe}sg(
39A.

weRnoss (Fluctuating) HJ&0D B8 05D BSBRONTRY SPA0.

TROT T0B) TOT® TN TVT* [3B) Toow*® RGT & o (Cross Rate)
FOTBIEROND :

13°00=38r.90 1 moo* = de. 60.
WONE DJTooDT (cross-credit) wri FodToN DF|OO.
338, (FEDAI) 8 2053330301, $920.

TR B33 BEITIITE TR, TWONER TBOUT™ 00D LIS
FOOROWD :
A5E B3 1 oD = de. 60
TLIRWBTE BT, YPTZRY, (BRTOW) 8%
28e0TnE) (@D ) 4% (5%3=15)

TN - 8

ezt SowdE, GuB0R0. BY Hoss, 13 TTOD.

8. DT DITIOD mwﬁé:iob faojas'mﬁd% QDROVD.

9. 2B BB PoTTeR> 7 DI BBy, DFF ORI ©08RERY DTOR.
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10. 39N ISnen S0 ddd&l BoBIEEBOND ;

33D, SR 13 S TAEALS
30 oxsns> 60 Q=N 90 /AL
* T3OTT00T
CRTOWN Rs. 62.50/70 20/40 20/10 50/30
* Toow Dow e $1.60/70 20/30 50/40 10/20

* TR0 0dBe odwde 1.10/20 40/60 20/30 30/20

11. BrR)S Wdod IRRIZo3Y (purchae power parity) QAW ToW
%;a%oéﬁvag BOUTDZFON 2337 0.

<y 12, 3918 DeRT o BB a) 08ToE WY b) weQ (current) Y ATY

™~ (non-current) wcéér{e}e; CRT0300.
Y 03TRFTG: 1 FoE = 3. 90
ARGB TS : 1 @90 = 3R.100
| emsned(FomEd)
BATVBMOIND : SR @AM B3
REAS 9,000 P\é)d @&ﬁ%‘b 45,000
QeTOF RO FONLD 90,000 =T TR 18,000
W8 BeTNo0s 18,000 20 bﬁoducz 36,000
239,05 18,000
1,17,000 1,17,000
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3. #7 3p (Smod)
@

20005003 o) @wT® 100.000 5#_.2&3&3{ eSTOTID m@a@aﬁ%gdam =t
033, 90 DINY [0IT 038 BRBLIETN, BWoOVT S Qo0 S de. 60 B
ZOTR. A SRR TFT @ooTR B3 T, 63 § DTN RoYIRT.

= sadsaa%ﬁ Qe VY 1T 0BT SRS BV By waT (call option)
TN ROBING STIOE 30eeS GNLR0SeD .

2,2000050° & - OR. 1 Té @wo®

RO (strike) 3 de. 61 T3 wowo*

90 BHINY F0BT VTR FITIBLIERD L3030 FPNT0STT ;
a) dn. 59

b) dr. 64

c) Sn. .61

RO F BT 13, 05TIR0DN

1) Doed 3BoHWIOT(In the money)

2) DD IEoDHOTWIOTH (Out of money)

3) DD IBCHLRIR & B (At the money) 20T HFORO.
. (15x3=45)




| .

8419-F10-VISC-R-M-15
0 O O 0

SIXTH SEMESTER B.COM. DEGREE EXAMINATION, MAY 2015
MANAGEMENT ACCOUNTING — IV (Revised)

—me : 3 Hours] [Max. Marks : 80

Instructions : Attempt the questions according to internal choice.
Non-programmable calculator may be used.

SECTION-A

‘. Answerany ten of the following intwo sentences each : (2x10=20)

a) Define Management Accounting.
b) Mention any two tools of Financial Analysis.
c) What is key factor ?

d) Whatis B.E.P. ?

)

)

)

)
e) What is funds flow statement ?
f) Givetwo exampl'es of non-operating expenses.
g) What is Notional Cash flow ?
h) State two objectives of cash flow statement.

)

i) Find stock velocity : Average stock Rs. 32,000, Cost of goods sold
Rs. 1,60,000.

j) What the solvency ratio measures ?

k) What is the effect of increase in working capital on funds flow
statement ?

l) Give formula to calculate Gross Profit Ratio.

[P.T.O.

PO e
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SECTION-B

Answer any three of the following : (3x5=15)
2. Explain briefly the nature of management accountng.

3. From the following information calculate :
a) B.E.P. in sales value.
b) P/V ratio if sales price is reduce by 20%
Sales — 20,000 units @ ¥ 50 per unit.
P/V ratio — 40%
Fixed cost— ¥ 1,20,000.

4. Following is the Income Statement of Sony Ltd.
Statement of Profit and Loss Account

Particulars Note Amount Total
L4 4
Continuing operations :
1) Sales Reve'nue 1 3.00.000
2) OtherIncome 2 16.000
Total 3,16,000
3) Expenses
Cost of goods sold - 2.00.000
Employees benefit cost ~ 20.000
Finance cost - 8.000
Depreciation — 14.000
Other expenses 3 66.000
Total 3,08,000
Profit 8,000
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Notes to Profit and Loss Account

Note 1: Revenue from operations sales
Note 2 : Other Income  Profit on sale of plant
Dividends

Note 3 : Other Expenses Reserve for bad debts
Rent
Taxation reserves
Loss on sale of asset
Discount on issue of debentures

You are required to ascertain fund from operation.

3,00,000
4,000
12,000
16,000
10,000
24,000
20,000
8,000
4,000
66,000

Following is the summary of cash account of Santosh Ltd., for the year

ending 31-03-2014

Cash Account
For the year ending 31-03-2014
Receipts ¥ Payments
Balance b/d 31,250 Payment to creditors

Sale of fixed assets
Receipts from customers 17,50,000 Overhead expenses
Issue of equity shares 1,87,500 Wages and salaries

Tax paid

Dividends

Bank Loan paid

Balance c/d
20,31,250

14
12,50,000

62,500 Purchase of fixed assets 1,25,000

1,25,000
62,500
1,56,250
31,250
1,87,500
93,750
20,31,250

Prepare cash flow statement in accordance with AS-3 using Direct

method.
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6. From the following information, calculate :
a) Current assets,
b) Current liabilities,

c) Stock turnover ratio.

Working capital ¥ 75,000
Current ratio 2.5:1

Net sales T 4,80,000
Opehing stock T 24,500
Closing stock ¥ 35,000
Gross profit ratio 25% on sales.

7. From the following details calculate :

a) Debtors turn over ratio,

b) Average collection period in weeks.

Total sales ¥ 3,84,000

Cash sales T 2,40,000

Opening balancé of debtors ¥ 12,000

Closing balance of debtors ¥ 16,800
Opening balance of bills receivable ¥ 9,600
Closing balance of bills receivables ¥ 14,400.

SECTION-C

Answer any three of the following including question 13 which is
compulsory. (3x15=4

8. State the distinctions between fund flow statement and income statement
(Profit and Loss statement).
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= The following are the budgeted data relating to X Ltd., and Y Lid,,
producing identical products :

X Ltd. Y Ltd.
L4 (4 £4 4
Sales 6,00,000 6,00,000
Less: Fixed cost 60,000 1,40,000
Variable cost  4,80,000  5,40,000 4,00,000 5,40,000
Budgeted profit 60,000 60,000

a) Calculate B.E.P., P/V ratio and margin of safety of each company.
b) State which company will earn more profit if :

i) Salesincreasedto ¥ 7,20,000

i) Sales decreasedto ¥ 3,60,000.

Z From the following statement of Assets and Liabilities of Shankar Co.
Ltd., Bangalore, prepare fund flow statement :

Statement of Assets and Liabilities
Particulars Note 2013 2014
Amount Total Amount Total
) (4 (4 £4 (4
l) Equity and Liabilities
1) Share holders funds
a) Share capital

—

2,00,000 2,40,000
b) Reserveandsurplus 2 60,000 2,60,000 62,000 3,02,000
2) Non-current liabilities

Longterm borrowings 3 40,000 20,000
3) Current liabilities
i) Trade payable 4 18,400 12,400
ii) Shortterm provision 5 32,000 50,400 36,000 48,400
Total 3,50,400 3,70,400
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II) Assets :
1) Non-current assets
a) Fixed assets

i) Tangible assets 6
ii) Intangible assets 7

b) Non-current

investments 8

2) Current assets

i) Trade receivables

i) Inventories 9
10

iif) Cash and cash

Note 1:

Note 2 :

Note 3 :

Note 4 :

equivalents 11
Total

Notes to Accounts

Share capital

Reserve and Surplus
General Reserve
Profit and Loss

Long term Borrowings
Debentures

Trade payable
Sundry creditors
Bills payable

0000 O

1,54,000

24,000

60,000

1,44,000
24,000

238,000 62,000 2,30,000

60,000
39,200

13,200

46,800
63,200

112,400 30,400 1,40,400

3,50,400 3,70,400
2013 2014
4 4

2,00,000 2,40,000
2,00,000 2,40,000

28,000 36,000
32,000 26,000
60,000 62,000

40,000 20,000
40,000 20,000

16,000 10,800
2,400 1,600
18,400 12,400
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Note 5: Shortterm provisions
Provision for tax 32,000 36,000
32,000 36,000
Note 6 : Tangible assets
Buildings 80,000 72,000
Plant 74,000 72,000
1,54,000 1,44,000
Note 7 : Intangible assets
Goodwill 24,000 24,000
24,000 24,000
Note 8 : Non-current investments
Investments (Long term) 60,000 62,000
60,000 62,000

Note 9: Inventories
Stock 60,000 46,800
60,000 46,800
Note 10 : Trade Receivables

Debtors 36,000 38,000
Less:R.D.D. 800 1,200

35,200 36,800
Bills Receivables 4,000 26,400

39,200 63,200
Note 11 : Cash and cash equivalents
Cash at Bank 13,200 30,400
13,200 30,400
Additional information:
a) Depreciation on plantat 8,000 and Building ¥ 8,000.
b) Tax paid during 2014 was X 38,000.
¢) Interim dividend of ¥ 16,000 was paid during 2014.
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31stMarch 2013 and 2014 :

Particulars

I) Equity and Liabilities
1) Share holders funds

a) Share capital

b) Reserve and surplus

2) Non-current liabilities
Long term borrowings

3) Current liabilities
Trade payable
Short term provision

Total
il) Assets:

1) Non-current asset
Fixed assets
Tangible assets

2) Current assets

i) Inventories

ii) Trade receivables

iii) Cash and cash
equivalents

Total

Note

~

©

-8

i F
0 0 00 A OO 0 0

11. Following is the statement of Assets and liabilities of RIBCO Ltd., as on

2013
Amount Total

4 k4

6,40,000
2,48,000 8,88,000

2014
Amount Total

k4 k4

7,20,000
3,20,000 10,40,000

1,40,000

86,000
34,000 1,20,000

1,28,000

1,00,000
40,000 1,40,000

11,48,000

7,36,000

1,68,000
1,60,000

84,000 4,12,000

13,08,000

8,48,000

1,96,000
2,00,000

64,000 4,60,000

11,48,000

13,08,000




ll

al

0

Note

Note 1:

Note 2 :

Note 3 :

Note 4 .

Note 5 :

Note 6 :

A 0 O O

Notes to Accounts

Particulars

Share capital
Eduity capital
10% preference capital

Reserve and Surplus
Securities premium
Profit and Loss A/c

Long term Borrowings
6% Debentures

Trade payable
Creditors
Bills payable

Short term provisions
Provision for tax
Dividend payable

Tangible assets
Machinery
Building

Land

2013
3

4,40,000
2,00,000
6,40,000

40,000
2,08,000
2,48,000

1,40,000
1,40,000

76,000
10,000
86,000

20,000
14,000
34,000

4,00,000
3,00,000

36,000
7,36,000

9 8419 -F10-VISC-R-M-15

2014
4

5,00,000
2,20,000
7,20,000

52,000
2,68,000
3,20,000

1,28,000
1,28,000

92,000
8,000
1,00,000

24,000
16,000
40,000

4,60,000
3,52,000

36,000
8,48,000
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Note 7 : Inventories
Stock : 1,68,000 1,96,000
1,68,000 1,96,000

Note 8 : Trade Receivables

Debtors 76,000 76,000

Bills Receivable 84000 124,000
1,60,000 2,00,000

Note 9 : Cash and cash equivalents 84,000 64,000

84,000 64,000

You are required to prepare cash flow statement by indirect method as
per AS-3.

12. From the following information prepare balance sheet in revised form:

Gross profit ratio 20%

Debtors velocity 6 times

Share capital - ¥ 5,00,000

Reserve and éurplus 50% of share capital
Current ratio 2.5:1

Fixed assets turnover - 2times

Working capital ‘ ? 3,00,000

Quick ratio , 15:1

Stock turnover rate 6 timeé |

There were considerable long term loar.
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*3. Case study (Compulsory question) :

A Radio Manufacturing Co., finds that the existing cost of a component,
M-200 is ¥ 6.25. The same component is available in the market at
T 5.75 each, with an assurance of continued supply.

The breakup of the existing cost of the component is :

4
Material 2.75
Labour 1.75
Other variables 0.50

Depreciation and other fixed cost 1.25
6.25

a) Should the Co. make or buy ? When the firm cannot utilize the capacity
elsewhere, profitably, and when capacity can be utilized profitably.

b) What would be your decision, if the supplier has offered the component
at T 4.50each?

3R 6

RRLITT | Fo30F @aivg aﬂaa’gg’ﬁ@?ﬁ vg;’@;‘oa T~ TR
Ben, CIeE30° VTR CNT LTI,

QLTIN —~ &
1. desow e, SVUZORD : ’ (2x10=20)

a) VRO 6@5@@5&1 AT,

b) ®ragoRd DBEREFFOI CIRTE DT WFINIR) 2920
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C) E30D BT OTITED ?
d) B0 OO DT3RO ?
e) AP WORT, DOTTER 7
f) FRBTTLE 38 TR YUEHTTE ERR0.
9) FTORT SN BOTTL, DOTTERD ?
h) SN BompTescd TRO wzﬁ@ezﬁrﬁ%& ED0.

i) TR BRSNS ForGAOWD | KOIRO tARSd 8e. 32,000, SRSV
Rogorty 53, d. 1,60,000.

j) AL 3e0RWY, BRTIT DI, WFOIZH ?

k) c0R0I0E womme BWREen AR W Weied Boed O30 TOBOT
WeCoZES ?

1) 559,00 ©p23 WRTT FOrRBBOTNE A, DeRO.
TR — W

3 ST, LT FARTE, CUZORD: (3x5=15)

=

2. ATFTTHD 6@5@:3 o @mm@t #oﬁmh QTOD.

3. B3 8INT &N&ICLOT ST T80
8) RTTL WO TRTE TRYTY..
b) oo WIS Be. 20 TR, GPATON U3/ BRTHE W[
30083~ 20,000 0320263 T 50 & xR
oY ST 0TS Je. 40
Résd ﬁ?:a;- T 1,20,000.
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2 ZreQ O, S STOD égg_s;’qﬁozsgl 33 3SR VeweRNT

T3~V 8098 T,

2TTR WBed 303 RS
L4 4
S00RFIR [FTTNR !
1) TRTLIT ST 1 3,00,000
2) 93T S50 2 16,000
Wi, 3,16,000
3) D ned
BRI AT 23, - 2,00,000
SOTCC AP T e, - 20,000
BETORT B2, ~ 8,000
PN £ - 14,000
) 93BT 3FNED 3 66,000
28, 3,08,000
oy 8,000
Y- TR 530D WTFIND
4
wdwsé 1: :gsdmdaod 20T3 $3TTD03D WIRTO 3,00,000
D32 B33 30D m@dd SNTOLRCTI WOT &Y 4,000
OniADler 12,000
16,000
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T3 1 9IT DDFND TR ADOT QA 10,000
AR 24,000

I ARAR DY 20,000

S BRI K, 8,000

AROTZ N ToeddoDd Zeed 4,000

66,000

2003 méoéojodi eTO3ReNY as?sdmd Slakvs) 3035200.

5. RodReR o303 31-03-2014 3 BRAIRROBEOZ SN 83980 mmoﬁd&l

VETERNT.
[N 83593
31-03-2014 33@?0353&

e WORT) T ToIRUE E4
8000 WoTs b 31,250 =monon maﬁéﬁod% 12,50,000
33 53 BROOES 62,500 AT ey 0D 1,25,000
@éébod dcédcﬁ% 17,50,000 aﬁaee%zi 1,25,000
mdsa?gs 3600 oUW 1,87,500 30O Tone BowS 62,500
3on o3 1,56,250
CRYROD 31,250
LI0F° WO TS 1,87,500
B0OTIRBBCI0D O] 93,750
20,31,250 20,31,250

AS-3 8 & 5T 3¢ wcgs%o:oag VTO3RENY INTD WOID 33&553:535.2( 30RO,
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6. 3¢ TOBT BIPLS0IRY, BHEOR &g T80
a) Q) SN
b) 229 %O (é@%rﬁ@éﬁ%)

C) TORRRD TOYTOER 9TOTTOZ.

T30S WORP ¥ 75,000

2308 30T 25:1

N9 R0k T 4,80,000

008 MR DLy % 24,500

TR BRTOL 8y T 35,000

ﬁ%o 23T LR0TI Se. 25 IR0 0.

7. B33$NS QBTFBONT &7, T80
a) TOOMRTT BOLITOED waiv%@é E
b) Room0 SRES LEE TTNTE) .
2.3 =09 X 3,84,000
SR &8 T 2,40,000
FOMWTT &580g3 &), X 12,000
FOMRTT @0z 80, T 16,800
w023 Boo@ne 8oz &0y X 9,600
wd@§ TOORNY €908 &3, ¥ 14,400.
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TN -3
36T SoRT géﬁe‘?@i SUBORD ( ajéq 13 gm0 @’agomms ): (3%x15=45)

8. DY WOTOTe3 3308 &30 D3, (R3-IF, T8, ) BR)NG IS [T
SEARIR S0R0.

9. wode3oms TRJI), YuBHRE X 80.9,, DY 80.9., AN 080BNTY

B3 FENT03 BN :
QeI X go. O, Y 30. O.
4 4 4 4
SR 6,00,000 6,00,000
A0 3, 60,000 1,40,000
WBORNS 33, 4,80,000 540,000  4,00,000 5,40,000
SEth) 60,000 60,000

a) 33 VBER FoBINSR
1) RASTZY W
2) 3 B0 T[TRED TN
3) Tme @0 Fwes FomIRBONO.
b) 33 decaw%oé 20T 368 TRoVEIY
i) ¥ 7,20,000 § 23038 )
ii) ¥ 3,60,000 LR eJoV R bV leven ézﬁ% cmﬂddi NIRRT 9 390
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2585 3050 ROHR0T Lioreath BT 5y WK TRBOS DI B 8INS03

-

B tontatek
B2 2 BRFV0E Y,
273N e 2013 2014
SR2 e eV W3,
4 T T L$
) "R &) BeEmds
1) 3eCom003 DN
a) JeTo WoreP 1 2,00,000 2,40,000
b) Q0eRe0 G Tone
VBN 2 60,000 2,60,000 62,000 3,02,000
2) YWV BREBMOT
QEETOF B FOONED 3 40,000 20,000
3) Q) TRBDY
i) W00 TOWSNL 4 18,400 12,400
i) @@Dﬁ@ ezeonsd 5 32,000 50,400 36,000 48,400
WD, 3,50,400 3,70,400
1) =g
1) 3900YE BN
a) AT BN
i.) nReds Qﬁ?_}gﬁ@cﬁo 6 1,54,000 1,44,000
i) eneestEAndd 7 24,000 24,000
b) wdoun
TREINGD 8 60,000 2,38,000 62,000 2,30,000
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2) W SN

i) SR 9 60,000 46,800
i) oo gend> 10 39,200 63,200
i) e 0%y I
RRRIn 11 13200 1,12,400 30,400 1,40,400
Wt 3,50,400 3,70,400
so3rent uiEpsned
2013 2014
§ §
W1 1 BeTh worey 2,00,000  2,40,000

2,00,000 2,40,000
WDEE2: QOETLI Y ToNR VLTI
WRNT, Y 28,000 36,000
3 0By I, 4303 32,000 26,000
60,000 62,000
WD DEFTFOFRY ADISTatee)
m@‘w’gﬁ% 40,000 20,000
40,000 20,000
WS4 1 300 FWOTEMTL
TOONDD 16,000 10,800
&@CS3§ TR 2,400 1,600
18,400 12,400
WRE5 1 wRRY QICTOONED
3O1 QeI 32,000 36,000
32,000 36,000
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53%9'56 © ReET wgr{@cﬁo
Uz 80,000 72,000
WO 74000 72,000
| 1,54,000 1,44,000

837 eneedd BN
SONDING) 24,000 24,000
24,000 24,000
Xcsholc 2RQOWNYT TBRBEND
DETIF RO BRBFNLD 60,000 62,000
60,000 62,000
©3e39 1 ARSI
08> ORI 60,000 46,800
60,000 46,800
8308810 : 53,500 2, B3N

TOOTWTT 36,000 38,000

— ROBOIPRE FOONE QR -800 —1,200
35,200 36,800

wda"éé OB 4,000 26,400

39,200 63,200
LTS 11 3R =03y SR BT woBned
23,0838, IR 13200 30,400
13,200 30,400
B1430 Bnlod

a) ADBY m@ddd Roed T 8,000 302 363 et X 8,000.
b) 2014 dQ#omedé@ﬁ ¥ 38,000.

c) 2014 8¢ Rog30e0 @amozﬁaﬁa’% T 16,000 DB05HNT.
eS8 Doy 0BRIRY N0 ‘AR Wome T 0T 303004,
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11, 0w*dR DoDHaVs s 31 ®wesr 2013 Forie 2014 T =y 308) BRBMOE

BeE300, s BENT0Z DEWEDNGS.
ARTRH uﬁ“t'é 2013 2014
4 k4 £ £
) ATRT, =Y BRBIOBNLD
1) 3308 IQNED
a) 330 wor=Y 1 6,40,000 7,20,000
b) QoeRED VY T
SUPBNLO 2 2,48,000 8,88,000 3,20,000 10,40,000
2) WYL BRBMOENT
QTR AN 3 1,40,000 1,28,000
3) Q) eBMOBN
mdmb TOWENLD 4 86,000 1,00,000
eﬁ@gﬁ@ QOCROTIED 5 34,000 1,20,000 40,000 1,40,000
u&% 11,48,000 13,08,000
) eyned:
1) 23Q0YTS BN
zéd SN
nRe3s Qﬁ&ﬁ%ﬁ) 6 7,36,000 8,48,000
2) 3 SN
i) mm_omr\’e:o 7 1,68,000 1,96,000
i) waesma P&G%\%ﬁ%‘b 8 1,60,000 2,00,000

if) SR ==y I
TSI 20BN 9 84,000 4,12,000

64,000 4,60,000

2t 11,48,000

13,08,000
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Loadneon 3Tednsd
Bswt'é ML iof, (53 2013 2014
4 4
$Ted 1 1 Bedh woEmY
R)Dd.)'aag 4,40,000 5,00,000
10% @33 U 2,00,000 2,20,000
6,40,000 7,20,000
832632 : Qoeen O 0B GVPBDOHND
BeTd &,6Q00300 40,000 52,000
mw—do% 003 2,08,000 2,68,000
2,48,000 3,20,000
D33 : DeTF SO O
6% moe;‘u’gﬁ%b 1,40,000 1,28,000
1,40,000  1,28,000
Soeol WYTOD TSN
ONTH 76,000 92,000
BRBWHT Dok 10,000 8,000
86,000 1,00,000
T35 BT DTN
301 oeReD 20,000 24,000
TOBERLICTT Lo 14,000 16,000
34,000 40,000
D36 : Reeedd SN
0300B3,ex08Tcanehd 4,00,000 4,60,000
6&3}:3 3,00,000 3,52,000
Ao 36,000 36,000
7,36,000 8,48,000
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_qu§7 : m@zﬁ:ﬁ%ﬁa
08> TR 1,68,000 1,96,000
1,68,000 1 ,96,000
&3@3@3 8 : &0 Bgseée)éﬁe}o

TOTRTTD 76,000 76,000

wdééé BOORN 84,000 1,24,000
1,60,000 2,00,000

BRI ! SR 3033 IR RRPT0BRL SN 84,000 64,000

84,000 64,000
30003 woﬁﬁ@dg{ =302 AS-3 T JFT aidroei DEIBY, "IN TR W,
Jo35204. ‘

12, 33397 BRBRINTBLE Rk STOX d@a’%)é STR[0S), eEws WYE BO3R0A.

oksle Y TRIED 20%

TOMTT BSRFS 6 e,

3630 L0TETOP ¥ 5,00,000

SOCRLO VY OB LOPTIOD 50% (?3663 200T85F 23068 )
129 0T 2.5:1

%0 SRS SIS 2 Tk,

BB03205 2OBP ¥ 3,00,000

Bz, 3R 15: 1

ROBD eBBED 6 T,

aséaﬁmdcﬁe; ROBRY, DTV DY MONTS,
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3.

L300 G 030 - FTOD:

.20 BeR0dn 3037008 503w, M-200 Q02 V& zpaﬁd&l T 6.25 dzide;
FCINROROST. Tde WA ey BRTBLICN,, DTS g o omRedonn
¥ 5.75 ¥R BR3030ST. WE RN 035e0T aﬁza;@ T8 3PN

£4

=3 AOB 275
3

=38R0 1.75

<33 TN d?,i 0.50

TS 08 B8T zgpd d?'i 1.25

6.25

a) FoC30 3’5; VDI mdoz;:);rab’sgl o8 BN CPTICTION
SoTC3RENTL) WEOT TONR m;ﬁgébdaas RO NP, e 9T W@
.::rfjdi Boan0RUed e e 8R0EBRY Wedne SR

01 1200 368 FTDTIRITTITRY T3¢ WE a;an’wﬁ;% T 4.50 3 3SR Qemo
TRTS BRATY,, VY SeRRFRRE 7
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V| SEMESTER B.COM. DEGREE EXAMINATION, MAY/JUNE 2016
BUSINESS LAWS (Revised)

Time : 3 Hours] | [Max. Marks : 80
Instruction: Attemptall Sections according to internal choice.

SECTION-A
QWM -

1. Answerany ten of the following : " (10x2=20)
a) Define the term ‘Agreement’.
2TWOWREOD 33,23, BRRO.

b) Whatis undue influence ?
©RN3B TLIOR DOTTER ?

c) What is executory contract ?
S03eTLIETOT 2TOT DOTTERO ?

d) What do you mean by ‘performance of contract’ ?
2BOTNY BT:3e08 DOTITERD ?

e) Give the meaning of the term ‘Quantum Meruit’.
‘Zeln 5%_& T3P T WEF Q@O

f) Write the definition of the term ‘bailment’.
DEemEOD TR 59,83, WHAD.

g) Who is a substitute agent?
B FOODE LTV DTS O3RTO ?

h) What are shares under competition law ?
FRpeLs TR LB Be0MLOTTE0 ?

i) Define the term ‘unit’ as per the competition law.
TP TOSRIT BFT e 0TS0 ?
[P.T.O.
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j) Whatis ‘Appropriate Laboratory’ ?
‘AT Fo3Renzoe? wordem 9

k) What is complaint ?
TR 033D 2

I) What do you mean by deficiency under COPRA ?
MR8 03500 5aRRRS B5a3 ‘8003 omdess 9

SECTION-B
TN - 2D

Answerany three of the following: (3x5=15)

2. What is an ‘offer’ ? State its essentials.
gm_oaj QOTBER ? 933 @d@%é e)g\saﬁ%fdgl 3920,

3. Distinguish between contract of indemnity and contract of guarantee.
SR ToTT TOT 302 RAERTOE osielatyi-laev) a’%saﬁﬁefsi W30,

4. Give the examples of ‘Quasi Contracts’.
:Jm% WTOTT DG wwaads-@"mfdgt 8P0.

5. What are the objectives of Competition Law 2002 ?
e 503y, 20027 c%eo&raecz)eeﬁn’%b 0 ?

6. What are the objectives of ‘Consumer Protection Act’ ?
mIT dam T30 z;'ggeojrae%es}mfo ORR) ?

7. What are the duties of a finder of lost goods ?
IPOB R 736&’37{@5& BIBRITRS 539‘5357\% IR ?

SECTION-C
YN - &

Question No.13is compulsory. Answerany two of the remaining. (3x15=45)

8. What s contract ? Explain the essentials of a valid contract.
WTOTBoTITER ? e osiela ] @d@%é @oéﬁ%ﬁdg{ QWOR.

9. Who is a minor ? Explain the rules relating to agreement with minor.
TR aﬁo:b:%i 0TS O3RN 9 33 ROVODRITI 2 BB @oﬁaﬁnmﬁej@t QO
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10. Define bailment. What are the rights and duties of bailor and bailee ?
E’Oﬁgd% 339,85, QeR0. Ebiewé ONoCY) @%@&3& 35% =02 ﬁéraﬁéﬁﬁ@t 3PR0.

11.

Explain the various consumer disputes redressal agencies.
19,380 59,%, BVOTOOT aaqszgaar{@d EATA @’aadmﬁa’;gt QTORD.

12. What is contract of agency ? Describe various modes by which an
agency may be terminated.

TOO3F LIV WBOT P0TITe 7 VB, O3 PN, eﬁo%ﬁfa@:):-dw&ada ?
DTO0. '

13.

Case Study (compuisory) :
To,08ReNE B (Fre0L) :

a) A minor obtains a loan of Rs. 5,000 from a money lender for education.

b)

c)

She fails to repay the loan. Can the money lender file a suit against
the girl to recover the loan amount.?.

STRFH WOR, &Jdoﬁoimgjﬁo B 8o ARTBITITRLYO0T an. 5,000
AL BBOIVTY. STH0BT & m@dﬁg{ SOTHIDRER DY, B TOOLTN
ATOTITY W Foed BRTTHO BAR TOT BN, WARD
TRBIITIC ? '

‘X’ agreed to let his musical hall on rental basis to Y’ from a particular
date. But before the given date the music hall was burnt by fire. Gan
‘Y file a suit against ‘X’ for compensation ?

X D Y™IR 3ai onez Q’ﬁdﬁ& 2063:—'555 DFVCBOOT RN BRWI)TION
RS IEESICDIMISIAIAS OTOBR BRTSe FoNes RED) Liodh SBISOIRNIZE.
YR XS 23T, SR FOBITTYN 055 BRTLIIITE ?

Karan agrees with Arjun to convert sand into gold by magic. Is the
agreement valid as per law ? _

BOLORD LITIFBIN SO0 ww@ﬁdaod SOTIR, LWOTOTETN ROWSF RIS
2B TS, B4 sselaty) TISRRS O PRBEIIE ?
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SIXTH SEMESTER B.COM. DEGREE EXAMINATION,
MAY/JUNE 2016

INDUSTRIAL RELATIONS
(Group C and D) (Elective Paper — Revised) (Paper — V)

Time : 3 Hours] ‘ [Max. Marks : 80

1

Instructions : 1) Answer all questions according to internal choice.
2) Question 13 is compulsory. ‘

SECTION-A

Answer any ten of the following : - (10x2=20)
a) Define the term industrial relation.

b) Mention any two objectives of industrial relations.

c) What is Marxist approach of industrial relation ?

d) Mention two reasons for workers joining trade union.

e) Expand NCL and CITU.

f) Mention two features of collective bargaining.

g) What is conciliation ?

h) What is quality circle ?

i) Mention two benefits of workers participation in management

j) Give meaning of arbitration.

k) Give two features of Indian labour. =

l) Whatis Gherao ?

SECTION-B

Answer any three of the following : - (3x5=15)

N o oA N

What are the factors influencing industrial relations ?

Explain Gandhian approach to industrial relations.

Explain the objectives of trade union.

What are the principles of collective bargaining ?

What are the factors influencing workers participation in management ?

Explain the nature of industrial disputes.
, _ [P.T.O.
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| SECTION-C | |
'Answer any three including quéstion_ 13 which is compulsory : (3x15=45)

8. Bring out the nature of trade unions and explain importance of trade
unions. .

9. “Collective Bargaining leads to industrial peacé in‘the country”. In the

light of this statement explain the requisites of collective bargaining and
state its importances. ’ . , -

- 10. Explain how industrial disputes can be settled under the provisions of
- relevant act. ’ '
11. Write short notes on any three :
a) Scope of industrial relation
b) Problems of trade union
¢) Causes of industrial disputes
d) Objectives of collective bargaining. _
12. What are the benefits of quality circle ? Mention the problems of quality
circle. ‘
13. Case study question (compulsory) :

Kingfisher Company\has stopped its production since two months due
to marketing problems. Wages are outstanding since 3 months. Workers
are suffering from insecurity and their jobs in the company. On the
basis of requisition given by the workers union the central government
has appointed one enquiry committee to investigate the matter of
disturbed industrial relation. o

Inthe backdrop of this situation answer the following questions :

a) What are the participants of industrial relation in this case ?

b) What are the reasons for poor industrial relation in this case ?

¢) Suggest measures to strengthen industrial relation.
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RpesSmed: 1) eoa’@a’efaﬁﬁsf@wmo’caw JITENT SVFOA0.
| - 2) G513 a‘agwmﬁa’ o

5)

. QTN - ©
1. Be5 33 403080 S | (10x2=20)
a) 3mom Nouocﬁd ) 93 3R, 3
b) ‘5 0% ROWOGT mw)de QTR TEBNT) SPR.
c): 6 oD% ROWOLTE IR AT GReTH aocﬁdedo ?
d) m‘m?fda TOD0F B ROgHe3RT Fe0BRg L0 0 TN, SR,
e) NCL monin CITU a@nids D5oR.
f) RE&T 10B2HC30 TR @52@71%3& PR,
) ROTRR 0T ?
h) Roeaadeiss 38 worsdesd ? |
i) @drdsadb@ FORNOTT "‘aeira% DT TR TOPNTSY 892
) 33(5 NB"’ QOTTE0 ? _ 4
k) md@eo:b FIENFBT TR @52@#@3& SO
1) =081t wordesd ? :

. NP - W
s oeds, mm - - C (3x5=15)
2. § Mo RO Boee3 w@ﬁdo eleVoy eosﬁ%@aj) ?
3. %mb@ ROWOHT B0 mc@ezﬁojadd oot adm& A
4. oord RopLeD ugeEna D00
5. WP PRSI AD DD ?
6. B BRI FURMUT TERRDECHR) BRI 087 Cmey) ?
7. 305 QBT B TRTER S0RD.
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10.
1.

12.
13.

PR -3

313 dé@?ﬁmodo@’ BeHT msg QOO (3x15=45)

=z
8
0.

TN B ROPICD R dféﬁdﬁa SV TN FORFT ;n’oa”yéaﬁodo ds&a’ d& QROD,

“TORRGT 230FSCT) Lfanteln 9080303 zﬁeédcﬁa araoci:acma 30", 3 Bewdodd
50§C303J® ) AOT88 zs’%aéﬁ 3eson eo:a’ﬁ%#ab 55333 eatate) aﬁa&é dﬁa QIORD.

Enoos é)mddabd RRT T03)0D FT20 Bert WtBORLIBIT) OFOLO.

33 3INT e St wpo éswwséﬁ%fdgl WB000
a) Moo Ao L.

b) ®a0orERopeded #aior&;ﬁ%

C) 3rO% BOBE TTEaMEd

d) wmw 1B GVTSBrieh.

ORI 33 epgined canyw) ? zbsadmd d B RSR, NYs) 892

BFOo 553,038 (smm0m) -

30T &BC° oI a'bado&éoda RRORNPOTN T3 T éoﬁ%zﬁ@od 33
i) dﬁcxbm QORT. do.rado éomfoﬁed JeBJw) W0 LVPOT. iwao.‘o
€©~mdda 3:5% R zddéo:b 33032 eéoiwab wngfébmémd DA
ROFEIVOI0 QeBTIT &do@cﬁo Soedn deods N'c'ard@ WO Ne:’aaécmdo Je0¥
SRR 2 THPNTS ETw0T oo &G@ﬂ ITES ICERD STIBRT, é& 230D
aoaﬁe?ojaeb ) 39N *’5#@7? em-e’@foa

a) éa FICDG Frodsd FowRT LPNITE 033 ?

b) BTN Dowr ved 00T AOLIOLT ToTEANED CINTT) ?

C) §mos a’owozﬁda&g{ WOTRRED #@%K#Q Qed.
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SIXTH SEMESTER B.COM. DEGREE EXAMINATION,
MAY/JUNE 2016

SERVICES MARKETING =2c¢a3ns Spoed
Paper — IV (Elective Paper — Revised)

~ *e: 3 Hours] [Max. Marks : 80
Instructions : 1) Attemptall Sections, according tointernal
choice.
2) Question No. 13 (case study) iscompulsory.
RRLITT : 1) 0307 Clvepetpleflor) SDGTITER VOO,
2) BOSRTTD G GOk & QDT FEICD,

SECTION-A
QN - &

Answer any ten of the following questions : | (10x2=20)
= 2N 130508 BB WINR YugoR0:

*. a) Give the meaning of service.

RETIOI @Cp’s‘dsﬁi LT,

b) Whatis CRM ?
2,38 A0WOT :g:ﬁ:)'a@a’ﬁ QOTITEZI?

c) Whatis on-line shopping ?
- G TORONT DOTTERD?

d) Whatis Word of Mouth (WOM) publicity ?
LIDON BT T5T Q0BT ?

e) What is service pricing ?
FeINne ¢363 ANDETTED 030 ?

f)  Mention any two types of promotion of services.

AeE30 TWRBEHOD 236BTT TR @’@dﬁ%ﬁi 2080200,
[P.T.O.
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g) What is Direct Distribution of Services ?
RSN FeT DSTH D0TTeRD ?
h) Mention any two service intermediaries.
KT DTTHOD 3T TR ST TSF NI BHORD.
i) Whatis prestige pricing ?
B,8030 IS ANOEETEe 0T ?
j) What are the components of service triangle ?
Res30 §BRECITI SOBNTTY TTORO.
k) Whatis meant by Electronic Channel of Distribution ?
DTS VBTED TRNF 0T ?
l) Whatis service branding ?
ACETD T00%3, 0T3TeR ? -

SECTION-B
QIR - W
Answer any 3 of the following questions : (3x5=15)
T3 BSNT CINITIC T @’%ﬁ@ﬁ NZORO: ' .

2. Explain in brief features/characteristics of services.
pfenate! MOAOTS san’ﬁﬁsgt ROoBTEN SORO.

3. Explain briefly the importance of service quality.
Ream MOE9LS aﬁa%éﬁd@% ROBTEION ITORD.

4. Explain in brief reasons for growth of service marketing.
R0 RIPTOITT WLESROD TOTEIMTR BOFTmN [OR.

5. Explain the benefits of electronic channel.
DTWTYD 0BT WRNF T SROBHOT/ SoWNIR OO,
6. Explain the importance of New Service Development.
TRT DS Ae3ed @@%ngda wmegs TeP0.

7. Mention the important requisites for good brand.
PVUZTD ST @dé%éa‘ad doao’%d @oéﬁ%%gt [Nelovsle}
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SECTION-C
QN - 7

2 _estionNo. 13 is compulsory (case study). Answer any two of the
-zmaining. (3%x15=45)
zf;:.’o:adaﬁoda@%%w%odomﬂcﬁagd. DTIRNDOTS zﬁemdadzﬁa@’%ﬁ@ﬁ SUBORD.

-
-

Explain the importance of service marketing.
LI INTIWT m%%ﬁeﬁsg{ WO,

Explain the sequences of model of flower of service with a neat diagram.
%3300 YR BRTOOD woInY @sagmm@s& 2B T00n RTWORD.

Describe Service Life Cycle with a neat diagram.
20530 BRI zi@ﬁ@ R 3 TROON QWOR.

*1. Write the distinction between services and product.

Sesteb R R ST AN WD,

Explain the different methods of pricing of services.
2R3N ¢3S ANDETTEIT DG au’cg\%ﬁ%fdgc DWOR.

Case study (compulsory).

BITe0 WTIoDT (FTe0D).

You are planning to start a Five Star Hotel. What are the factors you
would like to emphasis on Customer Satisfaction ?

Q05 WOTD T ToTD mm@a’% 339,008 oﬁ.@ez:":;%@beé. f&d@ TORIOQATICS
179,380 ROZHTON 0353 03 o3ner 2o daaﬁéddsg{ Qet2oged ?
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SIXTH SEMESTER B.COM. (REVISED) DEGREE
EXAMINATION, MAY/JUNE 2016
INCOME TAX — LAW AND PRACTICE - lI

Time : 3 Hours] [Max. Marks : 80

Instructions : 1) Answerall questions with the strict observation
of inner choice ineach Section.
2) Use of simple calculator is allowed.
3) Question 13 case study analysis is compulsory.

SECTION-A
1. Answerany ten of the following :
a) What is a capital asset ?
b) What is cost of acquisition ?
c) What do you mean by inter head set-off ?

)

)
d) Whatis unabsorbed depreciation ?
e) State the provisions of Section 80-DD.
)

f) How do you treat salary paid to partner’'s son who is working as an
accountant in the firm ?

g) Who is a working partner ?
h) What is Permanent Account Number ?

i) Why net amount of winnings from lotteries is to be grossed up ?

)
i) What is maximum amount of remuneration permissible to the working
partner under Section 40(b) ?

k) What is self assessment ?
I) Expand CBDT and TCS. (10x2=20)

[P.T.O.




6423 ~F02—-VISC—R~M~16  -2- |0 0000 OGO ) 0 PO O A
SECTION-B

Answer any three of the following :

2. Mr. Mayur sells agricultural land in Mangalore (urban) for Rs. 72,88,257
on 15t August 2014, which was purchased by him in 1982-83 for
Rs. 6,80,000. On o0t August 2014, he purchases agricultural land of
Rs. 35,000 in Udupi. On 30" August 2015, he deposits Rs. 3,65,000 in
Capital Gains Deposit Account. Determine the amount of exemptedand .
taxable capital gains.

The cost inflation index for 1982-83 and 2014-15 were 109 and 1024.

3. From the following particulars furnished by Mr. Sandeep, compute his
gross total income for the Assessment Year 2015-16.

Income from salary Rs. 2,40,000
Loss from electronics business Rs. 1,20,000
Income from speculation business Rs. 20,000
Capital gains :

a) Short term capital gains Rs. 30,000
b) Long term capital loss Rs. 50,000

4. Mr. Ram Rao furnishes the following particulars of his income pertaining
to the previous year 2014-15:

i) Dividend from co-operative society Rs. 4,000

i) Family pension Rs. 60,000
iii) Interest received on Rs. 40,000 — 11% Debentures of Z Co. Ltd.
iv) Directors fees received Rs. 5,000

v) Interest on fixed deposit with SBI Rs. 3,000

He has paid collection charges of Rs. 400 to his banker. Compute his
income from other sources for the A.Y. 2015-16.




e s e e 51

UMW WR WS - 5 e423-Fo2-VvISC-R-M-16

5. Mr. Akash is a resident individual suffering from a severe disability.
During the previous year 2014-15, he purchased NSC (viii) issue of
Rs. 20,000. He took insurance policy on the health of his family and paid
Rs. 20,000 as premium by cheque. He borrowed Rs. 5,00,000 for higher
education of his daughter and paid int. on it Rs. 30,000. What is his total
income for the A.Y. 2015-16, if his gross total income is Rs. 6,00,000 ?

6. The Profit and Loss Account of a partnership firm for the previous year
ending on 31-3-2015 is given below :

To Interest on capital By Gross Profit b/d 3,10,000
@ 12% P.A. 12,000
To Expenses 68,000

To Remuneration to
working partners 1,65,000

To Depreciation 30,000
To Net profit 35,000
3,10,000 3,10,000

Note : Depreciation allowable as per Rules is Rs. 20,000.

Compute the total income of the firm for the A.Y. 2015-16 assuming that
the firm satisfies all the conditions of Section 184 and 40(b).

7. Explain in brief the Income Tax authorities which have been constituted
under the Income Tax Act 1961. ’ (3x5=15)

SECTION-C
Question 13 is compulsory. Answer any two of the remaining questions.

8. Mr. Nagesh sold the following assets during the previous year 2014-15.
Compute his capital gains.

a) He sold the listed debentures of a company on 1-10-2014 for
Rs. 6,02,500 which were purchased by him for Rs. 3,55,500 on
1-08-2010. He paid Rs. 2,000 as interest on loan taken for the purpose
of purchasing the above listed securities and paid brokerage of
Rs. 500.
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b) On 30-11-2014 he sold machinery of the written down value of
Rs. 1,562,500 for Rs. 1,83,900.

c¢) He sold jewellery of the cost of Rs. 25,000 purchased in June 2011.
He sold the same on 3-04-2014 for Rs. 87,000.

d) He had purchased a residential house in the year 1978 for Rs. 3,00,000
and spent Rs. 30,000 for improvement in the year 1979. The fair
market value as on 1-4-1981 was Rs. 4,00,000. He constructed
additional room at a cost of Rs. 2,40,000 in the financial year 2004-05.
He sold this house on 15-1-2015 for Rs. 70,18,000. He incurred selling
expenses of Rs. 10,000. He purchased another residential house on
1-10-2014 for Rs. 12,00,000.

The cost inflation index for 1981-82 is 100, 2004-05 is 480, 2010-11is 711
and 2014-15is 1024.

9. From the following particulars of Smt. Veena, compute her income from
other sources for the Assessment Year 2015-16 :

a) She has received Rs. 5,000 as director’s sitting fee from an Indian
company. |

b) She has received Rs. 3,000 as dividend from above noted company.
c) Interest on Bank deposits (Gross) Rs. 12,000.

d) Winnings from lotteries (net) Rs. 35,000.

e) Ground rent received Rs. 4,000

f) She hasletbuilding along with machinery and furiture at Rs. 12,000 p.m.
on 1-6-2014. She has spent Rs. 1,000 on the repairs of these assets.
Depreciation allowable amounted to Rs. 10,000.

g) She lives in a rented house paying monthly rent of Rs. 8,000. The
house is too big for her family. Hence she has sublet ¥z of the house
on arentof Rs. 6,000 p.m. She has paid municipal taxes of Rs. 8,000
and repairs charges of Rs. 6,000 on the whole house.

e e R ——— Tt it - ~ Pr—
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h) She held the following investments::
i) Rs. 40,000 — 10% Debentures of M and M Co. Ltd. (Non-listed)
ii) Rs. 30,000 —9% Tax free debentures of P and G Co. Ltd. (Listed)
iii) Rs. 50,000 - 18% Tax free debentures of XYZ Co. Ltd. (Non-listed)
iv) Rs. 20,000 — 11% Mangalore Port Trust Bonds.

She has paid collection charges at ¥2% on gross interest received
from the above mentioned investments.

10. Mr. Pratap furnishes the following particulars relating to his incomes
and losses for the previous year 2014-15:

Rs.
A) Computed income from house property :
i) Income from LOP — Property X 85,000
ii) Loss from LOP — Property Y - 65,000
iii) Loss from SOP — Property Z 55,000
B) Income from Business :
i) Profit from Textile Business 2,50,000
ii) Profit from Cotton Business 1,30,000
iii) Speculation profit 1,25,000
iv) Loss from Gold Speculation Business 75,000
C) Capital Gains::
i) Long term capital gains 80,000
ii) Short term capital loss 70,000
D) Income from other sources :
i) Interest on fixed deposit with SBI 5,000
ii) Winnings from lotteries (gross) 50,000
iii) Expenses incurred on purchase of lottery tickets 5,000
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The carried forward losses and allowances from the Assessment Year
2014-15 were as follows :

Rs.
Loss from Cotton Business 50,000
Speculation loss 60,000
. Longterm capital loss 20,000
Unabsorbed depreciation 15,000
Current year depreciation 20,000

Compute his gross total income for the Assessment Year 2015-16.

11. From the following information furnished by Mr. Basavaraj, whose gross
totalincome for the previous year 2014-15is Rs. 12 lakhs, compute his
total income for the Assessment Year 2015-16 :

i) Life insurance premium paid Rs. 30,000 on his life policy of
Rs. 2,00,000

ii) Repayment of housing loan of Rs. 30,000 which includes interest
of Rs. 10,000 (Loan is taken for construction of residential house).

i) Contribution to Unrecognised Provident Fund Rs. 15,000

iv) Contribution to Public Provident Fund Rs. 20,000

V) He has subscribed to NSC (viii issue) Rs. 25,000
)

vi) He has incurred expenditure of Rs. 50,000 for the maintenance of
his son who is suffering from severe disability

vii) He has paid Rs. 20,000 health insurance premium on the health of
his family and Rs. 20,000 on the health of his parents.

viii) He made following donations during the year :
a) The Indira Gandhi Memorial Trust Rs. 5,000
b) The National Children Fund Rs. 8,000
¢) The Prime Minister's National Relief Fund Rs. 10,000

d) The Municipality for the purpose of promoting family planning
Rs. 15,000

e) For repairs of notified temple Rs. 85,000
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12. Mr. Mahesh furnishes the following particulars for the previous year
ended 31-3-2015:

a) Heis employed in a private aided college. During the year his basic
salary was Rs. 30,000 p.m. He received Annual Grade Pay (AGP) of
Rs. 8,000 p.m. and Dearness Allowance at 15% of Basic Salary and
AGP. He also received HRA at 10% of Basic Salary and AGP. '

Following were the deductions from his salary :

i) Life Insurance Premium of Rs. 24,000 on a policy of Rs. 4,00,000
which was issued prior to 1-4-2012.

ii) Profession Tax Rs. 200 p.m.

b) Heisthe owner of a house property containing 2 identical units. One
unit is occupied by him for his own residence and the other unit is
letout on a monthly rent of Rs. 5,000. The municipal value of the
house is Rs. 1,00,000. During the year, he paid Rs. 10,000 as
municipal taxes on the whole house. Interest in loan taken for
construction of the house pertaining to the Previous Year amounted
to Rs. 28,000.

¢) His incomes from other sources were :
i) Winnings from lotteries Rs. 17,500 (Net)
ii) Interest on Term deposit with a bank Rs. 6,000 (Gross)
i) Interest on debentures of X Co. Ltd. Rs. 2,700 (Listed)
He has made following payments during the year :
1) Donations to National Defence Fund Rs. 5,000

2) College Tuition Fees for full time education of his son Rs. 30,000.

Compute his total income for the Assessment Year 2015-16.
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13. Case Study (compulsory) :

X,Y and Z are three partners of X and Co.,afirmengagedin manufacturing
of plastic goods. The Profit and Loss Account of the firm for the year
ending 315 March 2015 is as follows :

To Purchases 16,00,000 By Sales 22,16,000
To Salary to staff 2,15,000 By Interest on
To Incometax 20,000 debentures of XYZ
' ToExpenses 90,000 Co. Ltd. (Gross) 40,000
To Remuneration to By Other Business
Partners ‘Receipts 6,000
X 75,000 By Long Term
Y 50,000 Capital Gains 1,00,000
Z 85,000 2,10,000 By Short Term ‘
TolInt. on Capital @ 14% Capital Gains 50,000
X 28,000
Y 21,000
Z 35,000 84,000
To Depreciation 53,000
To Net Profit 1,40,000
24,12,000 24,12,000

Other information:
a) The firm satisfies the conditions of Section 184 and 40(b).

b) The expenses debited to the P-and L A/c are not allowable to the
extent of Rs. 15,000.

c¢) Depreciation allowable as perrulesis Rs. 40,000.

d) The short term capital loss carried forward from the Assessment
Year 2014-15 (Yet not set off) is Rs. 20,000.

e) Y is anon-working partner. o
Compute the total income of the firm for the Assessment Year 2015-186.
Case Study:

You are required to compute the total income of the firm for the
Assessment Year 2015-16 assuming that the firm does not comply the
conditions of Section 184 and 40(b). (3x15=45)
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SIXTH SEMESTER B.COM. DEGREE EXAMINATION, MAY/JUNE 2016
- PRINCIPLES OF FOREIGN EXCHANGE - IIl (Revised)

Time: 3 Hours] [Max. Marks : 80

Instructions : 1) Answer all the questions subject to internal choice.
2) Question No. 13 (Case Study) is compulsory.

SECTION-A
1. Answeranyten: _ (10x2=20)

A) What is foreign exchange ?
B) What is meant by SWAP ?
C) What is exchange rate ?
D) Expand:

a) SWIFT

b) CHIPS
E) What is indirect quotation ?
F) What is spotrate ?
G) What is risk ?
H) Mention the types of exposure.

I) Findout New Exchange Rate (NER) between Rupees and Dollar
present exchange rate between Dollar to Rupees isT 60.00 Inflation
rate in India is 12% and in U.S. 4%.

J) What is asked price ?
K) Ascertain forward discount.

~ Spot rate is ¥ 62.75 per Dollar, 30 days forward rate is T 61.50.
L) What is meant by call option ?

[P.T.O.
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SECTION-B

Answerany three of the following questions : (5%x3=15)

2.
3.
4.

Explain the features of foreign exchange markets.
Briefly explain pure expectation theory.
Find cross rates between
a) Pound to Dollar
b) Doliar to pound
¢) Euro to Dollar
£ 1 (pound) = Rs. 95
$ 1 (Dollar) = Rs. 60
€1 (Euro) = Rs. 80
What are the advantages of Forex market ?
Explain the functions of clearing house.
Ascertain possibility of profit on arbitrage if 1 pound = 1.6 Dollar,
1 Euro = 1.2 Dollar and 1 pound = 1.25 Euro.

SECTION-C

Answer any three. Question No.13 (Case Study) is compulsory.  (15x3=45)

8.
9.
10.

What is exchange rate ? Explain factors determining exchange rate.
What are different types of financial derivatives ? Discuss.

An Indian has to receive $ 1,00,000 after 6 months, spot rate is¥ 64. Indian
expects rupee to appreciate and exchange rate may come down to¥ 60. He
enters into a put option at strike price of ¥ 62 and premium of ¥ 1 per Dollar
find out option price, if the market price after 6 months is

a) 60 b)62  c)64

Explain your decision in

1) In the money

2) Out of money

3) Atthe money.
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11. Discuss about Interest Rate Parity theory.
12. Ascertain forward rate for following :.

®) Currency Spotrate 30 days 60 days 90 days
1.$=% ° 67.80/90 30/50 50/40 40/50
2.£=%  1.65/80 30/40 30/20 20/30
| 3.€=%  9230/50 20/30 40/20 30/50

13. Case study compulsory :

An American company has subsidiary in India. The subsidiary company
Balance sheet as on 31-3-2015 is as follows :

| Particulars Note Amount
} No. 3
I. Equity and Liabilities :

1) Share holder’s funds

Share capital 1 10,00,000
Reserves and Surplus 2 5,00,000
2) Non-current liabilities

Long term borrowings 3 4,00,000

(Debentures)

Current liabilities 4 6,00,000
Total 25,00,000

Il. Assets:

1) Non-current assets

Tangible fixed assets 5 10,00,000
Investments 6 5,00,000
2) Current assets |

Inventories 7 3,00,000
Trade receivables 8 2,00,000
Cash and cash equavalants 9 5,00,000

Total 25,00,000

— - -
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As an accountant of the company

a) Translate the above balance sheet into Dollar at

1) Historical cast, 2) Current cost, 3) Current and non-current
cost. The exchange rate at a) historical cost 1$ = ¥ 40 and
b) current rate 1$ =3 50.

b) Find the gain or loss after translating the balance sheet.
#ﬁd c-sdé

TRLIIMD 1) 0305 SO 295750, &7 D gIrmen efva'ON
2) g —’3’13/5’@ z@)a’mai:

QYN - &

1. de5w10 T3non evg020: (10x2=20)

A) OT3ed DT T3 9
B) AR, ;& (SWAP) 2053860 2
C) 03 T3 o3 9
D) &z0a:
a) SWIFT
b) CHIPS
E) o3 3253 o3 (Indirect Quotatlon)d EITF ROO.
F) 35,5 &30 wowdes> 2
G) eTOD omBed 2
H) 903 $500 380808 8920.

) ST &2 wowo rY DG BF DT dddda socso&otsowa
BT 03) d@mO&)OSJ =0T 3B BN 0D I3 TR, 60 00. 2TBEHEH
asacﬁoud dd 12% a03) wﬁae@acﬁe‘) 4%.

J) Be9r3 e3¢5 (asked price) om3desd ?
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K) S0003 3ee8 (RRP,085°) OB, FOTI0EBOWO.
380 W X 62.75 I8 wowor, 30 AINY =oonad 3¢ T 61.50.
L) 30 w03y womsdesd 2

PN - W |
wemas Banech TIReR Lugon0: (5x3=15)
2. ced aREAD RTPED LFndR DSO%e.
3. 353 Q033 R»w%oédabq RodTaon QTORD.
4. 7 B0 Borr%Bo0

a) T20eE® FB) LT
b) @eT® #3533 Toow*
C) C3weBR BB woTk
£1 (FPow) = dn. 95
$ 1 (@mo0) = dn. 60
€ 1 (c3»38%) = dn. 80
5. Qe QAT00I mdm%om CRPNLI)D) ?
6. DTS R0 $TE =0 (clearing house)odd TODF YR, DTORO.
7. dsz;@%o&:od 03 MPRLITITIOTD BORIZEBOW0. 2,000 1 TRoe® =1.6 T,
1 0B8R = 1.2 EeT* &) 1 &R0z = 1.25 cdwede. ’
PR~ 2
L5 S0p08, wuZ0R0. B osg 13 3w, (15x3=45)
8. 2RO B33 0TS 7 DT TOR), DFF ORI 0BTy DFORO.
9. QAN WO BT YUSZN (derivatives) 21} 2323720
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10. 22, 2T8e03 38> &on% 83033 1,00,000 0T BHECINIENG. 00T &
mcﬁa @OOR S, 64.5R08e013 ©RRF030TS TRTPOW TTTY, DO 08
QRO . 608, QYOI RORNTI. B3 @d?@fbﬂ 930 mms D "Dd
(put option) 3 gﬁeéﬂ)do WO&S T (strike rate) . 62 wemojoo oo}
on. 138 @D@@ﬁ. ‘

530 Sore Fo3T R TR TC FFNT08TT
a) da. 60 b) 3. 62 c) dn. 64
Q33 SERIDFITTY, DFORO BOSRTNED
1) $00e0 WO (In the money)
2) 2)0e0 SECHOTWIO (Out of money)
3) D0 SECIWTIT wF» v, (At the money)
BCOTINS BOOBD IORD. -
11, 2wREoNT B0 %m@o@ 3OO0 IORD.
12. FBATYRER T0ONE T FoT SBOUD :

%R 3o u3e 3008M% 60 O 90 B
1.$=%  67.80/90 30/50 50/40 40/50
2.£=%  165/80 30/40 30/20 20/30
3.€=%  9230/50 20/30 40/20 30/50

13. ©3Ted eﬁcﬁdmd 5@@033.

2F0eOFT 2.0T0 FOTIN LRTTTE_ 2,000 FTCIF FoXQ VTITT.
D00831-3-20153 05308 R0 0358 FORIOL LTgoes GF030 83 $8N[0STIELE,

EERIS | wBdtosy ®e3X
|, B30 202 weTeRdn:
1) 3eBoTTT APNL
330 WoRY 1 10,00,000
TIOR3 DY TN TRWOI 2 5,00,000
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2) w9 avs BELIDONED
QETFDR BB OND 3 4,00,000
(FomZne)
ald) BRI 4 6,00,000
W, 25,00,000

. es2:
1) 29 a9z sy

AR, (Tangible) RATBIND 5 10,00,000
TRRBNTD 6 5,00,000
2) w9 SN

AR 7 3,00,000
0 wdéi@n’e}o 8 2,00,000

BN TR IR BN _
ASIARTAL-Y 9 5,00,000
| k) 25,00,000
Qe53) BoTIOI e%ﬁmh, |

a) doe@a FIRTT 9P DY écmab TOOTS CRTNOBOXD. BRTDOBOR 23e303

1) Eoémn)ﬁ 3, 2) m@ ?.3@3 3) 33363 d)@) %33@3 ‘&OC’)’ 23@301)@(30&30@
TOTEE 0.

QT TSN a) 08T 3 1$ =T 40 03yb) WS 1$ = 50

b) @I a’ééodom CRITDO0BOX/T Jo3T wdod RY 9T msm
éodoao@omé
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S XTH SEMESTER B.COM. (REVISED) DEGREE EXAMINATION,
MAY/JUNE 2016
COMPUTER APPLICATIONS IN BUSINESS
(Financial Accounting with Tally)

l~e* 3 Hours] [Max. Marks : 80

1
|

i

Instructions : Answerall Sections subject to internal choice.
Question number 12 is compulsory.

SECTION-A

Answer any ten questions, each question carries two marks.

a) Define Tally ERP9.

) Mention the keys you use for loading a company in Tally ERPS.
) What are ledgers ? Why it is important ?

) Whatis voucher ?
)
)

o QO O T

Mention the uses of receipt voucher.

Mention the keys used for the following functions :

Sales, Purchase.

What is reversing journal ?

Expand VAT and TIN.

Define Balance Sheet.

What is a day book ?

What do you mean by cost categories in Tally ?

Name the fields available in the budget creation screen. (10x2=20)

f

0 ©

) N —
R N e

SECTION-B
-nswer any three questions, each carries five marks.

)y

. Describe the advantages of Tally ERPO.
. Explain the steps to create ledger in Tally.

[

. Explain any two inventory voucher with an example. [P.T.O.
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5. Explain the steps to Display Day Book in Tally.

6. How do you Display Bank Reconciliation Statement in Tally ? ,

7. Explain the steps to create budget in Tally. (3x5=4

SECTION-C

Answer any three questions, including question Number 12 which is
compulsory. Each question carries 15 marks.

8. Explain the components of Gateway of Tally ERPO.

9. Explain the steps to create single ledger, display ledger énd delete ledger.

10. Explain the steps to create multiple stock items, display multiple stock
items and altering multiple stock items.

11. Whatis group ? Explain predefined groupé in Tally ERP9,

12. Mr. Arun commenced business on 15t August 2015 in Bharat Enterprises
Pvt. Ltd. Journalise the below transactions in tabular form to identify
groups, ledger and vouchers.

1)
2

w
D S i

13. Write a short note on :

a)
b)
c)

01-6-2015 Mr. Arun started business with capital of Rs. 3,50,000
04-6-2015 He purchased land for Rs. 80,000 -
10-6-2015 Deposited into bank Rs. 1,00,000

15-6-2015 Loan given to Mr. Amit Rs. 25,000

17-6-2015 Paid for factory rent Rs. 2,000

21-6-2015 Purchased goods for Rs. 19,000 from Mr. Mahesh
23-6-2015 Depreciation of Machinery at 12%

26-6-2015 Sold goods for Rs. 35,000 and received cheque

- 28-6-2015 Purchase returns to Mr. Mahesh Rs. 1,500

29-6-2015 Received commission of Rs. 6,500

Features of Tally ERP9.
Accounting vouchers.
Explain the steps to altering multiple currencies. (3x15=4
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SIXTH SEMESTER B.COM. DEGREE EXAMINATION, MAY/JUNE 2016

ECONOMICS (Revised)
Industrial Economics

Time: 3 Hours] [Max. Marks: 80
Instructions : 1) All subquestions should be answered atone place
continuously. ,
2) Answer toall Sections should be written in thesame
answer book.

BRI 1) DU wz@g’ff@ff& oz3e FE VST 8JTCV0.
2) e DeIRNNY VFONTT) 2.08€ NI TG FDG
20300, |

SECTION-A

QTN — &3

Answer any ten of the following questions in2-3 sentences each:
FINTZINGSD @écﬁmozﬁéﬁ%ZG m%ﬁ%ﬁoé CINYTTTR T @j@iﬁ@ﬁ VGOV
a) Define industrial economics. |

EJARIeLD eﬁc;js-mﬁdd 35,959, JR0.
b) State any two features of MNCs.

2IBOTSY L0 BoBANG 35T TR VTLINETI TewO.
c) Name any two classifications of industry.

Eanleliery 03ITYTIDTTR @d@b 5?\?@%@5@7@@9’@ TBROD.
d) What is meant by localisation of industry ?

EgDler ev FeoD), e300 @a’%@cﬁd IR ?
[P.T.O.
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e) Mention any two factors influencing location decision,

APe50s Qear o soee TR WETITW CINFYTRTTR TR @o@ﬁﬁej?)&
S0,

f) Give the meaning of agro-processing sector.
T B0RTLD FOODT L9TF ERED.
. 9) Whatis meant by industrial dispersal ?
308 BRI AEIRTC W e ?
h) Define rural industrialization.
Meea0een §rvdsessws LEF 20,
i) Expand TISCO.
 ¥.5037. 7% 2. L. (TISCO) &zor0.
j) Name any two internal sources of industrial finance.
0% TEFFTORT CANTYTHTTR TR 30308 aﬁmwrﬁ?ﬁ;{ TR0,
k) When was SIDBI established ?
R, SOIT. @, 2. 5035, (SIDBI) odwzont ARTIFOITCE 2
1) Mention any two drawbacks of Industrial Policy of 1948.
1948330050 26803 CRY IR ST SIS &920. (10x2=20)

SECTION-B
QTN — W
Il. Answer any three of the following :
FNTHYNIY e o BIner vugero:
1) Discuss the need for industrialization in an economy.
oIRR)Ee Sloby:clevelu} g Mo03esTeaTs wﬁ%éoﬁaﬁg{ URIF0.

2) Write a note on industry and agriculture linkages.
gTTR08 02 Ty SOV Bomsr B0 43TeS WSO,
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3) Discuss the assumptions of Weber's theory of industrial location.
BT TRT E00F m;@eédsa ,%ts%oéd PABRVRY WIF R0,
4) Describe the aspect of decentralization of industries.
CJaplerD 560068080 DTIW WoBIIY, TeIER8.
5) Explain the problems of cotton-textile industry in India.
PRTITE, wWRP L0 z)’aﬁﬁﬂﬁ%ﬁsﬁi QTORD.
6) Examine the industrial growth and industrial pattern in India.
1CSTE) Fow LERER e 0T SRTD 302> ©0ded0.  (3x5=15)

SECTION-C
QLN -3

III. Answer any three of the following. Question 12 iscompulsory.

FSNTYNSS 23T =RT giﬁ@ﬁ SUZORD. @% 12 8@@0335:@7\&.

~ 7) Explainhowthe industries help in the economic and social development
of the economy.
@cﬁra’%d%oja SRFT 0B ORI eﬂwag@@wag %m@éﬁ%ﬁ; G AR DRI TN
ROWITIR DORD.

8) What are MNCs ? Explain the merits and demerits of MNCs.
RITOTDEY, €03 FOBINSOTTERD 7 2ITOTIH, L0 BOWANY MOFOBROCANTRY,
2TOR0. ‘

9) Examine the Sargent Florence Theory of industrial location.
A0 FRTT TR0 ZTwOTD :);@esdsg mf%oédail ZTodedAD.

10) Explain the various sources of industrial finance in India.
NDIoCIMIR-AABIeLD) BEITIAT VNG m@ﬁeﬁﬁi QTWOXD.

11) Compare and contrast the Industrial Policies of 1956 and 1991 in
India.

03T, 1956 2 19913 §m0m Heands; TS Sreda FRANI,
3PR0.
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12) Caselet:

India is a country of villages. Cottage and village industries have.
their unique role because of their many advantages. A country like
India necessarily requires the help of these industries. Hence, many
measures have been adopted to encourage these industries in India.

Questions:
1) Distinguish between cottage and village industries.
2) Explain the advantages of cottage and village industries.

3) Bringout the measures adopted in India to encourage the cottage
and village industries in India.

%8 2T, R[RT:

SR BYNY TEINTIZT. TeRYS B3es ERBRUINSOTTN TR 202
m@éﬁda =5 OR TPEF & T, BeAIZ. YOTIEOB be o {J) faoéo*o’
m@%’ﬁ%ﬁ FonT bm’ %3 2T, Loeroh, md@cﬁe‘) & 5333_30 ADIAL)
reLEMY LU emIEN @Neé 3 doﬁ%ﬁ&a 3Ry oond.

(Q

5 fi
rn(

radoees $rORY BN E9R0.

) TG B
2) Ok :03) e g B MOBNS @&&@@éﬁ@ﬁ& DTO0.
) o9,

PTTES. MOR 0B TR ROENY HugesEN 3@ ST
324D, (3x15=45)
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SIXTH SEMESTER B.COM. DEGREE EXAMINATION, MAY/JUNE 2016
COST ACCOUNTING - Il (Revised)

Time: 3 Hours] [Max. Marks : 80

Instructions : 1) Attempt all questions according tointernal choice

in each Section.
2) Working notes must be given wherever necessary.
3) Non-programmable calculator is permitted.

SECTION-A

1. Answerany ten of the following.

a)
b)
c)
d)

e)

f)

9)
h)

What is job costing ? Where it is‘applied ?
Give two features of output costing. |
What is service costing ? Name two industries using service costing.

Total operating cost of a transport co. for a month is Rs. 8,00,000/-
distance covered 400 kms and passengers carried were 100.
Calculate fare to be charged per passenger km if co. wants to earn
profit of 20% on bus fare.

What is Abnormal Gain ? How it is treated in Process Account ?

In a process industry input introduced was 2000 units, weight lost is
4% and scrap is 6% of input and actual output is 1850 units. Calculate
Abnormal Loss/Abnormal Gain.

What do you mean by cost plus contract ?

Calculate amount of profit to be transferred to P & L A/c. When
contract price is Rs. 9,00,000/-, cash received Rs. 4,80,000/- which
is 80% of work certified and estimated profit Rs. 60,000/-.

Name four items of expenses charged only in financial account.
What is profit reconciliation statement ?
Mention two advantages of ABC system.

Give four examples of industries applying output costing method.
~ (2x10=20)

[P.T.O.
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SECTION-B

Answer any three of the following.

2. The following data relate to the manufacture and sale of 10,000 units of
standard product which is sold at Rs. 5 per unit.

Raw materials Rs. 20,000

Directwage Rs. 12,000

Machine hours worked 1,000

Machine hour rate Rs. 5/-

Selling and Distribution overhead is 50 paise per unit.

Prepare Cost Sheet to find out cost per unit and total profit.
3. The following information relates to Contract No. 105

Contract price Rs. 6,00,000

Plant Rs. 20,000

Raw materials Rs. 1,64,000

General expenses Rs. 8,600

As on date cash received was Rs. 2,40,000 being 80% of work certified.
The value of materials remained at end at site was Rs. 10,000/-.
Depreciate plant by 10% work uncertified was Rs. 400/-.

Prepare Contract Account.

4. The net profit as per financial account of a company amounted to
Rs. 20,300/~ while profit as per cost book is Rs. 17,300/-. The following
differences were disclosed

a) Interest debited in financial account Rs. 800/-

b) Over subscription of overhead in cost account Rs. 8,800/
c) Preliminary expenses written off Rs. 1,200/-

d) Under valuation of opening stock in cost account Rs. 1,400/
e) Over valuation of closing stock in cost account Rs. 2,400/-

Prepare Reconciliation Account.
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3. KMC runs a canteen for the benefit of students. It provides breakfast
and lunch to students at subsidized rate of 40% of actual cost. From the
following information relating to month of January 2016, calculate Subsidy
Per Student.

Rs.
a) Provisions 10,000
b) Salary and wages 6,000
c) Miscellaneous expenses 3,000
d) Consumables 5,000
e) Gas and electricity 6,000

f)  Number of students 500

6. Joint cost of producing three products A, B and C amounted to Rs. 12,600/-
other details are

A B C
a) Sales (Rs.) 10,000 7,000 6,000
b) Estimated profit on sale 20% 30% 40%
c) Further cost (Rs.) 1,000 900 600
Prepare statement showing Apportionment ofJoint Cost.
7. What is cost driver ? Explain types of cost driver. (3x5=15)
SECTION-C \'

Answer any three questions. Question No. 13 is compulsory.

8. The Product Z is obtained after it passes through three Processes. The
following information is for the year ended 31 -12-2014.

item Total Process| Processli Processlii
(Rs.) (Rs.) (Rs.) (Rs.)
Direct materials 7,542 2,600 1,980 2,962 ’
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-Direct wages 9,000 2,000 3,000
Production overhead 9,000 - -
% of normal loss to input - 5% 10%
Value of scrap p.u. (Rs.) 2 4
Output (units) 950 840

R

4,000

15%
5

750

1000 units at Rs. 3/- each were introduced to Process |. The production

overhead is recovered at 100% of direct wage.
Prepare Process Accounts.

. From the following figures prepare Reconciliation Statement

Net loss as per cost account

Net profit as per financial account

Works overhead under recovered in cost account
Administration overhead over recovered in cost account
Depreciation in financial book

Depriciation in cost book

Interest received on securities

Obsolescence loss debited in financial book
Income Tax provided in financial book

Bank interest credited in financial book

Stores adjustmént credited in financial book
Opening stock over valued in financial book
Value of closing stock in cost book

Value of closing stock in financial book

Goodwill written off

Provision for bad debt

Profit on sale of assets credited in financial book

Rs.
7,000
14,000
3,000
6,000
10,000
14,000
25,000
5,000
10,000
10,000
2,000
2,000
50,000
47,000
1,000
4,000
2,000
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10. Sai Transport Company supplies following details in respect of a truck
of 5 ton capacity.

a) Cost of a truck Rs. 6,20,000/-

b) Scrap value at the end Rs. 20,000/-

c) Diesel, Oil, Grease etc. Rs. 50/- per trip each way.
d) Repairs and maintenance Rs. 2,500/- per month.
e) Drivers wage Rs. 5,000/- per month.

f) Cleaners wage Rs. 3,000/- per month

g) Insurance Rs. 6,000/- per annum.

h) Tax Rs. 3,000/- per annum.

i) General supervision charges Rs. 15,000/- per annum.

Estimated life of truck is 10 years. The truck carries goods to and from
Bijapur city covering distance of 50 miles each way on onward trip
freight is available to full extent and on return trip 60% of capacity.
Assume that truck runs on an average 25 days in a month. Find out
cost per ton mile. |

11. Priya Ltd. was engaged in a contract during 2013. The contract price
was Rs. 4,00,000/- The Trial Balance as on 31-12-2013 is as under.

Particulars Dr. Cr.

(Rs.) (Rs.)
Share Capital - 80,000
S. Creditors - 8,000
Building 34,000 -
Cash at Bank 9,000 -
Contract Account :

Materials 75,000 » -
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Plant 20,000 -
Wage 1,05,000 ~
Expenses 5,000 -

Cash Received 80% of -
work certified - 1,60,000
2,48,000 2,48,000

Of the plant and materials charged to contract, plant costing Rs. 3,000/-
and materials costing Rs. 2,400/- were destroyed by accident on 31-12-201 3,
plant costing Rs. 4,000/- was returned to stores and value of materials
at site was Rs. 3,000/- Cost of work uncertified was Rs. 2,000, charge
10% depreciation on plant,

Prepare Contract Account and Balance Sheet.

12. Acompany manufacturing two Products furnishes the following data for
ayear. ' -,

Products Annual Output Total Machine Total number Total number

(units) (Hrs.) of Purchase of set up
order
X 10,000 20,000 160 20
Y 50,000 1,20,000 384 44
60,000 1,40,000 544 64

The annual overheads are as under:

Volume related activity cost Rs. 5,60,000

Set up related cost Rs. 8,40,000

Purchase related cost | Rs. 7,00,000

You are required to calculate the unit cost of each product under
a) Traditional method of charging overhead

b) Activity based costing method.




R EEEE—E————..

IIIIIIIIIIIIIIIIIHIIIIIIIIIIIIIIIIIHIIIIHIIIIIIIIIIIIIHIIIIIIIIIIII'IIIIIIIIIIIIII 7- 6422 -F01-VISC-R-M-16
13. Case study (compulsory).

ABC furnishes the following data relating to manufacture of a product

during the year 2014.

Production 1000 units
 Materials Rs. 20,000
Labour Rs. 12,000
Office overhead - Rs. 4,000
Factory expenses Rs. 8,000
Selling expenses Rs. 1,000

Profit is 25% on selling price.

The company decided to produce and sale 1500 units in 2015. It is
estimated that

1) Material cost will increase by 20%

2) Labour cost will increase by 10%

3) 50% of Factory and Office overhead are fixed and other 50% are
variable.

4) Selling expense per unit will be reduced by 20%
5) The rate of profit will remain same as in 2014

Prepare statement showing total profit and selliﬁg price per unit for the
year 2015. ‘ (3x15=45)




6422 - FO1 ~ VISC —R-M =16 = |IIF0 B I 0 T
IR U2

Apeddmeb: 1 ) 0308 SCRTMTON D, eI/ 3020,
2) exgog9 afagmﬁsfcfg QT X0
3) o (I &y enpadceser) &) e Jeaso”
VTR CNTeITIT,

QPN - &
1. Beton 30 I3nen SUZORD.

- 2

a) WA MR 33 wcgs% QOB ? f&dﬁg{ D& T CRIBITD ?

W

b) 58 g, BB B> LFLanTR S9RD.

)

C) Reew 336903 0T ? QTR 3 CAIRIE 2T ORI B0,

d) 2.0t 8onert mon :a’oa;ojo 28D DI B 313 8. 8,00,000. 3R 2030
400 3.20¢. @’Qﬁa%%d 70’033 100.

T,08060 BIT Foees a’eﬁm ZOdwo oY WTITo3I ,035069 ada’do
iozsoéo@owa

e) LRRRNT w9y HoTTeId 2 [II), FORTED T3S ST oInT Oed
TONEIROND 9

f) ~o~ R,0550 %o:é@ 2000 0308 NED qadmraﬂd 233 SR Besteo 40’@
mm e, oiuaeu%:a’ B30 6T ) 5 ) em:%dﬁ 1850 odaoz’owmfo
WROBRT, Do RTRT 3, SR %ocgoao@oso&

0) SeIRAES oIE LFeTEoTdeRd 9

h) 7ogr 23 9,00,000, RS Bo 4,80,000 (S70R0L, F93T 80%)
905020 ©08360,000.

O3 Beg 20937 W CRLIETT CRIER) ForRIR0D.




BRI s 6422 — FO1 - VISC — R — M — 16
) Sgoem; wcé%odoe; R, NORIT TLY WUINTIY, 0.
j) oo BT 03 5098 oTTeERd ?
K) 2t3% S2350R 23 00 038R enINTR), SPRO.

) e dzﬁ wdéododo YTRROB T, TF INY emzr%cﬁsaojo#n RRIND.
' (10x2=20)
QYN - W
IR TRETR BRSO BB $ug0RD.

2. 83 3PN [3&Sc30 10,000 03202831 em@dé TN dm‘yaé,s% FoLODRT.
wé O30 dmms 33 3n. 5

% RPN dR. 20,000

33 80 Sn. 12,000

S8 a8, Rositeo 1,000 (Hotined)

o308, 7ot 33 . 5

BT T WETEeD aﬁoewdzﬁ 3. 0.50 =& 033330@3*?7?

aﬁ%ﬁ%@@ 303208, T 0RO emaadm 5?3 TONR 2830, cm:fdﬁo
BFORIEBOD.

. R Hosd, 1050 Rmbod B 89NR03c3

.
R o3¢S ~ 6,00,000
I 20,000
RTIRATED 1,64,000
ROBRT, FeENH 8,600

QTN TR Bed . 2,40,000 (BT 5OROES. %QJNCS Besreo 800R))
dwrcﬁ 331 mONRY ) Br. 10,000. 7T doee? 3edmo 100 B39
Ertous0. STRORLRE R % 400, |

Roart 303, L300,

o T e e




6422 — FO1 = VISC —R =M =16 -10- |00 0. 0 OO 0 O

4. S3en3, ZP0E 913 8. 20,300 wrie Se3PeR, FFOS ot da. 17,300
35 89N FE AN Borro0nc8s:

a) BeagoR0 IO, TR PO w& . 800

b) oewosin T30 SFOATY B3 8, s098030¢) T, 8,800

C) TPRF LR dairf@dﬁg{ ejé@%;d% dn. 1,200

d) 323 egond, R BIP e80R R0 BT 2e, 3r. 1,400
e) %030, BeR), W3, €80 ROz €203 2w, de. 2,400
e o e AR, 03> T3ZeBHR) FoTHOR.

5. B0% 00 SVBTT 1I® DR, HF MY RBROTN DO WIS, AapXatara by
2t dzid 40% RT0D ddd@?,) éo@ﬁ%‘fa’% &Cﬁﬂ%b_éod wI=O 2016 Sonen

ROWORATOP B8 TN WBNTONT BI&EC0T 8 QTR eRT

D035 000803, FORIEBBOWD.

oR.
a) ADOATED 10,000
b) B2 =2 Bed 6,000
C) B3 DN 3,000
d) &30 =N 5,000

e) MF* o é)cﬁ%sf dzgs 6,000
f) SmprneRosd —~500

/




(UM AR R -19- 6422 — FO1 - VISC - R - M - 16

6. QWA A - TRTO TN em@wdﬁoja :300:533_‘:5 dzaa’d 3. 12,600. ;‘Joojaaj
SRNY BIPT HTT :

DT D (~) 2
Rnoets (3R.) 10,000 7,000 6,000
DINTOLT T0ee3 LI0TIVTO DL 20% 30% 40%
#oﬁ&dm f&dbﬁ?d aﬁzjs; (TR.) 1,000 900 600
Roo0g SegsER DYPNAD.
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SIXTH SEMESTER B.COM. DEGREE EXAMINATION,
MAY/JUNE 2016
MANAGEMENT ACCOUNTING - IV
(Revised)

. Time : 3 Hours] [Max. Marks : 80

Instructions :1) Attempt the questions according tointernal choice.
2) Non-programmable calculator may be used.

SECTION-A

5) 1. Answerany ten of the following :
a) Mention any two advantages of Management Accounting.

b) Write any two differences betweenCost Accounting and Management
Accounting.

c) What is marginal costing ?

d) What is key factor ?

e) What is cash flow statement ?

f) What is schedule of change in working capital ?

g) Mention any two objectives of fund flow statement.

h) Write two examples of cash outflow from financial activities.
i) Write any two uses of cash flow statement.

j) Calculate the Stock Turnover Ratio — Gross Profit 25%, Sales
Rs. 2,00,000, Opening stock Rs. 20,000 and closing stock Rs. 40,000.

k) Determine BEP in units from following information. Sales Rs. 90 per
unit, variable cost Rs. 60 per unit and fixed cost Rs. 6,00,000.

[) Calculate current assets from the following information current ratio = 3,
current liabilities = Rs. 1,50,000. (10x2=20)

[P.T.O.
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SECTION-B

Answer any three of the following:

Particulars Note

I) Equity and Liabilities :
1) Shareholders fund
a) Equity share - 4,00,000
capital

Surplus Profit
and Loss
2) Non-current
liabilities 8%
debenture -
3) Current liabilities
a) Trade payable
creditors - '3,10,000
b) Shortterm
provision for
taxation - 20,000

Amount

b) Reserves and — 60,000

2. Briefly explain the nature of Management Accounting.

Total

4,60,000

1,00,000

3,30,000

Total
Il) Assets :
1) Tangible Assets
Fixed Assets -

8,90,000

5,50,000

3. From the following statement of Assets and Liabilities of Ratan Ltd.,
prepare schedule of changes in working capital.

. Statement of Assets and Liabilities
2014

2015
Amount Total

4,65,000

62,000 5,27,000

1,20,000
3,15,000

8,000 3,23,000
9,70,000

6,10,000
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2) Current Assets

-3- 6431 -F10-VISC-R-M-16

a) Inventories :

Stock - 1,30,000 60,000

b) Trade receivable
S’ debtors - 1,80,000 2,30,000

¢) Cashandcash _
equivalents cash — 30,000 3,40,000 70,000 3,60,000

Total , 8,90,000 9,70,000

4. Fromthe following information calculate cash from operations :
~ Year ending Year ending

2014 2015

" Rs. Rs.

Profit and Loss (Cr.) 80,000 1,00,000

Debtors 40,000 52,000

Bills receivable 40,000 24,000

Prepaid expenses - 6,000 7,600
Goodwill 40,000 28,000

Depreciation 64,000 80,000

Creditors 40,000 60,000

5. From the following particulars calculate

a) Fixed cost b) P/v ratio
Year Sales (Rs.) Profit (Rs.)
2014 40 lakhs 4 lakhs

2015 . 50 lakhs 6 lakhs
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6. Ascertain creditors Turnover Ratio and Debt Payment Period from the
following information : |

Rs.
Total purchases - 2,30,000
Cash purchases 30,000

Opening balance of creditors 20,000
Opening balance of bills payable 10,000
Closing bélance of creditors 40,000
Closing balance of bills payable 30,000

7. Following transactions are given by Raju Ltd.
1) Dividend paid

2) Dividend received on shares

3) Equipment sold
4) Purchased land
5) Wages paid to workers
6) Long term bonds issued
7) Purchased investments
8) Repayment of bank loan
- 9) Received cash from customers
- 10) Issued bonus shares.
You classify the above transactions into :
a) Operating
b) Investing
¢) Financing
d) And others. : , (3x5=15)
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SECTION-C

Answerany three of the following including question13 which iscompulsory.

8. Explain the functions and limitation of Management Accounting.

9. Given the following information :

Rs.
Units sold . 5,00,000
Fixed cost 7,50,000
Variable cost per unit 2
Selling price per unit 5

You are require to determine :
i) Break-even-point in units and value
ii) The sales needed for a profit Rs. 6,00,000 in units and value .
iii) Margin of safety if profit available Rs. 6,00,000
iv) The profit if 400000 units are sold at Rs. 6 per unit.

10. Ravi Ltd. has a plant which produces two types of products namely
X and Y. Following information is given to you for each unit of product:

Particulars Product ‘X’ Product ‘Y’
Rs. Rs.
Raw materials (2 kgs) 12 -
Raw materials (3 kgs) - 18
Wages 4 4
Selling price 30 40

Variable overhead 100% of direct wages.
Fixed cost Rs. 1,20,000
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11.

a) Calculate p/v ratio of each product.

-6~ U0 5 0 00 A A

b) State which product is preferrable if material is in short supply.
¢) State which of the following sales mix will'you recommend.

Product X Product Y
Sale Mix | 14000units 6000 units
Sale Mix I 10000 units 10000 units
Sales Mix Il| 8000 units 12000 units

From the following statement of Assefs and Liabilities of Prabha Ltd.

Hubli, prepare fund flow statement.

Statement of Assets and Liabilities
Note 2014

Total

Particulars
Amount
I) Equity and Liabilities :
1) Shareholders funds
a) Share
capital
b) Reserves and 2
surplus
2) Current Liabilities
a) Shortterm
loans 3
b) Trade
payables 4

—h

2,00,000
80,000 - 2,80,000
70,000

80,000 1,50,000

2015

Amount Total

2,50,000

92,000 3,42,000

5,000

65,000 70,000

Total
I1) Assets :
1) Non-current Assets
Fixed Assets
i) Tangible Assets 5

4,30,000

2,50,000

4,12,000

2,64,000
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2) Current Assets

i) Inventories 6
ii) Tradereceivable 7

iii) Cashand cash

equivalents 8
Total
Notes to Accounts
Note — 1 Share Capital
Note -2 Reserve and Surplus

Note -3

Note -4

Note—5

Note — 6

General Reserve

Profit and Loss

Short term Loans
Bank overdraft
Trade payables
S’ Creditors

Bills Payable

Tangible Assets
Plant and Machinery

Land and Building

Inventories Stock

1,00,000
75,000

-7- 6431 -F10-VISC-R-M-16

74.000
64,000
1,80,000 10,000 1,48,000
4,30,000 4,12,000
2014(Rs.)  2015(Rs.)
200,000 2 50,000
50,000 60,000
30,000 32,000
80,000 92,000
70,000 5,000
50,000 40,000
30,000 25,000
80,000 65,000
~1,50,000 1,74,000
1,00,000 90,000
2 50,000 2 64,000
1,00,000 74.000
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12.

Note -7 Trade F{eceivables
Debtors 50,000 40,000
Bills Receivables 25,000 24,000
75,000 64,000
Note -8 Cash and cash
equivalents cash 5,000 | 10,000

Additional information :
a) Depreciation was written off on plantin 2015 Rs. 14,000

'b) Dividend of Rs. 20,000 was paid during the year 2015

c) Rs. 10,000 was transferred to General Reserve.

Following is the statement of Assets and Liabilities of Tara Ltd. as on
31 Dec. 2014 and 2015 :

Statement of Assets and Liabilities
Particulars Note 2014 2015
B Amount Total Amount Total
I) Equity and Liabilities :
1) Shareholders fund
a) Share
capital
b) Reserves and 2 40,000 3,40,000 50,000 3,70,000
surplus
2) Non-current
liabilities Long ‘
term borrowings 3 50,000 30,000
3) Current Liabilities '
Trade payable 4 44,000 - 55,000
Total 4,34,000 4,55,000

—

3,00,000 3,20,000
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I} Assets:
1) Non-current Assets

Tangible Fixed
Assets 5 80,000 1,20,000
intangible Fixed _
Assets 6 40,000 1,20,000 20,000 1,40,000
2) Current Assets ,
i) Inventories 7 2,00,000 1,80,000
ii) Trade receivables 8 60,000 70,000
iif) Cashand cagh
equivalentscash 9 54,000 3,14,000 65,000 3,15,000
Total 4,34,000 4,55,000
Notes to Accounts
2014 (Rs.) 2015(Rs.)
Note — 1 Share Capital : 3,00,000 3,20,000
‘ 3,00,000 3,20,000
Note -2 Reserve and Surplus
Profit and Loss 40,000 ~ 50,000
: 40,000 50,000
Note —3 Long term borrowings '
8% debentures 50,000 30,000
50,000 30,000
Note — 4 Trade payable .
| Creditors 40,000 - 50,000
B/P : 4,000. 5,000
44,000 55,000
Note -5 Tangible Fixed Assets
Land and Buildings 80,000 1,20,000
Note -6 Intangible Fixed Assets

Goodwill | 40,000 20,000
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13.

Note -7 Inventories

Stock 2,00,000 1,80,000
Note -8 Trade receivables

Debtors 50,000 48,000

B/R 10,000 - 22,000

60,000 70,000

Note -9 Cash and cash equivalents

cash at bank : 54,000 65,000

—_—

Additional information :

a) Dividend paid during 2015 was Rs. 20,000

b) Land purchased was Rs. 40,000

¢) Goodwill written off Rs. 20,000

d) Debentures of Rs. 20,000 were redeemed during the Year 2015.
Prepare Cash Flow Statement. '

Case study (Compulsory)

Following is the statement of Assets and Liabilities of Geeta Ltd. as on
315'March 2016 is given below :

Statement of Assets and Liabilities
Particulars Note Amount - Amount
I) Equity and Liabilities -
1) Shareholder funds

a) Share capital 1 3,50,000
b) Reservesand 2 5,00,000 8,50,000
surplus |
2) Non-current assets
SecuredLoan 3 : 2,00,000
(Long term borrowings)
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3) Current Liabilities

Trade payable 4 2,70,000
Short term provisions 5 4,05,000 6,75,000
Total 17,25,000
I1) Assets ‘
1) Non-current Assets
Tangible Assets 6 ' 6,00,000
2) Current Assets
Inventories 7 2,70,000
Trade receivables 8 4,00,000
Cash and cash
equivalents 9 3,95,000
Short term loans
and advances 10 60,000 11,25,000
Total 17,25,000
Notes to Accounts
Rs.
Note — 1 Share capital
Equity share capital 2,50,000
Preference share capital 1,00,000 §
3,50,000
Note -2 Reserves and Surplus
Reserve fund : 5,00,000
Note — 3 Longterm borrowings ’
Secured loan 2,00,000
Note —4 Trade payable
Creditors 2,70,000
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Note -5 Short term provisions
Provision for taxation

Note -6 Tangible fixed assets

Note -7 Inventories

‘ stock
- Note-8 Trade receivable

Debtors

Note -9 Cash and cash equivalents
Bank

Note—-10 Short term loans and
advances

Advance income tax
Other information :

4,05,000
6,00,000

270,000
4,00,000

3,95,000

60,000

R A RO IIIIIIIIIIIIII A0 O

1) Total sales during the year to Rs. 38,88,000 (including cash sales

Rs. 2,88,000)
2) The gross profif earned is 25% on sales.
3) Stock on 31-3-2015 was Rs. 2,16,000.
4) Assume 360 working days from the year.
Questions:
1) Calculate:

a) Liquid ratio

b) Proprietary ratio

c¢) Stock turnover ratio

d) Capital gearing ratio

e) Debtors turnover ratio
2) Comment on the liquidity position.

(3)(1 5=45)




A 0 A0 0 D 0 0 O 13 6431~ F10-VISC—R-M-16
3R U

Roesined: 1) oTOF SalaDod I ugoro
2) Do~ TR )y, FeETT UTOIRCNTLITOL.

QNYTIN — &

. 3500 BYE, QUBOA!

a) ARFIBE 635&?707\):9 3 0R CRNYR) EPR0.

b) &5, SEToR, =03 adrﬁm_ SEToR, o om@de_@dzéa RBYRNR) LIT0.
C) 20233 03 0T ?

d) $200 03 20T ?

e) IN VO T 0TTEd ?

f) RIBOIVT WOBTVE LWBITWECI T 0BT ?

g) DO WD TeIoDd O3RN TTIR TR YU EBRTTI Te0.

h) @eesoRo FogE 1eaRUROTRROR SISO RRTUBODT HOR) GUCmTBIR)
W30, |

i) SR WO BN HOwd OB RENNYR), 920,

j) DRSO TOYROre BRITY BowY HROWD — F@O oy Be. 25,
S00083 8. 2,00,000, 580353 Z S8 arn. 20,000, 20830 ESW) gdr. 40,000.

k) 39NS &5088c0003 BEPosasgL TUIBNTE BorROZBROWD:
DB T P S, 90, 43 03T Fe3 T s de. 60, A3t 6,00,000.

1) 333N 08300 2 E) BN FRTRI) BORILBOWD. 2309 ¢3R0508 = 3,
¢ BeBmo8 3e. 1,50,000. (10x2=20)




6431 -F10-VISC-R-M- 16 <t |0 0 0 0 O OO A A
NI — W
ez BoRTE g0
2. ATz SBIORE B BT ) NO3TTON DFOL.

3. 8339N SR 0D BRHBOE T T3 STIO TBOBOTE LWOBeTS wdmde@ojom
BReORT wwojada 30300, dév BOBIOL SR BRHBMWOT I TS,
B3 302 mwma-@ wu
Q[TBrLd wwz‘é 2014 2015
) mmg D) BRHBM0E
[JR=NevianieiofVa)
a) maﬁna’% Jedd - 4,00,000 4,65,000
WOBTY ’
b) i’moﬁaéfqdo abéo - 60,000} 4,60,000 62,000 5,27,000
é)oﬁé Ua?,d abéa ﬁw '
2) w9 VT
o*&ras@maﬁ
8% B0 ned -~ 1,00,000 1,20,000
3) @ SpBoosd
a) YT TBINH
FOND - 3,10,000 3,15,000
b) wenzt
QTN
301 aoemen - 20,000  3,30,000 8,000 3.23,000
ué&% 8,90,000 9,70,000

1) s3neh
1) Reesd ened |
R(qu SN - 5,50,000 6,10,000




| SRR MER .15 6431 -F10-VISC-R-M-16

2) w3 BAnH

a) weRYRoNed
(Ro8) - 1,30,000 60,000

b) 9,00 3, 3 3rish
pantSanieleb) - 1,80,000 2,30,000

c) D &) Jned
I[N - 30,000 3,40,000 70,000 3,60,000

LA X 8,90,000 9,70,000

X}

4. FHBTH SN BOBODR B3 39N 530838 SO BORIRROD.
- 3RRRRRTHT BesReod IR

2014 2015

¥ ds.

00T 8393 (Cr.) 80,000 1,00,000

 ROOMTT 40,000 52,000

20028 BooBnd 40,000 24,000

Sooons ﬁziﬁei) 6,000 7,600

Ao 40,000 28,000

ReIP 64,000 80,000

AOT/ITOTD 40,000 60,000

5. 39 oL Si&dc0or
a) X0 e Torie b) engdeoTets e 30w SR000

-t i~ rlept Y] ooy
2014 40 oBRsL 4 B
2015 50 o3 6 oBnsh




6431 -F10-VISC-R-M-16 <16~ |0 0 D O O A
6. 83 39NT Tn&eNeom 7o e R3S 90T doé_op OO &HoDTIATT

9330 fa‘@r{%fa’% FOTOEBEIOND.

V-
% Do 2,30,000
INT DO 30,000
T QeRTEIT 38008 M 20,000
&@@*’3’@ FBOOROD 5T0F B8 10,000
To® DeRTIT 3T #03 40,000
mw3§ BOOBO @3 T B3 30,000

7. % 39N HTB0rh Dot DY Howopadsy
1) TOR3AT BLWoR
2) FeBons 22663 2008 BB
3) BT TS d:a@d%
4) Pean DD
5) 8r0%00r 209 ZotiRy
6) QeTFRY waozson’%}mq WRING dD@d%
7) moaao&),%d@ﬁ%% 00D
8) w307 oo dodomaﬁé%d%
9) MRETO0T . FONT I
10) z‘scﬁaﬁ\d BRRT WreSH* Se3omsh.
O3 R0,
a) FOF LB
b) rozacirmrish
C) TEITORAT 2383063638 TR
d) 533 2360TeBR Soet INE OO,




]

0 O OO A -17- 6431 -F10-VISC-R-M-16
QPN —F
B3 130 2.97100%0 13eTT BoRTY TINPT LUBORO. TF 132, 3c80800N LVBORLIEED.
8. JFFTe0 SEIORT THOXF MK Tore LTS DOSMER) DO,
9. BUNT Bntod dotm:

da.
WO o&o@u&ﬁ% 5,00,000
Egpd mgjmso 7,50,000

W EROTE 30 B, 2 B 0BT
B0k 3T The. 5 T8 cd0Re |
DEY VT ORWIETINTIY !
i) BRTRBP Womd ~oRORVTINR IPYNGY,
ii) Tr. 6,00,000 e3noRen 958008 BT0063 ~ 030N TN BIPYNGY
iii) Ge. 6,00,000 UagIn9RdSTT T30 ROTES 0T
iv) 400000 c302e30n¢ &8 0 dre. 6 ToB BRToLTA, BT ot

10. BHRHABBHRIBYX ) Y 0w a0 e evmBriedygs egner
Ror0GE30s 85 NG Red DEBLRNG. (8050050 FR0R 10T CHORL).

NS . X SR Y’ SRoried
3%. 3.
5zsawdzgmﬁo (2 3.rw0.) 12 -
5?,3%5:’37\’@0 (3 3.m0.) - 18
3Rd 4 4
SRoouT e 30 40

TN SN0 6T 3RO Je. 1000,
2336 d?,im 1,20,000




6431 -F10-VISC-R-M-16 4@~ | DT 00 O

11.

20m5 8RO :
a) B BT 73 BIR0IT IS,

b) 2,050 Beed B2 FOTONNG 308 353Q 037 TR YVBITN Al @lfaedoéba
C) 3N cI0T BRTHE Q0T £d WRTES WRBELD ST IBII0.

X SRond Y SRanish
RRTDES S0ZE3 | 14000 c3ooRensd 6000 ooRe3nisd
TooE D0Zes I 10000 c3oRensd 10000 0300R6307Ts
apienlERav: Nl 8000 c3Re3%d 12000 o320R8373%b

By BT VOIT BV, QT 5y BB BRFWMODT TeIOIR B FENTF
QETONT.
2 I BARBMOE TS,
TN &3&2}‘5 2014 2015
) moRRT &8y BREMOE
1) 3ec0TTT PNEL
a) 3¢ woReY 1 2,00,000 2,50,000
b) e Y Tone ‘ .
VPBNREL 2 80,000 2,80,000 92,000 3,42,000
2) 38 SRBMOEND
a) LRIY :
TOOND 3 70,000 5,000
b) 0 :
@SN 4 80,000 1,50,000 65,000 70,000
Wi, 4,30,000 4,12,000
1) e
1) 2309 QYT WANED
AT eﬁﬁ)r{@:o
) rﬁmeaﬁd SN 5 2,50,000 2,64,000




00 T O OO A -19- 6431 -F10-VISC-R-M-16
2) w9 saneh |
i) TR 6  1,00,000 74,000
ii) TRTROAEAND 7 75,000 64,000
i) = Ry Srcd |
e 5000 1,80,000 10,000 1,48,000
Wi, 4,30,000 4,12,000
sT3nen WRrne
2014 (S».) 2015 (3».)
wggté -1 30 WOV ‘ 2,00,000 2,50,000
e3Ted — 2 QT VY TMR LVPITVONH
maimigs ) 50,000 60,000
Opthi do@_oo d&'{gmé 30,000 32,000
80,000 92,000
T3 -3 SEVFO WO
2RO 2330° T, 70,000 5,000
e3¢ — 4 TTIOD ToTENTH
OND | 50,000 40,000
2RTeIeTT Booarshd 30,000 25,000
80,000 65,000
UDps—5  Reedd e
IV 033 ooBReRESeNE  1,50,000 1,74,000
PR 308y 3L 1,00,000 90,000
2,50,000 2,64,000
T3 -6 TORRRIND
. Rodhovmd 1,00,000 74,000

N




6431 -F10-VvISC-R-M_ 1 -20- IO OO O RO

wv'zié -7 ST %eg\%ﬁ%
DOMID) | 50,000 40,000
2T BoGrishs 25,000 24,000
75,000 64,000
W3- 8 SN 338 I
RERT0BR Sy 5,000 10,000

%?,33536 SR&S :

a) OBoER, BT Soees 201558 ) R3ge R0 de. 14,000

b) anaoeﬁddﬂm 539 deac )T, 20,000
c) So0008 Qi T, 10 ooow& ) BRF CVRERAT,
2% cfxméoérf@od QB I TR BodR020,

12. 390 RET1 BRowc* 2014 marte2015 o 3 3 Bermos Duong,

FPNT0B Q@A
Q'Ba) 5333 RBmod w&?
Abviera thy) éswsé 2014 2015
a"’.uag ) airag )
1) mmg D) BrerEroodn
1) 3edotT3 26Re
a) 3edd 1 3,00,000 3,20,000
WOBTY
b) Soezew 2o
TN VDB 2 40,000 3,40,000 50,000 3,70,000
2) @3¢ AV
TBRTBMOBR
QeFor R0 e 3 50,000 30,000
3) @) BrBmogny :
W00 TOREN 4 44,000 55,000
&&3% 4,34,000 4,55,000




Y 0O O 21- 6431 -Fi0-VISC-R-M-16
1) esansh:
1) @9 v Saned
AT AN, et

B&ﬁ% ‘ 5 80,000 1,20,000
RpestHu A3 |
eﬁ?_\’;ﬁ%b 6 40,000 1,20,000 20,000 1,40,000
2) @ eRn%H ‘
i) m@&bﬁ% 7 2,00,000 -1,80,000
i) R0y BN 8 . 60,000 70,000
i) SR Ty Sncd
AR 208 IR 9 54,000 3,14,000 65,000 3,15,000
2l 4,34,000 4,55,000
$53nen L3Tednsd
2014(35)  2015(3%.)
&3&:&5 -1 330 WoBY 3,00,000 3,20,000
: 3,00,000 3,20,000
3T~ 2 QRO A TIBY LVPITOND
(SpYA] dﬁwmé 40,000 50,000
40,000 50,000
STEB-3  OeEFIr R MO
8% o TN 50,000 30,000
50,000 30,000
83359 — 4 TTO ToTENH
FONRTO 40,000 50,000
BRTEIeTT BooBNTD 4,000 5,000
44,000 55,000

W —-5 | reessaserand

A TOASE Y (o) #&i}dﬁ% 80,000 1,20,000
e3D5— 6 ©RReE0 AT SAND
ROTOT 40,000 20,000




6431-F10-VISC-R-M-16 22. HHMNMIIWMIHWWIIWHWMMWIM
WTed— 7 TR

RO TR 2,00,000 1,80,000
t3Te3 - 8 W0 R eF8rieh
AOMTD 50,000 48,000
zot33§ IR ‘ 10,000 22,000
: 60,000 70,000
8TE—9 igtes) ) I B3R ©03neh
. 232,083 I - 54,000 65,000
‘ swoaa & :

a) 20153¢ ) dw. 20,000 SOLIOOBI @edcaﬂd

b) dw. 40,000 w3¢303> PRI 2, 300eRSONS

¢) dr. 20,000 RODIETR) ), 31 B8NS

d) dw. 20,000 AOD3, 71’%‘3&50 201539 ) &0800NTe 002y
/N Bom IO 3&1336,@

13. 550’8@ &5(%01)5 3?.336030 :

NESD BozR DO 933 &3 dx”g BB au‘éiom 31 S0 s 201 6§ r=2)
FPNI0B BN,

&3 D Besmo mi
Qe3Ted e3ed Se3 B3
)] ma’uadé D) BrEmod
1) Bedomoud 2oy
a) 3edd worEg 3,50,000
b) oezen 20 Bore 2 5,00,000 - 8,50,000
b= 74150
2) W 0B BeEmos
QeTFOF IO Towored
P enh 3 2,00,000

b

|




1000 A OO 23- 6431-F10-VISC-R-M-16

3) Y Bemnodd

T TITENE 4 2,70,000
BTG DTN 5 4,05,000
_ W,
1) ensd
1) @309 LT SAND
Reeeds L3Neh 6
2) 2309 s/NTH
TRARRONED 7 2,70,000
Opkente %e%érﬁe:o 8 4,00,000
BN &Y Sned
AanSeosndy - 9 3,95,000
PRRO ezeonsd . 10 60,000
)
s53nen L3Iednshd
oV N
e3d — 1 BeTO WORIY
RO, 3T oY 2,50,000
@5#_53 BT LWORY 1,00,000
3,50,000
B - 2 QTR0 Y ToNR LVUPSIOIND
ARRT, AQ 5,00,000
Wme3 -3 QETF T MO '
PTT2 WO 2,00,000
$nes -4 3,00 TOWENED
JOONT 2,70,000
WD~ 5 BURTH QOERLINTL
oINSV 4,05,000

6,75,000
17,25,000

6,00,000

11,25,000

17,25,000



6431 -F10-VISC-R-M-16 2|0 O D O O 0 A
wa):sé -6 Ree3s e@r{%ﬁo |

30 AT 6,00,000
3D~ 7 TORYRON

RO om0 | 2,70,000
T3~ 8 ST R, €33N
, TOOTOTT 4,00,000
&3@7.);95 ~9 S 2308 SN BBSRI0BRLH

239, 083 I 3,95,000
8T~ 10 LUDEE FONL TN BOONE

TOONE S0 33 60,000
B33 TRLSN

1) IRgDOT 2830 oo 5. 38,88,000 (S Snoews Zed 4. 2,88,000)
2) INTL 0683 NPT W0 g3 Be. 25 [T
3) &3J90831-3-201 5'6; ‘acg)oé TS é@% on. 2,16,000
4) BAE TRETY 2030 360 30RT AIN 2080 SN,
ZIned:
1) 33 3INIYNIS) &8 T80
a) BN T
b) SR8 o3
C) &) &3S RT3
d) WoRF A00TF LTI
€) TOUMTT ESTBF S 930503
2) 3R %@ﬁéoﬁo 273 E3e8R. (3x15=45)




vvvvv

00 00 0 0 O 0

VISEMESTER B.COM. DEGREE EXAMINATION, MAY 2017
COST ACCOUNTING - Ii (Revised)

Time : 3 Hours] [Max. Marks : 80

Instructions : 1) Attemptall questions according to internal choice
ineach Section.
2) Working Notes must be givenwherever necessary.
3) Non-programmable calculator is permitted.

SECTION-A

1. Answerany ten of the following.
a) What is unit costing ?
b) Name two industries adopt job costing.
c) Whatis retention money ?
d) What is contract price ?
e) What is by product ? Give two examples.
f) Whatis Abnormal gain ?
g) State the need for preparing profit reconciliation statement.
h) Name four items of expenses which appears in Financial Accounts
only.
i) Whatis operating costihg ?
j) Calculate ton kms :

Distance covered — 250 kms, No. of days — 25,Capacity — 15 tons,
Average load carried 80% of the capacity.

k) What do you mean by cost drivers ?

[) Mention two advantages of ABC system of overhead absorption.
(10x2=20)

[P.T.O.
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SECTION-B )

Answer any three of the following.

2. The estimated material cost of Job No. 505 is ¥ 50,000 and direct labour
cost to be ¥ 10,000. In machine shop the job required machining by
machine No.5 for 20 hours and machine No.12 for 6 hours. Machine
hour rates for machine No.5 and machine no.12 are ¥ 80 and T 100
respectively. Machine shop cost only is considered. The direct wages
of all jobs last year amounted to¥ 3,20,000 as against ¥ 80,000 factory
overhead. Last year’s factory cost of all jobs amounted toZ 7,50,000 as
against 1,50,000 office expenses.

Prepare a quotation which guaranteed 20% profit on selling price.

3. The following information relates to Contract No. 501

4
Contract price 18,00,000
Plant 60,000
Raw materials - 4,92,000
General expenses | 25,800

As on the date cash received was ¥ 7,20,000 being 80% of work certified.
The value of materials remained at end at site was ¥ 30,000. Depreciate
plant by 10%, work uncertified was ¥ 1,200.

Prepare Contract Account.

4. Fromthe following information, Prepare Profit Reconciliation Statement.

4
Net profit as per Financial Accounts 50,000 -
Op.stock of material as per Cost Accounts 20,000
Op.stock of material as per Financial A/c 15,000 ‘
Administration overhead in Cost A/c 116,500
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Administration overhead in Financial A/c 12,000
Income Tax paid , 30,000
Interest paid , 21,000
Depreciation on machinery in Cost A/c only - 10,000
Profit on sale of material in Financial A/c only 2,000

Determine Profit and Loss as per Cost A/c.

. Fromthe following information calculate profit to be transferredto P & L

A/c and Reserve in Contract A/c.

Particulars 4

Notional Profit 87,500
Value of work certified 43,75,000
Value of work uncertified 1,25,000
Contract price 62,50,000

Contractee pays 90% of work certified.

. 12,000 units of a material was charged to Process | at the rate of¥ 10

per unit. The direct labour accounted for¥ 60,000 and other departmental
expenses amounted to ¥ 20,000. The normal loss is 5% of the input,
where as the net production was 10,000 units. If the process scrap is
saleable at¥ 5, calculate the value of Normal Loss and Abnormal Loss
and show Process | A/c.

. What do you mean by activity based costing ? Mention any three

objectives. (5%x3=15)
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SECTION-C ’
Answer any three questions. Question No. 13 is compulsory.

8. The following Trial Balance of Anand construction Go. engaged in the
construction of Contract No. 201 for the year ending 31-1 2-2016

Particulars Debit X Credit X
Share Capital - 3,20,000
Creditors - 32,000
LLand and Building 1,36,000 -
Cash at Bank 36,000 -
Contract Account: ,
Material 3,00,000 -
Plant 80,000 —
- Wages 4,20,000 -
Expenses 20,000 -

Cash received from
contractee (80% of work
certified) - . 6,40,000

9,92,000 9,92,000
Plant costingZ 12,000 and material costing ¥ 9,600 were destroyed by
fire on 31-12-2016 plant costing 16,000 was returned o stores. Material
at site at close were X 12,000 work done but not certified was ¥ 8,000

charge depreciation on plant at 10% p.a. Prepare Contract A/C and
Balance Sheet.

9. The profitas disclosed by Cost Accounts of Pooja Co. Ltd. was3 1 ,50,000
for the year ending 31 .3-2017. A scrutiny of Cost and Financial Account
reveals the following.

Particulars £4

Income tax provided in FA 45,000
Share transfer fees credited in FA 3,000
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Company’s provision for bad debt 15,000

Stores adjustment credited in FA 750
‘Goodwill written off in FA 6,000
Interest on Investment 3,000
Value of closing stock in FA 14,000
Value of closing stock in CA 19,000
Depreciation charged only in FA 5,250
Directors fees shown in FA 6,000
Overhead recovered as per CA 25,500
Overhead charged as per FA 21,000

Prepare Reconciliation statement to find out the net profit as perFinancial
Accounts. :

10. A product is obtained after it passes through three distinct processes.
- You are required to prepare Process A/cs from the following information
for the month of April 2017.

Processes

Particulars

A B C

4 £4 £4
Sundry materials : 6,700 4,000 6,000
Direct wages 10,000 6,000 8,000
Direct Expense 10,000 4,342 879
Production overhead 5,000 3,000 4,000
Actual output (in units) 920 870 775
Normal loss on input 10% 5 10%
Scrap sold per unit (%) 3 5 6

1000 units at T 20 per unit were introduced to process ‘A’. There is no
opening and closing stock in any processes.
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11.

12.

Prashant Transport Co. runs a bus between Gadag and Ranibennur.
The distance between the cities is 150 kms. Seating capacity of the bus
is 60 passengers. The bus run all the days in the month. Following are
the particulars obtained fromthe books of the Co. for the month of March 2017.

Particulars %
Driver's Salary 16,000
Conductor’s Salary 15,000
Manager's Salary 20,000
Road Tax 22,500
Office Expense 5,000
Sundry charges 8,000
Diesel cost 14 per km
Cost of the bus 15,00,000
Depreciation on the bus 10% p.a. -
Repairs and Maintenance 6,000

The bus carries full capacity towards onward journey and 80% of its capacity
towards return journey daily the bus makes one round trip.

You are required to calculate cost per passenger km and also calculate fare
to be charged to each passenger if Co. expect 20% profit on cost.

MTS Co. Dharwad have collected the following data for the two activities.
It calculate activity based cost rate on the bases of cost driver capacity.

Activity  Cost Driver Capacity CostinX
Power Kilowatt hours 50,000 Kwh 2,00,000
Quantity '

Inspected No. of Inspections 10,000 Inspections 3,00,000
The company makes their products X, Y & Z for the year ended on
31-3-2016. The following consumption of cost drivers was reported.

Products Kilowatt hours No. of Inspections
X 10,000 3,500
Y 20,000 - 2,500
yA 15,000 3,000

Required youto:
1) Compute the overheads allocated to each product from each activity.
2) Calculate the cost of unused capacity for each activity.
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13. Case Study (Compulsory).

The following are the figures extracted from the books of Puttaraj Co.
for the year ended 318t December 2016

Particulars ' ‘ 4
Direct material — Op. stock 1,20,000 ,
— Purchases 11,60,000 I
— Cl. stock 2,40,000
Direct wages 2,80,000 !
Other Direct Expenses 40,000 , |
Factory overheads 2,80,000 |
Office Expense 1,20,000
Marketing Expense 1,20,000

In 2016 the annual output was 10,000 units and for the year 2017 the Co.
plans to produce 25,000 units.

Prepare a statement of estimated cost for 201 7, taking in to consideration
following additional particulars.

a) Labour cost will be increased by 10%.

b) 50% of Factory overheads are variable and fixed factory overhead
will go up by % 30,000.

c) 40% of marketing Expense are fixed.

d) Office Expense will increased by 25%.

e) Profit expected @ 10% on cost. (15x3=45)
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SIXTH SEMESTER B.COM. DEGREE EXAMINATION, MAY 2017
SERVICES MARKETING ‘

Be3ny Spoets FoD
‘Paper — IV (Elective Paper-Revised)

~ ~e: 3 Hours] [Max. Marks : 80

Instructions : 1) Attempt all Sections, according to Internal choice.
' 2) Q. No. 13 (Case study) is Compulsory.

RRET: 1) So30F Gj’aiog/fﬁf oplef~>lor) SDGITTED VFOX0,
2) BRTFDZIHEOD 867 QT FEFIAL.

SECTION-A (10x2=20)
i — A

~~swerany ten of the following questions:
397 3emT 3 BINN YUg0OR0:

* a) Give two features of services.
=TS QT U £ONPRI SYRD.
o1 Define services marketing.
%e53 TRoLs T30 e VR0
c) Give the'meaning of CRM.
@8 B0eeE a"osdm@aﬁ DOTITER?
d) What is services triangle ?
=35 §F0es otierd 2

[P.T.O.
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e) What do you mean by services quality ?
REETD IR, POTIER 9
f) What is services pricing ?
Fe530 233 QP TR 0TWTERD ?
g) Mention any two requisites of a good brand.
29,020 0053030 TTO BRI BENE2, 280,
h) Mention the stages in the Services Life Cycle.
AeeI BT W %o:%ﬁ%%& TROO.
i) What is meant by electronic channel of distribution ?
- DTLTYS ST RN 0T ?
j) Define services promotion.
Reew FRSFBOR T ETIR0.
k) What do you mean by competition based pricing ?
R 008 S GF 08 DOTIBED ?

. ) Whatis outsourcing ?
SRoMIER QOTITEZD ?

SECTION-B
oen —-B

Answer any 3 of the following questions :
3 BINT 03N Te ST @éﬁ@ﬁ SUZORD

- 2. Distinguish between services and products.
RSNy 08 WAINY SRR @oédﬁﬁg{ [Nelovilel

3. Explain in brief reasons for growth in services marketing.

A0 WINTE T38,03500 B¢ReIriod Eadsaﬁ%ﬁdgt #o%w@fmﬂ QTOO.

(3x5=1
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= Explain in brief the stages in New Services Development Process.
TRT D& FeaSodd eﬂ?pag@@wo &oéﬁ%ﬁﬁi QROO,

5. Explain the benefits and challenges of Franchising.
F30R0NS wmmeéﬁ%ﬁdg{ Gepiato) @mdsm@én’@@i&)dma

5. Explain the importance of Services Quality.
RGN ﬁasado@i;j a’p%@aﬁﬁi DO,

- Explain briefly the objectives of pricing.
83 AP T wciezﬁr’ﬁﬁdi ﬁo@fmﬂ RTORY.

SECTION-C (3x15=45)
R ~C
Question No. 13 is compulsory (Case study). Answer any two of the
remaining.
= RERTROD B3 e 0hTNEITE,. SO NeoD tiess o g TN TR0,

8. Define marketing of services and explain the characteristics of services.

5) =30 SRoew T 0000 539,559,298 TR Fesine OTEIIR DT[ORD.

9. Explain the stages of service development process.
B at @@%cho ONY aﬁoérf%fdi DTWORO. '

0. Explain the various pricing strategies in services marketing.
%Y BROTE BYRREE oI g odeh éo@ﬁ@@ DO/,

11. Explain Services Life Cycle with a neat diagram.
30 Bew zs’gddi RE SetaiclelalsfiNverte)




3456 F11-visC—R-m—-17  -a [ A R A O TR ||I|J

12. Explain the factors influencing customer behaviour in services marketing.
BeTrid RPTHLEE) MR EIC SBRPECD Hoed Feom Wedoss eoBrvd) HFHOR0.

13. Case study :
BB0ED L 03T :

You have launched a new telecommunication company. What are the
unique services you would like to offer to the public and also state the
advertising strategies you would like to adopt.

265 2,00 TR BOTRNIEBS BOTICHR TRAEKD. F2060 D) 0395 OIS
é)é;-’% ';3@537{@5532( TR WITON DEBLD WAL O O3 O3T9E3 2908CTER
P03y LRIRORLODRIGED.

——— — -
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SIXTH SEMESTER} B.COM. (REVISED) DEGREE EXAMINATION,
- MAY 2017
INCOME TAX LAW AND PRACTICE - II
Time : 3 Hours] ‘ [Max. Marks : 80

Instructions : 1) Answerall questions with the strict observation
of inner choice meach Section.
2) Use of simple calculator is allowed.
3) Question 13 case study analysis iscompulsory.

SECTION-A

1. Answer any ten of the following : -
a) What is short-term capital gain ?
b) Give formula for calculating indexed cost of acquisition.

c) Give any fourincomes generally chargeable under the head Income
from Other Sources u/s 56(i).

d) Who can claim deduction u/s 80 D and how much ?
e) What is adjusted gross total income ?
f) What do you mean by tax-free commercial securities ?

g) Howdo you treat the following donations given by an individual u/s 80 G ?
i) Books worth Rs. 10,000 donated to an approved college. -
i) Donation of Rs. 25,000 given to National Defence Fund.

h) How do you treat the share of income received by an individual from
Hindu Undivided Family ?

i) State any two permissible deductions allowed u/s 80 to Firm.

j) What is set off of losses ? '

k) Name any two income tax authorities.

) Expand PAN and TAN. (10x2=20)

[P.T.O.
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SECTION-B

Answer any three of the following :

2. Mr. Basavraj had purchased a residential house for Rs. 2,32,000 in

1983-84. On 15! August 2015 he sold this house for Rs. 27,00,000. He
purchased a new residential house for Rs. 5.00.000 on 15-3-2016.

The Cost Inflation Index for financial years were 1983-84 — 116 and
2015-16-1081.

Compute his taxable capital gains for the AssessmentYear 2016-17.

. Mrs. Shruti submits the following information for the PreviousYear2015-16.

a) Income from salary Rs. 90,000.

b) Loss from self occupied property Rs. 40,000.
¢) Business loss Rs. 1,00,000. _
d) Income from interest from Bank Rs. 50,000.
e) Winning from lottery (net) Rs. 35,000.

- Compute her gross total income for the Assessment Year 2016-2017.

_ Mr. Anil's investment for the Previous Year 2015-2016 were as follows.

a) Rs. 20,000 9% Govt. securities.

b) Rs. 40,000 12% municipal debentures.

c) Rs. 1,50,000 10% debentures of Textile Mill Company Lid.

d) Rs. 80,000 10% Preference shares in Indian Company.

e) Rs. 50,000 10% fixed deposit of State Bank of India.

The Bank charges Rs. 400 as commission for collecting interest.
Mr. Anil paid Rs. 500 being interest on loan taken for the purpose of
buying debentures of Textile Mill Company Ltd. Compute his Income
from Other Sources for the Assessment Year 2016-2017.
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5. From the particulars given below, calculate the amount of deduction
allowable in the case of following individuals under Section 80 C.
Mr. Arun  Mr. Ashok

Rs. Rs.

Life Insurance premium paid .
On own life 20,000 30,000
. On brother’s life , 10,000 8,000
On wife’s life 15,000 -
Contribution to Public Provident Fund 24,000 16,000
Repayment of housing loan 70,000 25,000
Payment of daughter’s tuition fees 20,000 30,000

6. Ramesh and Mahesh are working partnersina prdfessional firm, sharing
profits and losses in the ratio of 3: 2. The Profit and Loss Account of the
firm for the year ended 31-3-2016 showed a net profit of Rs. 19,500 after
charging the following.

a) Interest on capital at 14%
Ramesh Rs. 10,500
Mahesh Rs. 10,500

b) Salary to partners
Ramesh Rs. 67,500
Mahesh Rs. 67,500

Compute the Professional Income of the firm for the Assessment Year
2016-2017.

7. Describe briefly the powers of Income Tax Officer. (3x5=15)
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SECTION-C

Answer any three questions. Question No.13 is compulsory.

8. From the following information furnished by Mr. Vijay compute his capital

gains for Assessment Year 2016-2017.

Particulars ' Residential Jewellery Non Listed
House shares
| Rs. Rs. Rs.
Cost of acquisition 10,00,000 12,00,000 2,00,000
Year of acquisition 1972-73 1969-70 1993-94
Cost of additions 2,00,000 200,000 1,00,000
Year of additions 1977-78 1979-80  2004-05
Cost of improvement 1,40,000 76,500 -
Year of improvement 1986-87 1985-86 -
Selling expenses 20,000 - 5,000
Sales proceeds 1,55,09,800 1,50,62,500 15,48,000
Year of sale 2015-16 2015-16  2015-16

The fair market value of the house property and jewellery on 1-4-1981 .
was Rs. 12.00.000 and Rs. 14,00,000 respectively.

He has purchiased new residential house costing Rs. 8,00,000 on
3.2-2015. The CostInflationindex were : :

1981-82 : 100, 1985-86 : 133, 1986-87 : 140, 1993-94 : 244, 2004-05:
480 and 2015-16: 1081,

. Shri Rajesh furnishes the following particulars of his income relating to
P.Y.2015-16. :

a) Rs. 20,000 interest on 10% tax free bonds of ‘B’ Ltd.

b) Rs.5,000 Dividend from Tata Ltd.

c) Rs. 8,000 Dividend from Foreign company

d) Rs. 5,000 Dividend from Co-operative Society

e) Rs.2,000 Interim dividend at 10% on shares ofReliance Industries
f) Rs. 30,000 Directors Fees

g) Rs.25,000 Intereston term deposits of Bank
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! h) Rs. 8,000 Family pension amount .
) Rs. 25,000 Royalties from mining (expenses Rs. 3,000)
j) Rs.18,000  Income from letting machinery and furniture
k) Rs. 12,000 Rent received on subletting house (Rent paid Rs. 6,000)
l) Rs.35,000  Winning from lottery (Net)
) Rs.7,000 Winning from card games (Net)
On 1-11-2016 he purchased capital investment bond worth Rs. 60,000
for which he borrowed Rs. 50,000 at 10% interest p.a.
*  Heclaims the following expenses :
i) Collection charges of dividend Rs. 800 (on foreign company dividend)
ii) Interest on loan taken for purchase of shares Rs. 2,000

i) Interest on loan taken for the purchase of capita! investment bond
Rs. 2,000

iv) Repairs, insurance and depreciation amounting to Rs. 8,000 on let
out machinery

v) Loss on card games Rs. 5,000.

Compute Income from Other Sources for A.Y. 2016-17.

10. Income of Vinayak for P.Y. 2015-16 is as follows :

Rs.
Income from salary ' 2,40,000
Income from LOP | ' 1,00,000
Loss from SOP (-) 50,000
Loss from speculation (-) 45,000
Income from business (before depreciation). 3,50,000
Income from capital gain 70,000
Current year depreciation 1,00,000
Stake money received 80,000
Loss from owning and maintaining race horse (=) 60,000

He wants to adjust the following brought forward losses and expenses.
Loss on non speculative business for A.Y. 2013-14 Rs. 1,00,000.
Unabsorbed depreciation of 2010-11 Rs. 1,00,000.

Compute his total income for A.Y. 2016-17.
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11. Vaibhav furnishes the following particulars for P.Y.2015-16. Compute
the allowable deductions u/s 80 from gross total income for AY.2016-17.
His gross total income was Rs. 20,00,000.

1) Life insurance premium paid Rs. 40,000 on the policy of Rs. 1,50,000

" takenon 1-1-2012. '

2) Contributed Rs. 40,000 to public provident fund.

3) Investmentin NSC (VI issue) Rs. 50,000.

4) Paid for LIC pension plan Rs. 40,000.

5) He spent Rs. 70,000 on medical treatment of his widowed sister who
is severely disabled and dependent on him.

6) He had borrowed Rs. 2 00,000 for his son’s higher education 2 years
back and interest on it paid during P.Y. Rs. 20,000.

7) He took insurance policy on the health of his family with a father of
75 years old and paid insurance premium of Rs. 40,000 by cheque.

8) a) Donations to approved temple Rs. 30,000
b) Donations to notified university Rs. 20,000
" ¢) Donations to municipality for family planning promotion Rs. 30,000

12. Mr. Vinay furnishes the following information for P.Y. ended 31-3-2016.

a) He is employed in a private company. During the year his basic
salary was Rs. 25,000 p.m. He received 20% of basic salary as
Dearness Allowance. He also received HRA at 10% of basic salary.

Following were the deductions from his salary.

i) Life insurance premium of Rs. 30,000 on a policy of Rs. 5,00,000
which was issued prior to 1-4-2012.

ii) Professional tax Rs. 200 p.m. '

b) Heis owner of a house consisting of two equal units. He retained the
| unit for his use and Il house is letout ata monthly rent of Rs. 4,500.
The municipal value of the house is Rs. 80,000 and municipal tax
paid is 10% of municipal value. During the year house loan repaid

amounted to Rs. 40,000 which included intereston loan of Rs. 10,000.
The letout unit remained vacant for 2 months.
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¢) His income from other sources were ,
i) Winning from lotteries Rs. 21,000 (Net). A
ii) Interest on Bank term deposits Rs. 10,000 (Gross).
iii) Interest on debentures of ‘X’ Co. Ltd. Rs. 5,400 (Listed).
iv) Dividend from Co-operative Society Rs. 5,000.

He has made following payments during the year :
. 1) Donations to Prime Minister’'s National Relief Fund Rs. 10,000.
2) Forrepairs of notified temple Rs. 8,500.

Compute his total income for A.Y. 2016-17.

13. Case Study (Compulsory) :

X, Y and Z are partners sharing profit and losses in the ratio of 6 : 4 : 2.
The Profit and Loss Account for the year ending 31-3-2016 showed a
profit of Rs. 52,000. Apart from allowable expenses the foIIowmg are
also debited to Profit and Loss Account.

| a) Interest on capital at 15% p.a. A — Rs. 1,800, B — Rs. 1,500 and

| C - Rs. 800.

b) Salary of partners

A —Rs. 20,000, B—-Rs. 14,000 and C - Rs. 26,000
c) Loss from sale of car Rs. 7,000.
d) Depreciation Rs. 8,000. But as per the rules only Rs 7,000 is allowed.

Also the following incomes have been credited to Profit and Loss Account.
a) Bad debts recovered (2 of which allowed earlier) Rs. 6,000.
b) Income from speculation Rs. 8,000.

You are required to answer the following questions for A. Y. 2016-2017.

1) Whatis the total income of the firm when conditions of Sections 184
and 40 (b) are satisfied ?

2) What is the total income of the firm when conditions of Section 184
and 40 (b) are not satisfied ? (3x15=45)

|
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1) S8 R0d, t?wec:bwbmdb@ﬁdfa 10,000,
2) @wdﬁec‘:‘)é dm@pﬁd OFeoron dr. 8,500.

3080 Sar 2016-17 Se 500 @wd'u% STPODTI) I8, T30,

13. w?d?@ @d evors! (5353033 wéé’)
X, Y @585 Z soeorwddd mzﬁm@oﬁsﬁoG 4:2 @a'b“oéd@ BoesRR T,
31-3-2016 © doé'é’ oY TR B8 330633 oR. 52,000 Uazjddo é’mebf«'ﬁ ‘aéd
SBORWTITT 93?,3’39‘7#@} éfad@aﬁ 33 @emmmm R mz’o 3031 DWF

TOTERNS |
a) o3 3e. 15 303 LoBmYE 330 WRA —Te. 1,800, B -dn. 1,500
2023 C - ar. 800. '

b) Toe0meTT Tty
A — 3r. 20,000, B — 3». 14,000 ab@gC — 38n. 26,000
C) T30 BRTILIDOT 3533 Esfelol 7,000.
d) AEP de. 8,000 &5038 AoDeRERed FHTTUR. 7,000 S8 dF EHoRImD.

203030¢ 33 FPNS @moﬁaﬁ%ﬁds&t L3~ TR BB1 I WRBEONG :
a) [T TR INRT B0FoNT Fe (12 T2 B4 8008 L5, TRBERNE)
or. 6,000.
b) RzyJesm* R WH2OT &0 Sre. 8,000.

2016-2017 300305 AR F000QR303 33 39N 3ron LugoRD.
1) 300184 233240 (b) 009 T Duodéﬁeiabeg@@vd@ 243D SSTRODEED?
2) 00184 E.'i)?b 40 (b) o0, @@Nd E’O&)Odﬁﬁ%’f&b o@dm@) @w@@d@
23, eﬁmcdod%o ? (3x1 5=45)
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SIXTH SEMESTER B.COM. DEGREE EXAMINATION, MAY 2017
’ ECONOMICS
Industrial Economics (Revised)

Time : 3 Hours] o [Max. Marks : 80

Instructions : 1) Allsub-questions should be answered atoneplace
continuously. )
2) Answer to all Sections should be written in the
same answer book.

Rpeidis: 1) e U I eode 5F it eca0
| 2) e DY NWFONIT) ol WFT TEFDS
200200, '

SECTION-A
TIN - &

|. Answer any ten of the following questions in 2-3 sentences each.
FINSINTS_ @’éoﬁmodﬁrﬁza mgﬁejoé R TREAR Y @’%ﬁ@ﬁ SVUBORD.

a) Give the meaning of Industrialization.
Efanlelsisioe @tﬁrdﬁg{ 3RRO.

b) State any two MNC's in India.
PRTBTOT CIRYTTAR TR WEBITDE 0K AN 3920,

c) Give the meaning of Joint Sector.
BRBRIBLOIT 235 e&D.

d) Expand BRD.
BRD 35032 2030000.

[P.T.O.
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e) Whatis Industrial Location ?
Ljapter:s :’gﬁ Qe BT 0T3O ?

f) What is Industrial Policy ?
10050 Ded Q0T ?

g) Mention two features of Small Scale Industries.
W, 3008NY 0O OFLANET 39RO,

h) Expand ICICI.
ICICI %03 80D,

i) Mention two internal sources of Industrial Finance.
Eaplen) TEITORT OINET)TINTITR DT €3030F dmer{e}@( EPD.

i) What are Ubiquities ?
RO EB ROBNTO Oy 7

k) When was SFC established ?
SFC c3neen amsmsesmnengd ?

[) What do you mean by Industrial Growth ?
300 3FTeIR DOTITER0 ? ’ (10x2=2C

SECTION-B
TN - W

lI. Answer any three of the following :
 3INSINGS) Wewos ot @%ﬁ@ﬁ QVUBORD :

1) Explain the need and importance of Industries.
%ma@r{e} eﬂr{a; 083 abab’:i SPR0.

2) Discuss the role of MNC’s in India.
ADIOINIY uaﬁom%eoda FODING T, S0,
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3) Describe the factors influencing industrial location.
30T B¢ A ¢S Boe B WesH e03rT) Bedr 0.

@ )
4) Explain the problems of Small Scale Industries.
w3, EMROTNG RSIRNFS) WORD.

5) Write a note on Industrial Policy of 1956.
19563 grodse 2ed0% s30eeS £3:¢3 253020,

6) Examine the functions of IDBI in India. |
yo0esd) IDBIT i:facﬁas'ﬁ%;?sgL TVOCBRD. (3%5=15)

SECTION-C
PN -7

lll. Answer any three of the following. Question 12is compulsory.
FFNSYNTE) 236500 e @%ﬁ@ﬁ Spciertol a;ez 12 Fm0855N3.

7) Critically examine Weber’s theory of Industrial location.
SWO TR0 oo Y QT ITT %a%oéddgl QT0TFFFTON TOSRO.

8) Discuss the role and problems of Public Sector industries in India.
PRUBTE Ao WA SO w@dm@ 0T BB ﬁsﬁax’éﬁeﬁ@t 2323 0.

9) What is Industrial Finance ? Explain the various sources of Industrial’
Finance in India.

3M00% TSR NOTTERO ? YOTUBHY, FMo0TD HEFTIRD ALY MQWQ
DWORD.

10) Explain the progress and problems ofASugar Industries.
#§6 %m@éﬁej TS TR ;‘v’dm;ﬁ%iaigt QWORD.

11) Critically examine the Industrial Policy of 1991.
19913 37m00%0 Dededm) DTRoTOF ZBemoN DTORD.
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12) Caselet : Location or localisation of industries, simply means the
concentration or centralisation of industrial units in a particular area
or at a place due to the availability of certain facilities. Alfred Weber
advocated deductive theory for localisation of industries but Prof.
Sargent followed the inductive-analysis in formulating the causes of
industrial location and has used two new statistical concepts viz.
(a) location factor (b) co-efficient of localization to observe the
relationship between distribution of industries and occupational
distribution of population.

Questions :
1) What is meant by localisation of industries ?

2) State the difference between deductive and inductive theory of
localization of industries.

3) What are the statistical devices which are used by Prof. Sargent ?
4) What are the two methods used in the theories of Industrial location ?
28 QTR 2,000 AOFF) 5@%3@” I OFH BTeBTE Fwsdpord DS
RBOBING LY Z0D ERleIA AN TEIBNY eoy LETER[R BOFaN
Cfanten) '-’%3 QTier 3 L APETTD @d@w{a@m SN Noderiew
E’Oﬁdod ébcswdab Canterials "%3 aderzﬁﬁé’ BTG, BT —aurow
PRV TR E m@a ;)’%3 T es‘ézdd @dsar{eéab dz?wd@ ETONBOT DBER
IROROXTIVT 53333 @dda 37;@5330&3@ @m@éﬁe} éb:a’dsa Tone usfuo@j
S Este ébéds@mﬁ SEIF Fowor DeFLO TR TFB0DTT A08Y 5
B0 BINPTOTT ( ©2) %@5 QTIeF TS ©0g 2 (W) ;w;@e%dsad rbsaér{%ﬁ&l
LFRTIT.
BBrisd:

1) gmoow N@eézﬁsa QOTTEZ0?
2) % noow N@eﬁdwd NI 353 9N @mdﬁ%ﬁ SRB [EYR TePO.
3) TRE LT RIS TR WIRT Z0EL), T 3003TSNOR)I) ?

4) 3o Neﬁ QTer TS Nmo:a’mfe‘) w%d QO LTOINR C3NR)Y) ?
(3x15=45
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SIXTH SEMESTER B.COM. DEGREE EXAMINATION, MAY 2017
BUSINESS LAW
(Revised)

Time : 3 Hours] [Max. Marks : 80

Instruction : Attemptall Sections according to internal choice.

SECTION-A

1. Answerany ten of the following : (10x2=20)
a) Define the term ‘Business Law'.
b) What do you mean by ‘Misrepresentation’ ?

c) State any four relationships where there is presumption of undue
influence.

d) What are reciprocal promises ?
e) What is Actual Breach of Contract ?
f) Who is a sub agent ?
g) Write the definition of ‘pledge’.
h) What do you mean by the term ‘Defect’ ?
i) Who is complainant ?
" j) What is restrictive trade practice ?
k) Give the meaning of ‘Enterprise’ as per Competition Act, 2002.
) Whatis ‘Turnover’ under Competition Act, 2002 ?

SECTION-B
Answer any three of the following : ~ (3x5=15)

2. Define ‘Offer’ and explain when it Iapses.

3. What is a ‘Contract of Guarantee’ ? What are its features ?

[P.T.0.
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4. Who is an Agent ? Describe any five duties of an Agent.!

5. Distinguish between Contingent Contract and Wagering Agreements.
6. Give the composition of ‘District Forum’.

2 Write down the salient features of Competition Act, 2002.

: SECTION-C
Question 13 is compulsory. Answerany twvof theremaining. (2x15=30)
8. Define the term ‘Contract’ and explain its classification (types).
9. Write the de;ﬁnition of ‘consideration’ and describe its essentials.
10. Describe various Consumer Protection Councils.
11. What is a ‘Contract of Agency’ ? How it is created ? Explain.
| 12. Bring out and discuss ‘Remedies for Breach of Contract’.

13. Case study (Compulsory): (3%5=15)

a) Akshay sees Sonakshi drowning in the river and saved her. Later,
Akshay demands Rs. 10,000 from Sonakshi for saving her life but
she refused to pay. Can Akshay sue Sonakshi ? Support your answer
with reason.

b) Y wins a bet of Rs. 25,000 against Z in the one day match between
India and England. Z refuses to pay. Can'Y approach the Court ?
Justify your answer.

c) A agrees to sell his house worth Rs. 35 lakhs to B only for Rs. 12
lakhs. Is the agreement valid ? Give reasons.
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j s;g{:s eaﬁug
ottt TR0

R0233: 03T SODDROETIN SeR, DT o

QNPIN— D

1. Bemn Y, QUBOD : (10x2=20)
a) SE, 9, 0T 239,83, 3RRD.
b) 3%) 2TRETE omSed ?
C) 2RI TFPs BROOTWRITT LY BOWOGNER), 890,
d) STo3F e FMFMED ©0mS CIRFYP 7
e) LT BZT LV 0P 203Be ?
f) eVTBIODF LD 0T3S 033030 ?
9) NOD 2T3 559,83, 8RE0.
h) BreR 2oEdesd ?
i) 3R ZRBHE ©90md 0333 9
j) B3R TO B8 DO ?
k) pee3otd 530, 2002 S &R0, urE) ;ﬁoz’é;oja e953F BREO.
1) e3peesosd IR, 2002 T RN, #TTS BRZ D0mBeR ?

QLION — W

Wewow S0RTE, SUBORD : (3x5=15)
2. TR Q0BT 7 T CkRER SrRNRZE 9 DBORD.

3. ETHOF R0TTE ? 9T e)ﬁfaﬁ@z\'ﬁ% 2020,

4. TTLIO 0BT 03RTY 9 9533 2T ééra%ﬁ#dg( QWO

5. RHOPIBREOD LWOT B AT LBOT AINY SRS B3 [BYRNIS)
W3O,
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6. B, e0E TS BRR0. '

7. FRpers SR, 2002 8 OBLANIR) SPRD.

QYIN =2

ge; 13 F2080mN3. f&d}f&dq)r{@@m ¥IeTs TEE, VZORD. (2x15=30)

©

©

10.

11.

12.

13.

2TOT VTRTES B, WTO @adﬁ?@ DWORD.

BEPOT T3, 8P, BT WRBFEINTY QWORD.

QNG TS T80 BOWONTRY, DO,

LTS LI 0BBeRd P BT, BRI DGOSNTR), WO,
LEDOT YOQOTPHOI a’@mcﬁmmoﬁaﬁ%ﬁi S e)

smeh Y (Case study) | (3x5=15)

a) B AReTS,VOTY, ROWNIPYHI), Seed SOF) 230NN 0T
TR0 BRWITE. F0TT, 9 m%céa%ﬁ dn. 10,000 r{eddg{ Feshzss. Sinte]
T T BRTWED TIBOROTY. egwam £933%3 ébdvcé) 308 BRTLIBITIC ?
09 SPRO.

b) ‘Y’ 2000BBRZ’ S QDT 3008 WY BT BT BRI T
TR B, Tr. 25,000 7 20w ROmS. B8 7' > Beo pmed
DOVBORTT, Y’ R ‘2 B I, s BRWWBTe 7 RIPFRO.

¢) ‘A’ 33 35 ©F TR0 8388 SRRy, ‘B’ A desew O, 12 03
3RO LRATITYS. B3 LEOWRFOI0 NRF B3¢ ? F0LD 3P0.
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SIXTH SEMESTER B.COM. DEGREE EXAMINATION, MAY 2017
MANAGEMENT ACCOUNTING - IV

(Revised)
0 ‘
) Time : 3 Hours] [Max. Marks : 80

Instructions: 1) Attempt the questions according tointernal
- choice. ‘

2) Non-programmable calculator may be used.

SECTION-A

1. Answerany ten of the following :
a) State any two objectives of Management Accounting.
b) What is Management Accounting ?
c) Whatis B.E.P. ? |
d) Whatis contribution ?

e) Fixed Assets Rs. 8,00,000, Working Capital Rs. 2,00,000, Cost of
goods sold Rs. 40,00,000, Gross Profit Rs. 8,00,000. Calculate capital
turnover ratio.

f) Whatis Fund Flow Statement ?

g) State any two uses of Fund Flow Statement.
h) What is investment activities ?

i) What is meant by ratio ?

j) How to improve P/V ratio ?

k) Give two examples of cash outflow from financial activities.

: [) State two differences between Fund Flow Statement and Cash Flow
A Statement. (10x2=20)

[P.T.O.
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SECTION-B
Answer any three of the following :
2. Explain the functions of Management Accounting.

3. Calculate Debtors Turnover Ratio and Average Collection Period in days.

Rs.
Opening Debtors 1,20,000
Opening Bills Receivable 60,000
Closing Debtors 20,000
Closing Bills Receivable 40,000
Total sales 2,20,000
Cash sales 40,000

4. From the following information of X Co. Ltd. calculate :
a) Current Assets
b) Quick Assets
c¢) Inventory (stock)

Current Ratio—-3: 1
Liquid Ratio—-2: 1
Working capital is Rs. 1,20,000

5. From the following information, calculate cash from operations :

Particulars 2015 2016
Rs. Rs.
Profit and Loss Account 15,000 68,000

Sundry Debtors 30,000 34,000
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Bills Receivables - 26,000 21,000

. Stock | 34,000 50,000
Creditors : 17,000 20,000
Bills Payable 3,000 10,000

Additional Information :
i) Goodwill written off during the year Rs. 8,000.
i) Depreciation charged on the assets Rs. 10,000.

6. The following information relates to the product ‘X’ of acompany :
Selling price per unit Rs. 30
Variable manufacturing cost per unitRs. 17
Variable selling cost per unit Rs. 3
Fixed factory overhead Rs. 1,50,000
Fixed selling cost Rs. 30,000

Calculate :
BEP in amount and units.

7. From the following Statement of Assets and Liabilities of ABC Ltd. you
are required to prepare a Schedule of Changes in Working Capital.
Statement of Assets and Liabilities

Particulars Note 31-3-2015 31-3-2016
Amount Total Amount Total
(Rs.) (Rs.) (Rs.) (Rs.)

1) Equity and Liabilities : |
1) Shareholders fund :

a) Share Capital 1 3,40,000 - 3,40,000 -
b) Reserves and
Surplus 2 9,000 3,49,000 58,000 3,98,000
2) Current Liabilities :
Trade Payables 3 ~ — 65,000 - 80,000

Total 4,14,000 4,78,000
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if) Assets :
1) Non-current Assets :
Fixed Tangible

Assets 4

2) Current Assets :

Inventories , 5

Cashandcash

equivalents 6

Total
Notes to Accounts
Note—1 Share Capital

<4~ {0 0 0 A

_ 296000 - 336,000
36,000 - 28000 - -

82,000 1,18,000 1,14,000 1,42,000
4,14,000 4,78,000

2015 2016

3,40,000 3,40,000

Total 3,40,000 3,40,000

Note—2 Reserves and Surplus:

Profit and Lpss

Note—3 Trade Payables:

Creditors
Bills Payable

Note—4 Tangible Assets:

Building
Plant

Note—5 Inventories:
‘ Stock

Note—6 Cashand cash
- equivalents
Bank
Cash

- 9,000 58,000
Total 9,000 58,000
18,000 10,000
47,000 - 70,000
Total 65,000 80,000

2,00,000 2,00,000
96,000 1,36,000
Total 2,96,000 3,36,000

36,000 28,000
Total 36,000 28,000
16,000 36,000
66,000 78,000

Total 82,000 1,14,000
(3)(5:1 5)
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SECTION-C
Answer any three of the following including question 13 which iscompulsory:

8. Discuss the similarities and differences between Financial Accounting
and Management Accounting.

9. From the following information relating to Roopa Ltd.

compute :

a) Currentratio

b) Liquid ratio

c) Gross profit ratio

d) Operating cost ratio and
e) Net profit ratio

} Rs.
Stock 50,000
Creditors 60,000
Debtors 40,000
Bills payable 40,000
Bills receivable 10,000
Net sales - 7,00,000
Advances 4,000
Bank overdraft 4,000
Cash 30,000
Gross profit 50,000

Net profit 30,000
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10. From fhe following Statement of Assets and Liabilities of Naveen Ltd.
Dharwad, prepare Fund Flow Statement. '

, Statement of Assets and Liabilities
Particulars Note 31-3-2015 31-3-2016
Amount Total Amount Total
(Rs.) (Rs.) (Rs.) (Rs.)
1) Equity and Liabilities: ‘
1) Shareholders Funds:
a) Share Capital 1 1,00,000 - 1,20,000 -
b) Reserves and
Surplus 2 30,000 1,30,000 31,000 1,51,000
2) Non-current
Liabilities :
Longterm
borrowings 3 — 20,000 — 10,000
3) Current Liabilities :
i) Trade payables 4 9200 - 6200 -
ii) Shortterm '
provisions -5 16,000 25,200 18,000 24,200
Total 1,75,200 1,85,200
I} Assets:
1) Non-current Assets
a) Fixed Assets

i) Tangible
Assets 6 77,000 - 72,000 —
ii) Intangible '
Assets 7 12,000 ~ 12000 = -
b) Non current '

Investment 8 30,000 1,19,000 31,000 1,15,000
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2) Current Assets
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i) Inventories 9 30,000 - 23,400 -
i) Trade .
Receivables 10 19,600 - 31,600 -
i) Cashand cash
equivalents 11 6,600 56,200 15,200 70,200
Total 1,75,200 1,85,200
Notes to Accounts 2015(Rs.) 2016 (Rs.)
Note—1  Share Capital 1,00,000 1,20,000
Note—2 Reserves and Surplus:
| General Reserve 14,000 18,000
Profit and Loss 16,000 13,000
Total 30,000 31,000
Note—3 Longterm borrowings: :
Debentures | 20,000 10,000
Note—4 Tradepayables:
S. creditors 8,000 5,400
Bills payable 1,200 800
| Total 9,200 6,200
Note—5  Short term provision : T T
Provision for tax 16,000 18,000
Note—6 Tangible Assets: T T
Buildings 40,000 36,000
Plant - 37,000 36,000
Total 77,000 72,000
Note—7 Intangible Assets: " |
Goodwill 12,000 12,000
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Note-8  Non-currentinvestments :

Investments (long term) 30,000 31,000
Note -9 Inventories:

Stock 30,000 23,400
Note—10 Trade Receivables:

Debtors ' 17,600 18,400

Bills Receivable - 2,000 13,200

| | Total 19,600 31,600

Note~11 Cash and cash equivalents

Cash at bank ' 6,600 15,200

Additional Information :
a) Depreciation on plant 6,000 and on building Rs. 4,000.
b) Tax paid during the year 2016 was Rs. 20,000.

11. The following figures are obtained from the accounts of “Goldstar Ltd.” -

Year Sales Profit/Loss
(in units) Rs.
2015 4000 5,000 Loss
2016 ~ 6000 5,000 Profit
The selling price per unit can be assumed to be Rs. 20.
Calculate :/
a) P/V ratio

b) Fixed cost

c) Breakeven sales

d) Profit at sales Rs. 2,00,000

e) Sales to earn a profit of Rs. 30,000.
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12. Following is the Statement of Assets and Liabilities of Mama Ltd. as on

| 31 Dec.2015and 2016 :

Statement of Assets and Liabilities

Particulars

) Equity and Liabilities :

Note

1) Shareholders Funds:

“a) Share Capital
b) Reservesand
Surplus
2) Non-current
Liabilities : |
Longterm

borrowings

3) Current Liabilities :

a) Trade payables
b) Shortterm
provisions

Total

31-3-2015
Amount Total
~ (Rs) (Rs.)
300000 -

75,000 3,75,000

85.000 -

52,500 1,37,500

5,12,500

31-3-2016

Amount

(Rs.)

3,80,000

1,45,800

90,700

75,500

Total

(Rs.)

'5,25,800-

70,000 -

1,66,200
7,62,000
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Il) Assets :

1) Non-current Assets :
Fixed Assets
Tangible Assets 6

2) Current Assets :
Inventories
Trade Receivables 8
Cash and cash

- 3,20,900

82,400 -
75,000 -

34,200 1,91,600

equivalents 9
Total
Notes to Accounts
Note—1  Share Capital:
Equity share capital
Note—2 Reserves and Surplus:

General Reserve
Profit and Loss

5,12,500
2015
(Rs.)

3,00,000

45,000
30,000

Total 75,000

85,000

52,500

Note—3 Longterm borrowings:
10% debentures
Note-4 Trade payables :
‘S. creditors
Note—5 Short term pkovisions L
Provision for taxation
Note—6  Tangible Assets:

Plant and Machinery

3,20,900

95,700
85,500

ST A

- 5,36,500

44,300 2,25,500

7,62,000
2016
(Rs.)

3,80,000
65,000

80,800
1,45,800

70,000

90,700

75,500

5,36,500
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Note—7 Inventories :

Stock 82,400 95,700
Note—8  Trade Receivables:
| Sundry debtors 75,000 85,500
’ Note—9 Cash and cash equivalents:
Bank 34,200 44,300

Additional information :
Depreciation on plant and machinery Rs. 1,11,200
Prepare Cash Flow Statement.

13. Case study (compulsory):

Raju Ltd. has a plant which produces two types of products namely
A and B. Following information is given to you for each unit of product.

H Particulars Product ‘A’ Product ‘B’
(Per unit) (Per unit)
Rs. Rs.
Sales price : 80 100 i
Raw material (Rs. 10 per kg) 20 40 E
Direct wages (Rs. 4 per hour) 28 20 f
- Variable overhead (Factory) 3 8 ‘
Variable overhead
(Administration and selling) 1 | 2

Total fixed overhead Rs. 1,20,000.
a) State which product is preferable if material is in short supply.
b) State which producf is preferable if labour is the key-factor.

c) State which of the following sales mix will you recommend :

Product A Product B ;
Sales Mix — | 5000 units 3000 units 1
Sales Mix = lI 3800 units 4000 units
Sales Mix — Il 5800 units 2500 units (3x15=45)
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1. et =g Gugor0:

a) JTFBHF STTAL RRFTIDTTR TR OTIEBNFR) SPRO.

b) REFEE SgTAFTdE?

C) RRTIP WO OTTEI ?

d) 3R Qowdesd ?

6) 43 w0 0%.8,00,000, BORAHOR Lo@m 8n. 2,00,000, AR
ROBONS dzg’d d.40,00,000, 553,90 923 5. 8,00,000. 2008 533
SRR, SgT0t0.

f) QB wBoRES worderd ?
| 0) R0 BOSTED CINPTITAR FBR SUBEIREIIR) SO0,
h) ﬁao@acmzbas ?,Sésadés% QOTTEI ? |
i) @306 0B3ed ?
J) oood/@n0ee neg T wEivee BT B¢ ?
k) Teom0i3230808rYE) SNt BRTHERETDRN OIRFTRTEER O NUEHETR AR R,

) 23 dosEy Ro8) S ORTHY SRONT HOE FFRTR) 9%0.
- (10x2=20)
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330 m:se& emgaf%a :
2. AT @ga#@ o] aaodarr{e}dl QDWOXD.

3. 39 DeahR SRkl SEeod e widsd minth RIS RIS E
RO TEOI0ES L) BT &BOWD (DINTE) )

3.
5T0EE OTPTD 1,20,000
sOoiBuodg oane> 60,000
BRICD FOMOTT 20,000
gm0t 10088 BooRrH: 40,000
20630 BT 2,20,000
ARG BT 40,000
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SIXTH SEMESTER B.COM. DEGREE EXAMINATION, MAY 2017

INDUSTRIAL RELATIONS (Paper — IV)
~(Elective Paper — Revised) (Group C and D)

Time : 3 Hours] | [Max. Marks : 80
Instructions : 1) Answer all questions according to internal choice.
2) Question 13 is compulsory.
SECTION-A
1. Answer any ten of the following : (2%x10=20)
a) What do you mean by industrial relation ?
b) Mention two parties to industrial relation.
¢) Mention two objectives df ILO.
d) Expand NTUF and AITUC.
e) Mention two problems of trade unions.
f) Give the meaning of collective bargaining.
g) Mention two objectives of collective bargaining.
h) What is strike ?
i) What do you mean by industrial disputes ?
j) Define workers participation in management.
| k) What is informative participation ?

l) Mention two uses of quality circle.
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| SECTION-B
Answer any three of the following : : (3x5=15)
What are t_he objectives of industrial relations ?
How to develop séund industrial relations ?
What are the measures that can strengthen the trade union movement in India ?
Mention importance of collective bargaining.

Mention main characteristics of workers participation in management.

N o o AW N

What are the forms of industrial disputes ?

SECTION-C _
~ Answer any three including guestion 13 which is compulsory : (3x15=45)
8. Explain the scope and approaches to industrial relation.
9. Give description of industrial disputes in India. '
10. Explain different forms of workers participation in management.
11. Explain‘trade union movementin India.

12. “Quality circle leads to progression of the institution”. In the light of this
statement explain its importance.

13. Case study question (compulsory):

Wallchand company having 3000 workers is a pioneer in manufacturing
valves. Its workers are complaining about many inconveniences since
many months. They donot want to go on a strike as it makes them to
forgo their wages for which their economical condition doesnot fit. In the
backdrop of this situation answer following questions :

a) How far collective bargaining is a remedy for this situation ?

b) What are the bargaining strategies ?

c) What are the objectives of collective bargaining ?
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SIXTH SEMESTER B.COM. DEGREE EXAMINATION, MAY 2017
PRINCIPLES OF FOREIGN EXCHANGE - Ili (Revised)

Time : 3 Hours] [Max. Marks : 80

Instructions : 1) Answerall the questions subject to internal choice.
2) Question No. 13 (case study) is compulsory.

SECTION-A

1.> Answerany ten of the following : (10x2=20)
a) What is foreign exchange ? '
b) Whatis OTC ?
) What is Direct Quotation ?
d) Whatis Forward Réte ?
e) Name the types of Exposure.
f) Whatis Hedging ?
g) Whatis Exchange Rate ?
h) What is Fixed Rate ?
i) Expand:
a) FEMA
b) FEDAI.

J) Ascertain forward premium :
Spotrate 1 pound = ¥ 83.50
60 days Forward Rate = T 84.20

[P.T.O.
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k) What is LORO ?

I} Calculate spread percentage
1 Dollar = T 66.80 -3 67.20.

SECTION-B
Answer any three of the following- ; (5x3=15)
2. Explainin brief about Foreign Exchange Market.
3. Distinguish between depreciation and devaluation of currency.
4. Briefly explain the principles of Interest Parity Theory.

‘5. Find the cross rate between .
a) Pound to Dollar
b) Euro to Dollar
c) INR (%) to Dollar
1 Pound=% 84
1 $ (Dollar) = ¥ 66
1 C(EUro) =¥ 70.

6. Explain organisation of FEDAL.
7. Explain the functions of clearing house.
SECTION' -C
Answer any three. Q. No. 1 3 (Case study) is compufsory-. (15%x3=45)

8. What is Foreign Exchange Market ? Explain different functions of Foreign
Exchange Market.

9. What is Exchange Rate ? Explain the factors determining exchange rate.




. 11. Explain different types of participants in Foreign Exchange Market.
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10. Ascertain the Forward Rate for the following :

Currency Spot Rate 30 days 60 days 90 days
£=7 83.60/80 20/30 30/20 40/60
£t=9% - 1.80/90 30/40 20/10 10/40
€C=8 1.20/30 : 30/50 30/20 20/30
¥ =SLKRs. 2.30/40 50/60 30/20 30/40

12. Translate the following Balance Sheet under Historical Rate, Current
Rate and Current and Non-Current Rate method as on 31-03-201 6:

a) Historical Rate 1 $ (Dollar) = T 50
b) Current Rate 1 $ (Dollar) = ¥ 60

Particulars Note Amt. ¥
) Equity and Liabilities |
1) Share holders funds , -
a) Share Capital | 1 5,00,000

b) Reserves ang Surplus 2 2,50,000
2) Long Term Liabilities
Long Term Borrowings | , 3 2,OO,OOOV
(Debentures)
3) Current Liabilities 4 3,00,000
Total 12,50,000

L
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Il) Assets
1) Non-Current Assets

Tangible Fixed Assets 5 5,00,000
Investments 6 2,50,000

2) Current Assets
Inventories : 7 1,50,000
Trade Receivables | 8 1,00,000
Cash and Cash Equivalents 9 2,50,000
' Total  12,50,000

After translating the above Balance Sheet find the profit or loss. 15

13. Case Study (Compulsory)

Namo is importing a machinery of 2,00,000 $ (dollars) from America. Money
payable in dollar after 60 days. Today’s exchange rate is ¥ 66 per dollar.
Namo expects dollar to appreciateto ¥ 68 per dollar.

He enter into a call option deal with his banker on the following terms .
Premium'? 1 per dollar

Strike Price ¥ 67 per dollar

Find out option price if the market price after 60 days is:
a) % 65 |

b) ¥ 69

c) T 67.

Explain your decision in :

1) Inthe money

2) Out of money

3) Atthe money.
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(10x2=20)
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SIXTH SEMESTER B.COM. (REVISED) DEGREE EXAMINATION, MAY 2017
COMPUTER APPLICATIONS IN BUSINESS
(Financial Accounting with Tally)

Time: 3 Hours] [Max. Marks: 80

Instructions : 1) Answerall Sections Subject to internal choice.
~ 2) Question No. 12is compulsory.

SECTION-A
1. Answerany ten questions, each question carries two marks.

a) Whatis Tally ?

b) Mention any two features of Company.
c) Expand ODBC & ERP.

d) Whatis Ledger ? Why it is important ?
e) Define Cost Centre.

f) What is reversing journal ?

g) Mention two types of Units of Measures.
h) Name the fields in Godowns.

i) Whatis rejection-in voucher used for ?
j) What do you mean by Trial Balance ?

k) Define Day Book.

) What is cost categories ? (10x2 = 20)

[P.T.O.




3453 - F08 - VISC - R-M-17 PR I
SECTION-B ’ !
Answerany three questions, each carries five marks. |
2 \What are the hardwares requirement for Tally ERP9 installation ?
3. Explain the fields displayed in the Group creation screen.
4. Explain the steps to create and Alter cost category.
5. Explain any two inventory voucher with example.
6. Explain any five buttons in Button Panel in Trial Balance dialogue box.
7. Explain the steps to create multiple currencies. (3%5 =15)
~ SECTION-C

Answer any three questions, including question number 12, which is
compulsory. Eachcarries15 marks. (3x15 =45)

8. Explain the components of Gateway of T-aIIy ERP9 with neat diagram.
9. Explain the fields displayed in the ledger creation screen with diagram.
10. Whatis group ? Explain predefined groups in Tally ERPO.
11. Describe the steps to display cash flow and funds flow statements.

12. Mr. Kajol Commenced business on 1st August 2015 in-Meenakshi
Enterprises Pvt. Ltd. Journalise the below transactions in tabular form
to identify groups, ledger and vouchers.

1) 1-8-2015 Miss Kajol started business with a capital of Rs. 7,00,000
2) 3-8-2015 She purchased land for Rs. 1 ,60,000 |
3) 7-8-2015 Depositedinto bank Rs. 2,00,000 |

4) 9-1-2016 Loan given to Mr. Ashok Rs. 50,000
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5) 14-2-2016
6) 19-2-2016
7) 23-3-2016
8) 26-3-2016
9) 27-3-2016
10) 29-3-2016

Paid for factory rent Rs. 24,000

Purchased goods for Rs. 38,000 from Mr. Mahesh
Appreciation of land at 42%

Sold goods for Rs. 70,000 and received cheque
Purchase returns to Mr. Mahesh Rs. 3,000

Received commission of Rs. 1 3,000

13. Write a short notes on any three of the following : (3x5 =15)
i) Create a Company in Tally ERP9.
ii) Selectand shutcompany.

iif) Accounting vouchers.

iv) Explain the fields displayed in the budget creation screen.

v) Fields of Unit creation screen.
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B.Com. DEGREE EXAMINATION APRIL 2018.
Sixth Semester
MANAGEMENT ACCOUNTING - IV
(Regular - Revised)

L]

Time : Three hours Maximum : 80 marks

Attempt the questions according to internal choice.

Non-Programmable calculator may be used.

SECTION A - (10 x 2 = 20 marks)

1.  Answer any TEN of the following in two sentences each :
ezl B3P, u3020 3,303,006, HTRBD DELAN LR elocbiol

(2)

(b)

(©)

(d)

0)

Define management accounting.
ISEB0 STZOR T 935 ed.

What is marginal cost?
©OUT 23, S0TTeR?

What is fund flow statement?
R BOTTE, Hordesd?

Write any four techniques of management accounting.
VSeBe S5RT o) ToBTR Do), 3031¢R), WIoD.

What is cash flow statement?
aln$) woaﬁ% 0BBeRO?

What is meant by ratio?
TR0 H0BTeRO?

What do you mean by positive cash flow?
FPeZT BN WS H0BVeR?

Give the meaning of sources of funds with two examples.
TR HLDBTHNSRN ADOD Foper g w3oD.

Write the formula of margin of safety. .
X033 VorHAS BRI, WB0D.

State any four functions of management accounting.
VSEBE STZIRT 0IRZ) W0 Do), FoodENYR), 3920.
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Calculate P/V ratio :

Sales - Rs. 2,50,000

Variable cost - Rs. 1,50,000

0oy I8, BB FoBY HBALD : ‘
S00ts ~ 8. 2,50,000

wTINLT dzaz’d— ow. 1,50,000

From the following information calculate operating ratio :

Net sales Rs. 8,00,000

Cost of goods sold Rs. 5,00,000

Operating expenses  Rs. 60,000

88 39NT I0dbdnon 3IBIVT B0 (operating ratio) 30@) B0 :

K)ZSOU@ SRS dwe. 8,00,000
S00E3 I dzgd - 8w. 5,00,000
6‘9&1)3(—‘%5 dwamfo Swe. 60,000

SECTIONB - (3 x5 = 15 marks)

Answer any THREE of the following :
Wesar Soe0d, U820 :

What are the characteristics of management accounting? Explain.
AIEB eﬁﬁaaﬁp Og:;sam}d?zt AT020.

From the following particulars calculate :

()
(b)
()

P/V ratio
Fixed cost and

Break-even point
I Year : Sales Rs. 30 lakh; Profit Rs. 3 lakhs
Il Year : Sales Rs. 50 lakh; Profit Rs. 7 lakhs

S YRS Id301OW, For)d &BODD :

(a)
(b)

()

Y A, IS0

AT 3w I3

@ a3 -

LI m:\e’da/aaz’s Dot (BEP)

ISP IZe : Soo0e3 Bue. 30 OZNeY; eved B, 3 ogneh
Daecad IR : Iwoets . 50 OFNY; &3 B, 7 oFNe

5]
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Find out the funds from operations from the following :

Rs.

Net profit after tax and appropriations 5,00,000

Transfer to reserve fund 1,25,000 -

Proposed dividend 50,000

Provision for income tax 75,000

Depreciation written off 1,00,000

Profit on sale of fixed assets 50,000

8 3INT In&3NYod FSHeT AP S, (Funds from Operations) 30350020 :
ow.

301t 03 HITH Fo3T ATY ezl 5,00,000

I PN Irerss 1,25,000

TR 237208 50,000

52000037 3018 75,000

R399 i H3B) (written off) 1,00,000

?‘c’ad eANY SPTNT BT Coyd 50,000

From the following information calculate cash flows from investing activities :

Rs.
Profit and loss on 31.03.2017 25,000
Purchase of machinery 50,000
Purchase of goodwill 20,000
Sale of machinery 7,000
Purchase of investments 30,000
Sale of patents 8,000
Interest and dividend received 2,000
Sale of investment 10,000

A building was purchased as investment out of surplus which was let out for
commercial purpose. Rent received Rs. 4,000.

B BINT S&HINY0T BABT 23t0TEIF03 FNBO BRI 0HT), FoBO LBOLD

oy ©5,31.03.2017 Bomb 25,000
003, eTTT R DOED 50,000
RDTID DOCD 20,000
abo2 R, eBTT 0 II0TES 7,000
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ox.
WOBTY I DO 30,000 i ,
ﬁﬁ% '.@d?% SJ00e¢s (Patent) . 8,000 !
2e502T €708 S8y WA ; 2,000
WORTY JINY SoToks 10,000

eudgoh BHDOB, ek, VBTN FLIBIT), DOBIR), BTN, WRN FABRNG. (IHBEND
D0sH FOiesy) Wl wor 263 8. 4,000. |

From the following given information calculate the debtors turnover ratio and §
average collection period :

Total Sales Rs. 6,50,000; Cash sales Rs. 4,25,000; Debtors at the beginning
Rs. 20,000; Bills receivable at the beginning Rs. 17,000; Debtors at the end
Rs. 28,000; Bills receivable at the end Rs. 25,000.

391t QeBTLT B&30 BFITT BoedHt U3, 23031Y BSIET VROTIZ Tore R0IED SR
3D FoR) LBV : ‘

Wwtd), Soooetd Tw. 6,50,000; BRwL Spoets Tw. 4,25,000; 6008 mOMTD §
Ow. 20,000; estodas &)(336& 3008 On. 17,000; dedod &)636& Toorieh . 28,000 wanie
gpdod wdééé dOoRNYO Twe. 25,000. ,

From the following data given below, you are required to prepare schedule of
changes in working capital :

Particulars ' 2016 2017
~ Rs. Rs.
Equity share capital 2,75,000 3,00,000
Long term loans 1,50,000 1,00,000
Creditors 80,000 - 1,25,000
Bills payable 50,000 55,000
Advance received income 5,000 6,000
Plant and machinery 1,75,000 1,50,000
Goodwill ' 40,000 35,000
Long term investments 1,00,000 1,00,000
Stock 1,00,000 1,35,000
Debtors 1,12,500 1,22,500
Bank balance 20,000 32,500

Prepaid expenses 12,500 11,000

(¥ f]

>




A-18

3ried

ind

ng
nd

Al]

5Y

of

R I —————————..

BYNT S0&3nYos, BOBOINS WOBTITLYNIS WHSISFH0D BeJOIOT), 30350020

AIT3

mmwzs Bet0 WoBIY
DEFr 2D Tooned
BIBITVD

mwsa& BoOBNYO
S0oNEIN 208 e
003, eBTT
TR

DeFEIH BRRENYD
30% 8, (Stock)
U3, 5O
239,0389 T JVNWd
S0onE DWOETIYH

2016
ow.

2,75,000
1,50,000
80,000
50,000
5,000
1,75,000
40,000
1,00,000
1,00,000
1,12,500
20,000
12,500
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2017
ow.
3,00,000
1,00,000
1,25,000
55,000
- 6,000
1,50,000
35,000
1,00,000
1,35,000
1,22,500
32,500
11,000

SECTION C - (3 x 15 = 45 marks)

Answer any THREE of the following including question 13 which is compulsory :
33, 130 werteord Bezas Soetd 23ndr ev3d0. I3, 13, Twa0d0meN eu3dRIesd !

Explain the advantages and limitations of management accounting.

VBB STZTIR T SROTAHOINIR), B03) BTBITNOIMNYH), ISOD.

You are given the following data :

2016
Rs.
Sales 1,20,000
Profit 8,000

Find out :

(a) P/V Ratio
(b) Fixed Cost
(c) B.E.P.

(d) Profit when sales are Rs. 1,80,000

() Margin of safety in 2016
(f)  Sales required to earn a profit of Rs. 12,000
(g) Variable cost of the two periods




10.

I

¢ ~ J
4340-F10-VISC-R-A-18

A

81 SINT Sk3nUR), SABEING :

2016 2017
g, .

3I™o2ts  1,20,000  1,40,000

ool 8,000 13,000

B0 HLBAY :

(a) ooy 28 BB0N

(b) 20,

() oo 83,303, Dowd
(d) ©w». 1,80,000 Ssoetsmemen ez

(€) 20163 0§ Do

() GSw. 12,000 &g rivsen InookE ZSPE
(8) -~ 2UBH B3PAY WA I [ih

Following are the statement of assets and liabilities of a company as on
31.03.2016 and 31.03.2017 :

Statement of Assets and Liabilities

2016 2017
Particulars Note Amount Total Amount Total
(Rs.) (Rs.) (Rs.) (Rs.)
Equity and Liabilities '
1. Shareholders funds :
(a) Share capital 1 1,39,000 1,45,000
(b) Reserves and Surplus 2 21,800 1,60,800 24,120 1,69,120
2. Non-current liabilities :
Long term borrowings 3 24,000 12,000
3. Current liabilities :
Trade payables 4 20,000 23,680
2,04,800 2,04,800
Assets : ‘
1. Non-current assets :
(&) Fixed assets :
(i) Tangible assets 5 40,000 60,000
(i) Intangible assets 6 20,000 60,000 10,000 70,000
2. Current Assets :
(a)  Inventories 7 98,400 85,400
(b) Trade Debtors 8 28,400 33,800
(9 Cash and Cash Equivalent 9 18,000 1,44,800 15,600 1,34,800

2,04,800 2,04,800




Notes :
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2016 2017
7 (Rs.) (Rs.)
Note — 1 — Share Capital :
Equit‘y shares of Rs. 10 each 1,39,000 1,45,000
Note — 2 — Reserves and Surplus :
Share premium 1,000 3,000
Profit and Loss 20,800 21,120
21,800 24,120
Note - 3 - Long term borrowings :
Debentures 24,000 12,000
Note — 4 - Trade payables :
Trade creditors 20,000 23,680
Note — 5 — Tangible Assets :
Land 40,000. 60,000
Note — 6 —~ Intangible Assets :
Goodwill 20,000 10,000
Note — 7 — Inventories :
Stock 98,400 85,400
Note — 8 — Trade receivables :
Deb:ors 29,800 35,400
Less : R.D.D. 1,400 1,600
28,400 33,800
Note — 9 — Cash and Cash equivalents :
Cash in hand 18,000 15,600

Additional information :

(a) Dividend were paid totalling Rs. 7,000.

(b) Land was purchased for Rs. 20,000 and the amount provided for

amortisation of goodwill totalled Rs. 10,000.

(c) Debenture loan was repaid Rs. 12,000.

You are required to prepare fund flow statement and statement of changes in

working capital.
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31 JInwte 2016 monw 31 Jwwss 20170 R I BRTMOT dé%do.bai?i s FINToI
QBN :
33 03) BATMOT Te3,
2016 2017
AITNL é3?n;8§ 303 Wk, - 33 20830

e

(Bn.) (Bn.) (Cw.) (Sw.)
mmaizs F03) BeBNRdTN
1. 3c80we00 Y :

(a)  3BedL woBY 1 1,39,000 1,45,000

(b)  Few AP R evdBrish - 2 21,800 1,60,800 24,120 1,69,120
2. w9 200 Bermeddne

Degror 3P meoneh 3 24,000 12,000
3. 9 Bemmdind :

29,00 @3N 4 : 20,000 23,680

2,04,800 2,04,800

AN

1. 2508 208 &3ne:
(8) 2T esaried |
(i)  reewd eyridd 5 40,000 60,000
(i)  ertecss ef,gﬁe}o 6 20,000 60,000 10,000 70,000

2. e end:
(@) wommoned 7 98,400 85,400
(b)  mooMTdH 8 28,400 33,800
() BB F0FY JRB IS0 wosndd 9 18,000 1,44,800 15,600 1,34,800

2,04,800 2,04,800
e :

2016 2017

(5. (S.)

633.);83— 1- 3edo wormey :
mmqs 3Be00 WoB=Y Twe. 10 @301/30556; 1,39,000 1,45,000
B35 - 2 - esen AP B0 sudsaobnieh :

Beth eoodo 1,000 3,000
Y S0R) TR, 20,800 21,120

21,800 24,120
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2016 2017
(Bn.) (0n.)
é.%ﬁdeﬁ -3 - BeFr3D monedd
TOTI N ' 24.000 12,000
3 -4 - 9000 ToI3N :
EId g (o) 20,000 23,680
é.?ﬁc'asﬁ -5- ri)aez&d ARG
PR ' : 40,000 60,000
8383 6 - ertocss e
BOVIS 20,000 10,000
BB -7 - om: o |
ATBY TomBONL 98,400 85,400
e33ed — 8 ~ 33,90 Zf,zeﬁdsrie}o :
TOMTTY , 29,800 35,400
3Y% : F0Z0dRRE ZPONY wiNedd 1,400 1,600

28,400 33,800

I — 9 —  TNRR SFY BRBL F30eE 803N :
Ratad) 18,000 15,600

323755 S90&3
(@) ©w. 7,000 mgs«g ©9yI0033500) FRBSINT.

(b) ©w. 20,000 35003 PRI, ﬁJa%fJeEﬁd S0B) BOWROW W), Swe. 10,000
559%256% FR3IRPIISINT. '

(c) meoT3w SAZITY, 80T Bwe. 12,000 Ho=dreweNs.

T8 BT Idb3nTor A Weome 5é§d S08) BoBAIVT WG zode;a:ﬂé—o’ojod% 30203
5%030&3\2{ 30330020.

The statement of assets and liabilities of Zen Co. Ltd. is as follows :

2016 2017
Particulars Note Amount Total Amount Total
(Rs.) (Rs.) (Rs.) (Rs.)
Equity and Liabilities :
1. Shareholders funds :
(a) Share capital 1 2,00,000 ° 2,00,000
(b) Reserves and Surplus 2  3,92,000 5,92,000 3,96,000 5,96,000
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2016 2017
2. Non-current liabilities :
Long term borrowings 3 1,24,000 1,80,000
3. Current liabilities :
Trade payable 4 . 1,44,000 1,64,000
8,60,000 9,40,000
II. Assets: - '
1. Non-current assets :
) (@) - Fixed assets :
Tangible assets 5 6,00,000 6,84,000
2. Current Assets :
(@) Inventories 6. 1,000,000 88,000
(b)  Trade receivable 7 1,40,000 1,53,600
(c) Cash and Cash Equivalent 8 20,000 2,60,000 14,400 2,56,000
' 8,60,000 9,40,000
Notes to accounts
2016 2017
(Rs.) (Rs.)
Note - 1 - Share Capital 2,00,000 2,00,000
Share Capital 2,00,000 2,00,000
Note - 2 — Reserves and Surplus :
General reserve 2,00,000 2,00,000
Profit and Loss A/c 1,92,000 1,96,000
Reserves and Surplus 3,92,000 3,96,000
Note -~ 3 - Long term borrowings : -
Loan from the company 80,000
Loan from bank 1,24,000 1,00,000
Long term borrowings 1,24,000 1,80,000
Note - 4 — Trade payables :
Creditors 1,44,000 1,64,000
Note - 5 - Tangible Assets :
Land 80,000  1,20,000
Buildings 2,00,000 2,20,000
Machinery 3,20,000  3,44,000
Tangible Assets 6,00,000 6,84,000
Note - 6 — Inventories :
Stock 1,00,000 88,000
Inventories 1,00,000 88,000

10




T .

-18 , 4340-F10-VISC-R-A-18
2016 2017
(Rs.) (Rs.)
,000 Note -~ 7 - Trade Receivables :
Debtors 1,40,000 1,53,600
4,000 Trade Receivables 1,40,000 1,53,600
IOCTO Note - 8 - Cash and Cash equivalents :
T Cash 20,000 14,400

Cash and Cash equivalents 20,000 14,400

000 Adjustments :
(@) During the year Rs. 1,04,000 was paid as dividends.

(b) The provisions for depreciation against maéhinery as on 1.4.2016 was
Rs. 1,08,000 and Rs. 1,44,000 on 31.03.2017.

,000 You are required to prepare the cash flow statement.
000 '
. Be® 503D 03T &3 03 BBMOY S0V B YN0 DedeNt :
‘ 2016 2017
Binie]a L0} 33¢8 B3 Wb 303 wedd

(BR)  (38)  (de)  (de)

—

ma&maﬁs R BRESMOBHL |
1. 3c30we00 I :
(&) 3etd worBY 1 2,00,000 2,00,000

(b)  oemen IR 3y evednied 2 3,92,000 5,92,000 3,96,000 5,96,000
2. 9 208 SesmdIne :
DeFor 3D menw 3 1,24,000 1,80,000
3. ) BeBmdEn _
9T DBN | 4 1,44,000 1,64,000
8,60,000 9,40,000
il AN
L. g 908 eand
(@) AT e3ned
rleees esyrieh 5 6,00,000 6,84,000
2. wd w3
(@)  womaores 6 1,00,000 88,000
(b) @0 263 8ned 7 1,40,000 1,53,600

(

Ke)

IR ) BB 33PT wosney 8 20,000 2,60,000 14,400 2,56,000

8,60,000 9,40,000

11
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w3t e33edned

2016 2017
(00.) (00.)
BRI - 1 - Bedd wormY 2,00,000 2,00,000
MBIT, BeD WOBETY 2,00,000 2,00,000
e33e3 - 2 - 2oesen AP ) BV
S0, A 2,00,000  2,00,000
%3 B, 003 1,92,000 1,96,000

esen AP o sudsacdried  3,92,000  3,96,000

é\gaweé -3 - DeFeS3R mon !

F0ZTAON0TW T . 80,000
m?so%&)oci [O . 1,224,000 1,00,000
DEFIEIH Tooneh 1,24,000 1,80,000

85@83 -4 — méma TORIINYD

FORTO 1,44,000 1,64,000

eBgd - 5~ rlecwss BN

BA2 80,000 1,20,000
e | 2,00,000  2,20,000
BT 08y W03 3,20,000  3,44,000

Roeds eyrs 6,00,000 6,84,000

BBE -6~ DM

OB Wamadoned , 1,00,000 88,000
| AREDIN 1,00,000 88,000

e38g8 - 7 - 29,500 %eﬁdérie;o'

TOMRTTD 1,40,000 1,53,600

masma ,%eﬁdéﬁeﬁo 1,40,000 1,53,600

B3L - 8 - BT R03) FNBO IS WosMey :
s/ 20,000 14,400
SATL S0 VNGB FJE @o3NRYd 20,000 14,400

12
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BROTIIIBNYD :
taj  Ow. 1,04,000 ©225208 Q000 B8 IRF FHABUNG.

(b)  adbode=TO0TN 3359 wBREFBRYRY, IRDOW), oz 1.4.2016 Sowd Be. 1,08,000
S3) Bweos 31.03.2017 Towv Tw. 1,44,000. '

8 BoedT S0&30200T TNBO BT Be3odT), 30359020,

:2. Harsha manufacturing company has drawn up the following statement of profit
and loss for the year ended 31st March 2017.

Particulars ‘ Note No. Amount Total
_ (Rs.) (Rs.)
L Continuing Operations :
1. Revenue from Operations 1 1,60,000
2. Other Incomes 2 4,800
1,64,800
3. Expenses :
Cost of materials consumed 3 68,000
Employees benefit cost 4 24,000
Other Expenses 5 44,800 1,36,800

Net Profit 28,000

Notes to Accounts
Note — 1 — Revenue from Operations :
Sales 1,60,000
Total Revenue from Operations 1,60,000
Note — 2 — Other Incomes : '
Compensation for acquisition of land 4,800 °
Other Incomes 4,800

Note — 3 — Cost of materials consumed :

Opening stock of materials 26,000
Add : Purchase of materials 80,000

1,06,000
Less : Closing stock of materials 38,000

Cost of materials consumed 68,000

13
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.

Note — 4 — Employee benefit cost
Wages 24,000
Employee benefit cost 24,000

Note — 5 — Other expenses :

Manufacturing expenses | 16,000
Selling expenses 4,000
Administrative expenses 22,800
General expenses 1,200
Loss on machinery destroyed by fire | 800

Other expenses' ' 44,800

Gross profit of the company is Rs. 52,000.
You are required to find out :

(a) Gross profit ratio

(b) Net profit ratio

(c) Operating expenses ratio

(d) Operating profit ratio

BRE BUTTTe ToBAOD 31 Inwe 2017 Towd ﬁJaa?MeJ%s oy D03y IR, 5&%3033&;
3Y¥NT03 B RBRNS :

3TN e3gdjo. B3 W),
(a0 (90
L. V03T weDBEIT WP FTHaomieh :
1. T DO o e 1 1,60,000
2. %30 smoad , 2 _ 4,800
1,64,800
3. :swwm:o :
LRV IANEIa RIS ﬁmu:,’dﬁoﬂej ;stu 3 68,000
VOO0 T e o3, 4 24,000
230 dduri%fo 5 44,800 1,36,800
(‘03;} [OPTA] 28,000
14
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se3ad BN
&Sa’gbeﬁ -1- agssmdaod WOT 3wl ;
S00ks 1,60,000
FIEI0B0 wow whiy wmRAd  1,60,000
B - 2 - 230 swebY -

PR JYwedooR w08 IOFIT 4,800
233 esw0dith 4,800
. 835~ 3 - wRgechns T3 ROBONY S
6muﬁdsorw sd030 éo% 26,000
SRART : 6% 3080 DO 80,000
11,06,000
B8 : 159 FTBOrY SAdAb 8ex, 38,000

STV SIA LI a KA 6mu#dsbrie} d&jd 68,000
833e5 - 4 - FPBOO ﬁvazgeo ﬁzsu

301Y) A 24,000
L Jelef TR, 33, 24,000
338~ 5~ AVIT Jeirieh :
5 PUTITT S e 16,000
-3 23
IR0 Suneo 4,000
8EY3T Swrieb 22,800
ma‘mags :stwn’q}o 1,200
BNOVOT BT 01203.0,eTTT DT 6T T2 800
A3V Swried 44,800

FOZA0D m®0 @3 dwe. 52,000 QTOI .
8 $UNT BROTI IR F0B> bBAMD :
(@) BRY ey ZZe

(b) &%@ o3 FSo0ee

(c) evzETe S IS0

(d) seadrutsesd vyl T390

15
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13. Case Study (Compulsory) :

The directors of RIBCO Ltd. company are considering sales budget for the ne
budget period. From the following information you are required to show clearly t
management :
(1) The marginal product cost and contribution per unit.
~ (2) The total contribution resulting from each of following sales mixtures.
Product X ProductY

Rs. Rs.
Selling price 200 © 130
Direct materials 100 90
Direct wages 30 20

Fixed expenses (Total) Rs. 80,000 - -
Variable expenses are allotted to products as 100% of direct wages.

Sales Mixture :

(@) 1,000 units of product X and 2,000 units of Y
(b) 1,500 units of product X and 1,500 units of Y
() 2,000 units of product X and 1,000 units of Y

Recommend which of the Sales Mixtures should be adopted.

IO ¥ 0bT (FBAD) : ‘

Bufn 5030 AoDDIT IBerdsTy B0odT IVFE BIPobh Iworld TIBA, It
Swonad BIBBY, T8 FINToZ TONeSRWTY. S IIAT IPLINYOT BBYI SooBIrt ¥33D00
©03nYR) IRTBO :

(1) ©0uds S0 Sud 303 serort I3 adweded

(2) BNT B0k 208,00 wbd), BB

I X JRY

o ¥7) ow.

SJ00at3 23e8 200 150
ded CIDRSSLY 100 90
3¢0 5Rd : 30 20

30 Se3ied () 8. 80,000 - -

WBERTHITR Sedfieo Bedab Bes@d 100 daty 20t IRV 2IHAT.
BI0TE3 T, _
@) X 3RiEo 1,000 aduedesried 3ok Y SRyrieh 2,000 abedkdies
(b) X aRried 1,500 aduodkioried 3%y Y SRyried 1,500 asuedearied
(€ X aRrieh 2,000 abwdkigied % Y @Ryried 1,000 asaedbaried
QIR RPTES 208 ), FRTI ZRBEL FFITH FPEDO?
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oxT B.Com. DEGREE EXAMINATION APRIL 2018.

to Sixth Semester

INDUSTRIAL ECONOMICS
(Revised)
Time : Three hours Maximum : 80 marks

All sub-questions should be answered at one space continuously.

Answer to all sections should be written in the same answer book.

SECTION A- (10 x2 =20 marks)

1. Answer any TEN of the following questions in 2-3 sentences each :
FIND e 33 IZnen 2-3 TNIS 3020 :

(a)  What is public sector?
FJTEHRAT SO0 JoB3eR0?

(b)  Give the meaning of MNCs.
] uaiooac‘zgod) FoTAOD eacp’s-zsmqL SRRD.

() What is localisation of industries?
3M0BNY Feod)e5T e 20BBERI?

(d) Define planned location of industfy.
Qiraeumucjp euRSo0b :@3&@669@3@{ &5939AXD.

() What is privatisat_ion?
TINCTT R DOBBERD?

() Give the meaning of globalisation.
3135000 s 300,

(g}  Define rural industrialisation.
MRR0eed o038 T 0, 59,279,A20.

(h)  When was TISCO established?
TISCO odman s aimoas?

(i  What is industrial policy?
gm0 ded Horderd?
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()  Expand ICICI.
ICICI 23028.

(k) When was IDBI established?
IDBI odx»zeon FBF 0330000307

(I)  State any two features of Industrial Policy of 1948.
19483 8md5 dedod) a3 meEte H3E) Ogearwmq BeY0.

SECTIONB-(3 x5 =15 marks)
Answer any THREE of the following questions :
BINSIHNYE) 2Se500 Faedd SIRI eu3 20 :

Explain the role of public sector.
PIECBAT IOALT m:’gﬁd& DTD20.

Describe the factors influencing industrial location.
%mbaa z’,@%‘?esde@d BoeeS o= Decos eaoérﬁe}ai;i =eIF20.

Explain the functions of IFCI.
IFCIw anbrn’ejmq QT020.

~ Explain the objectives of industrial policy.
3,Medsa dedad emcg)eéﬁ@m% NS00,

Describe the role of rural industrialisation.
N30 BMd3esT e DIFTTY, eI 0.

Discuss the need for industrialisation in India.
mdédq %mb&c#dmd eﬁ%a’amg 232320,

SECTION C - (3 x 15 = 45 marks)
Answer any THREE of the following. Question No. 13 is compulsory :
BINSIHNYS 23ez0w Soetd @%ﬁ@ﬁ U3 TRD. 53 13 FB 0N

Explain the merits and demerits of MNCs in India.
zpadsm’e?“waoow%eqb FoBANY mmdmmej@t D200,

What is industrial location? Explain the Weber's theory of industrial location.
g mddny 3@9) Aer3T 2063em0? Sewo sz 3 Med%e 2Y ABer33T zm%ossag QT0D.
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Explain the role of small scale industries in India.
03T 38 EMOENY D03, 30030 TOLD.

Explain the growth and problems iron and steel industry.
50 I V3T GLRBoob WS edrt S03) 3abﬁgm}mq A=02D.

Discuss the objectives and features of Industrial Policy of 1956.

19560 &medze dedad guddedried 03y e)gz'«)ﬁ@}dg{ 23236 20.

Case let :

Finance is the life blood of an economy no industries can develop without timely
and adequate availability of finance. Industries require finance to meet working
capital as well as fixed capital requirements. To meet fixed capital requirement,
India has established many development banking corporations. They include
IFCI, SFC's, ICICI, IDBI, SIDBI and EXIM Bank. These institutions have helped
industries in their prosperity.

Questions :
(a) Mention the types of finances required by industry.

b) Expand ICICI.

—

(

(c) Explain the functions of SIDBI.

(d) State the various institutions providing industrial finance. -

28 AW IO :

® )

BHTIR WO BPFFIOD e, IS0 Borte FITR), BT o3 Youe odn
3 Meddned VPID  BROBUIT). ZMOINIR DBIVS  woBZY ENNE) AT wommed
@55258&1@&% BPYRD BT WEB. A0 WOBYT Bd%ﬁé&b@i FpYReDL PIUIF) TR,
VNI w3 05° &mmmmﬁ BT, wHndd IFCI, SFCs, ICICI, IDBI, SIDBI 3)33 EXIM
Bank. s cboamﬁoz);mfo Loy V%O WSYTedriobd TR, BOI) eBI.

S8ried
(@) 8mosner Sewria Buman FwoHv) 3920

(b)  ICICI 250%0.

()  SIDBIG saabervs) 93020,

() §mOsnvn Bems> dedbd 295 Brwods Rogivs, Hevd,




4331-FO1-VISC-R-A-18

B.Com. DEGREE EXAMINATION APRIL 2018.
- Sixth Semester
Paper II - COST ACCOUNTING
(Revised)

“ime : Three hours Maximum : 80 marks

‘Attempt all questions according to internal choice of each Section.
Working notes must be given wherever necessary.

* Non-programmable calculator is permitted.

SECTION A — (10 x 2 = 20 marks)

-

1. Answer any TEN of the following :
BUATR)NYA, Jeton $3Y, SUZDAD

(a) What is composite cost unit? Give two examples of composite cost unit.

300adwT dzsa;:imd Q0BBERO? B00dwT dzsamacw DTVRO SVEBTHBRYR), RBO.

(b) Name two industries to which operating costing applies. |

Ednr) 3?5&(‘099?‘01) 238 0333 evBdssonedr eaafaof)o:bgd?

(c) What is process costing?
303 dﬁu&)mrojo 333 Q0T3BERO?

(d) What is work un-certified?
BBPeIEORT FOT orBerd?

() What is abnormal loss?

em;bwzs B doBBeRO?

(f)  Give two features of job costing.

B> o3} :Swumas‘oi)d STRO MOWFRF NI, BHRD.

(2 How do you treat sale of scrap in contract account?

30300253 IIT 00T IO nodnt 3ol Sert BORSRI0?

1




(h)

@

G)
(k)

M
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Calculate passenger kms :

Distance covered — 300 kms, No. of days — 30 days, No. of Bus — 2 buses,
Capacity ~ 60 passengers, Seat occupied — 90%.

T,39% 3.20. Ford Fowd LBOWD :

BRT BARTOHB ~ 300 3.20., dIny 30 — 30 BIR, wa'ne B0 — 2 Wi, exEnY
DG E — 60 Jodwedech, I odwedsco es2eToNR) ~ Be. 90.

Find out profit transferred to profit and loss account :
Estimated profit - Rs. 32,000

Work certified - Rs. 1,80,000

Contract price — Rs. 2,00,000

) Bare S wa3nt Iree ARSI o*:Ja'e,)aoéwaoﬂl For HBOWD :

eowaa%ﬁq)&g’ 73 - 8. 32,000
T,0d0063e5030 07 ~ Cw. 1,80,000
o3t :b’acgs - gw. 2,00,000

What is sub-contract?
vz 3ol ordesy?

Write two features of process costing.
IS B03 SuE 20B> FenIRy, w30,

Give the meaning of activity based costing system.
$000 espR0T 5%5”833_036253@1) oge R0,

SECTION B — (3 x 5 = 15 marks)

Aﬁswer any THREE of the following :
AT Wewos S0R0¢, 6u3020 :

The following data relate to the manufacture and sale of 10,000 units of a
standard product which is sold at Rs. 5 per unit.

Raw materials Rs. 20,000

Direct Wages Rs. 12,000
Machine hours worked 1,000 hours
Machine hour rate Rs. 5

Office overhead 10% on works cost

Selling and distribution overhead 0.50 paise per unit.

Prepare a cost sheet to find out :

(a)
(b)

Cost of production per unit and
Total profit
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B3) AT INY TTS R Bevts BTV, B 91t BN ¢

ﬁzsaws’dﬁorie}o ‘ dw. 20,000

S¢3 300 dw. 12,000

0303, FTaodr notdne 1,000 rlotsrieo

odo3, riots BT gn. 5

BBIFIY S5t TV :Szid Begwes 10 OR),

Rmoks Forke D30 323,33 0 50 BFadod.
53, 0ARBOD, 304002 B FINTHNYR), F0@> HBAWD :
(8) B3 bR svsBID B,

(b) i, ooy

Prepare a reconciliation statement from the following :

Rs.
Profit as per cost accounts | 34,600
Interest debited in financial accounts 1,600
Over absorption of overhead in cost accounts 17,600
Preliminary expenses written off | ‘ 2,400
Undervaluation of opening stock in cost accounts 2,800
Over valuation of closing stock in cost accounts 4,800
BINBJ)Yon 30T 03> BT, 30350020 :

dn.
3e3, I3, a3nd T, 520 [SFTA] . 34,600
Boowor> dae 33, BTG w8 | 1,600
Boeen I B0 wvdrwy 31,08 Wedabd, 17,600
TRIELPD dzswﬁe}dgl Sieo v 2,400
dzswmsabe?“ -fe 8] ﬁﬁ%ea’dsor&f;)od egoyl e, 2,800

dz&wa)aéod)q, é&buw%eﬁdwr{faod ©03 e, 4,800

3
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Karnataka Power Corporation Ltd. runs a canteen for the benefit of its worke
It provides to its workers breakfast and lunch at subsidised rates of 65% of
actual cost.

From the following information prepare canteen cost sheet showing :
(@) Total cost of running canteen and
(b) Subsidy provided to each worker

Assume that 4000 workers are working in the company :

Rs.
(i)  Provisions 80,000
(i) Salaries and wages 46,000
(iiij Consumables stores 6,000

(iv) Services, Gas, Electricity etc. 18,000

(v) Miscellaneous expenses 10,000

| BRIFET BS0 Faperdesn® AaLAE A3 33), 303MTT BROBAOTYN 53,0830° FBRITYT.
T3,0t3eITD), FORMOON BUTIBIT Horte NPESEY THZT DUES Bedwe 650 3)BoH BB,
IS ES ) | |

88 3YNT Sndbdood aéjoésea‘ <23, 3 0doRy, 3admd :

(a) Ty oL3er® BAERS WA, [ Hore

(b) 3030080 BUIMTIN JedT 0B Fory HBODD

50300 4000 FOZMTTL QB[R nR&D

3.
() B, 80,000
() SBe3s ) 30O 46,000
(i) wed Ine Dedor | 6,000
(iv)  Hes, e, 9ByE wE,B 18,000
(V)  =3de dwerieh - 10,000




30

(9]

4331-FO1-VISC-R-A-18

2.400 kg of a material was charged to process I at the rate of Rs. 4 per kg. The
direct labour accounted for Rs. 400 and other departmental expenses amounted
to Rs. 1,520. The normal loss is 10% of the input whereas the net production
was 2,000 kg. If the process scrap is saleable at Rs. 2 per kg. Calculate the value
of normal loss and abnormal loss and show process I account.

2,400 8.2 3R, TSONNAYTY, RORT 13, SreronRennd. 33 3.8 BO dw. 4, 8¢ 8D
gw. 400 3o Soeente, gw. 1,520, HSRT; sSSP T 3BNT Snny de. 10 9@, 8
93,0300%3 SnnY ©c 38 8.28.18 S, 2 Bas. 30353000 ;!,dosad Innego 2,000 8.23. FBIOT,
6%, emmqs (6;%, \artAal 65& 2508 30’;%(3891 93 30370020.

The following information relates to Contract No. 101 :

Rs.
Contract price 12,00,000
Raw materials 2,40,000
Wages paid 3,28,000
Plant 40,000
General expenses 17,200

As on date cash received was Rs. 4,80,000 being 80% of work certified. The value
of materials remaining at the end on site was Rs. 20,000. Depreciate plant by
10% work uncertified Rs. 800. ‘

Prepare Contract Account.

no3nt R0 1013, eaa'fao&)z»’oai :

gx.
ro3rtod 3¢ 12,00,000
6mu5:’gﬁe}o 2,40,000
B3RS JeBT, 3,28,000
m@:ﬁd 40,000
saaimaizs DY 17,200

q,&aeaam 203 oees de. 80% TR, B 4,80,000 5!:51336@9{)030303). 038 S0,
Gmuaﬂ';igm}o VIBR) TR. 20,000. m@;ﬁdd 3339 3e. 10 B RESOT goni 3038 Swe. 800. |

rodrtod 53 BoBY &BOWD.

Explain the merits of activity based costing system.
sodbrnd Soed dzsu&sas‘oi) 3(.30301) BBOBHOINGTY, ISORD.

S
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SECTION C — (3 x 15 = 45 marks)

Answer any THREE questions. Question No. 13 is compulsory :
Wen Saedd IBnon eu3020. 33 13 gwaodomants :

Kotresh Construction Company Ltd. commenced construction of a building on
1.1.2017 for a contract price of Rs. 6,00,000. The following is the trial balance of
the company as on 31.12.2017.

Particulars Dr. Cr.
Rs. Rs.
Share capital — 80,000
Contractee's a/c (80% of work certified) — 2,40,000
Cash at bank 60,000 —

Charged to the contract :

Materials 60,000 —
Plant 40,000 —
Wages 75,000 - —
Office expenseé 25,000 —
Supervisor's salary 60,000 —
Total 3,20,000  3,20,000

The contractee pays 80% of the value of work certified :

Additional information :
(@) Wages outstanding Rs. 5,000
(b) Depreciate costing at 20% p.a.

(c) Plant costing Rs. 5,000 was returned to stores on 31.12.2017 and plant o
the original cost of Rs. 5,000 was destroyed by accident at the beginning o
the contract :

(d) Material at site on 31.12.2017 was valued at Rs. 11,000
(¢) Cost of work done but not yet certified amounted to Rs. 19,000

Prepare contract account and also give the balance sheet of the company as ol
31.12.2017.
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$nt5e8 BE ARPFH B0 (R)oHBA 1.1.2017 Gomd T, 6,00,000 Bdad o
80RSR), FHVORRITD. 83T SR JIE0MEL B. 31.12.2017 Cord> w08 3¢ Iejadn
B $9NT03TS :

Farn1e1aiV] Dr. Cr.
. da. .
$e0d WoBTY — 80,000
Rt StIRT a3 (BRSO Be. 80) — 2,40,000
23,087 AT B Sex, | 160,000  —
rogrtmoN IR0 JBR :
[TBON 60,000 —_
0303, (RIT) 40,000 —
300 75,000 —
3250 33, 25,000 —
30915090 Se3d 60,000 —
whd), 3,20,000  3,20,000

rodrt L3R, d_@eﬁbﬁeﬁ%ﬁeﬁd ¥eSob Besme 80 OR), B0 30wa0d BT :
BUE S0bd !

(a) eaoéesde?“ W% uPDCLS sd 8. 5,000

(b) =TT 3IBL0DB), & T BesE 20 Bod driobuesd

(c) Tw. 5,000 Jee WBdod m@;ﬁdda&g{ BV, €8, 31.12.2017 Gor &oDTONZING Horte
gdw. 5,000 Swee BSab mbdd (plant) 833736 FBTNCOIE (S3FT ZBoyindade)

(d) 31.12.2017 o ev¥DTS FTToNY 3¢ 8. 11,000
(e) SRS doR §ReTOITE GIBT), dw. 19,000

no3n wed 30d5edA0 Fo3Y Foa3dob &g I3vobey 31.12.20 17 o> 2w 03 230D,
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Nandita Tours and Travels is running 4 buses between Belagaum and Dharwa
which are 50 kms apart. Seating capacity of each bus is 40 passengers. The

following particulars were obtianed from their books for the month of April 2017 :
. | Rs.
Wages of drivers, conductros and cleaners 24,000
Salaries of office and supervisory staff 10,000
Diesel and other oils 40,000
Repairs and mainter;ance 8,000
Taxation, insurance etc. 16,000
Depreciation 26,000
Interest and other charges 20,000

Actual passengers carried were 80% of the seating capacity. All the four buses
run on all the days for the month. Each bus made two trip per day. Find out cost
per passenger per km.

BB 40T, 0B) 53,30 50 8.20. B03TBATHS BFMA L) PoTTB VB BeIpny BB
4 WY LRIY. I8 ws' 40 S 0dReTOR), B0, 2033, B BN S&INITY, D& F
2017 30onds 33000 es0d)B0¢ s :

de.
0%, 30633 R03) $eqo Y Fowe 24,000
Be5ed 22008 IR edTTS Fowy 10,000
Breer 303) a8 o 40,000
Bodyob B3, | 8,000
301t ) D 'zzé%a 16,006
333 26,000
wB 3y 93Be Dedene 20,000

S8 ws® Be. 80 O, S 0IRESTORY, S8, 20VTVIB. 0 WA HL) Jones 20 DIVAYD Fa0dbe
SFLRID. F3 w3 B3 OF 0B BT Fodew INFIB. B I 0INTT 8.2, 323, Bowd
%800, '

|
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--. The net profit of XYZ Company Ltd., appeared at Rs. 58,500 as per financial

records for the year ended 31.12. 2017 A scrutmy of books of accounts revealed
the following facts :

Rs.
(a) Works overhead under-recovered in cost accounts 1,850
(b) Administrative overhead over-recovered in cost accounts 970
(c) Depreciation charged in financial accounts 6,700
(d) Depreciation recovered in cost accounts 7,400
* (¢) Interest on investments credited in financial accounts 4,500
()  Loss due to obsolescence debited in financial accounts 3.15C
(8 Income tax provided in financial accounts 22,000
(h) Stores adjustments credited in financial accounts 425
(i}  Bank interest credited in financial accounts 30
()  Value of opening stock in cost accounts 18,600
(k) Value of opening stock in financial accounts 21,300
() Value of closing stock in cost accounts 22,450
(m) Value of closing stock in financial books - 23,680
(n)  Goodwill written off : 10,000
(0) Loss on sale of furniture ‘. 1,300
(p) Preliminary expenses written off 5,000
(@ Interest on bank overdraft debited only in financial books 800

Prepare the profit reconciliation statement and arrive at profit as per cost
accounts.

31.12.2017% &DOS?SMOCS So_'&s‘i% 2020RWo3 XYZ Bo3D Qoh3 and K):g} YR
Ge. 58,500 nealicods. (Bwedd ®)38rY I5e0) BIsnd 3mons In@eR & Fur
303 390 WOy ¢

Ow.
(a) Vs (Tarrd) Boeenisy, 3B BSCB RN I3 BFFNed, 1,850
(b) dzsu@’gﬁne:q BC&’Q?S})%’%’ d)ewdzsu@ éz&% 8508 $NBLIT 970
(€) Beoesd HITTA 3ITY 530 6,700
(d) 3 BIPES 3389 es50 7,400
(e)  DIoNeEnT Boees 0@ 98 (Bemods HITHAZOS) 4,500
() BeoTS HZTTY 3RedROL, B 03RcE SRNP0TE H 3,150
(8) BeveIs JFTTS 2oedT Bwood 301 22,000
(h)  evmnE Booweess, Cyi-BntedS JZTBEA oed1T0d 425
() 233,08°-0B Bevod B)3B0E), ewood ERBITHF)T 320
) =000 8T we - S BRITE), 18,600
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3.
(k) T00PE BT U6 - BeweR> YIS, 21,300
) 808 8O3 1S - 3 580, 22,450
(m) o8 BT B - BvoR> BRTTE, 23,680
(M) OEer Wit (Romd) I8y, 10,000
(0) &cBRCETTTN SPTLIE T 1,300
() BP0 Sufiv S0 5,000
(@ w905 B30 B6 PoLH wh (B0ERS BITHE) 800

RR0B O BEOD), 30IROUO 03y 33 FET 520 LYSR, For> LB,

A pfoduct passes through three processes process-I, process-II and process-
the details of the process are as follows :

Total P-1 P-II P-1IT
Input (1000 units) (Rs.) 16,000 16,000 — —
Sundry materials (Rs.) 45,000 20,800 16,000 8,200
Direct labour (Rs.) 58,640 18,000 29,440 11,200
Production overhead 58,640 — — —
(100% of direct labour)
Actual output (units) — 900 680 540
Normal loss (% on input) — 10% 20% 25%
Scrap value per unit (Rs.) — 4 - 8 : 10

Prepare process accounts.
2000 AW SR mozde I, %0x0w II Boxom I odbridon Zadndzenrdd. Jdodeon:
xR0 §,050d 30 03T :

W), RoROe-I  RoxOe-Il  RoxTe-lII
03008, MBS adraLried 16,000 16,000 — —
(1000) (Tw.)
930 3TBNLL (B0.) 45,000 20,800 16,000 8,200
333 509 (dw.) 58,640 18,000 29,440 11,200
uSTBod 50“{}% 58,640 _ - —
(338 s.09ab Be. 100)
33E evmES (0deduided) — 900 680 540
B3, B, (ded Soees) — 10% 20% 25%
rowd B (38 obedesrn) (de.) 4 8 10

R0RTed I§0d a3y, 30dd20.

10
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A company manufacturing two products furnishes the following data for a year :

Product Annual output Total Machine Total number of Total number

(units) (Hrs.) purchase order of setup
A 1250 5000 40 5
B 15000 30000 96 11
16250 35000 136 16

The annual overhead are as under :
Rs.

Volume related activity cost 1,37,500

Set up related cost 2,05,000
Purchase related cost 1,54,500
' 4,97,000

You are required to calculate the unit cost of each product under :
(a) Traditional method of charging overhead
(b)  Activity based costing method

2,080 FoBA0I VB HUITYIY, VB PROSTY, )N @od wosneh 8 NP0 9!

UIZRTO  TOXEFT VIRV 2,633, 03003 rieh S vre3r W) W83° O
(0 ndd) (riotdnied) Boadricd Boadrieh
Q 1250 5000 40 5
D 15000 30000 96 11
16250 35000 136 16
ToaFT RoeSuR) S FYNT0dW !
ge.

13, 3020093 WeDILIBNY =, 1,37,500
258 i FowoB3 Supied 2,05,000
8,09081 RowoQad i 1,54,500
4,97,000
33 ev3pc T3 0eRksS S, S SUNS BEATE e 508> HBOVD:

(@) Boeesy sOTOD F20ZTo00T ITS
(b)  eSesd esped3 Su, deorob ST

11
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13. Case Study (Compulsory) :

A manufacturer produced and sold 300 washing machines during 2017.
Following are the details :

Rs.
Direct materials 7,80,000
Direct wages 4,20,000
Factory overheads 2,10,000
Administrative overheads 1,41,000
Sales price per unit 6,000

For 2018 it is estimated that :

(a) Each washing machine needs materials worth Rs. 2,700 and direct wages
Rs. 1,500.

(b) Factory overheads are recovered as a percentage of direct wages.
(c) Total administrative overheads are fixed at all levels of activity.

Prepare a statement to show profits per unit if the selling price is reduced by
Rs. 100 each. Actual output and sales are 500 washing machines in 2018.

Give reasons for decrease in profits and suggest how profits to be increased.

ST0E BG00OT (FwaodoTehes) :
2017 89 wy) evsagssy 300 Se8ort S0ERRIBY, B0 IPRT. VBT ST SN0 :
: an.

SeT w5 5TBO 7,80,000

3¢ Bd 4,20,000

ToEN Soeesr S, 2,10,000

sBI3 ek S 1,41,000

SP0aE3 13¢5 5,3 03t 6,000

20188¢ IR 3, B FINT0Z evoss SBATS :
(@) & Zes'rt Sed Tes, FTB B, 2,700, B3 Bt Bed 800 B, 1,500 ez,
(b)  weaRES Soeer BUIR) Sed BAab BesEomth BOBY e30RwrI3.
(c) ©BIIBE wid) Buirieh e oesrivdaiie A0TOATIZE.

23 ~ ™ @ ..o
201838, S5003ts 2jSodbRy Be. 100 nYRY, 38 InBmn B> wed), NVRBE 0I) Ieoves
S00 cdbedenniwarsen (e8ont SoBRERU) aboAEFZTH ety QIR BODLE) AT BBD. ‘
2700380 QYT FogendR), AeBD Ry DYID), D0z SN RY Wesor TRoNYR), 228D, |

12
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B Com. DEGREE EXAMINATION APRIL 2018,
Sixth Semester

COMPUTER APPLICATIONS IN BUSINESS
(FINANCIAL ACCOUNTING WITH TALLY)

(Revised)

Time : Three hours Maximum : 80 marks

1. Answer All sections subject 1o interna] choice,

2. Question No. 12 is compulsory.

SECTION A -- (10 x 2 = 20 marks)
Avnswer any TEN quesiions

Each question carries 2 marks.

(a) Name any two buttons avaiiable in Tally ERP-9 vertica] bar,

(b)  Name any 2 applications of Tally.

(c)  What are groups?

(d) Mention the keys used for the following finciions

Payment voucher, Contra vouch er

(e}  What is Ledger?

() Define cost Categories,

(8 What is stock iter?

(h)  Name the options available at inventory Info.

(i)  What is day book?

()  What is balance sheet?

(k) What do you mean by Multi currency?

() What do You mean by Bank Reconciliation?

SECTION B — (3x5=15 marks)
Answer any THREE of the folloewing.

Each question carries 5 marks.
What are the advantages of Taily ERP 97

Explain the Steps to create and display Ledger in Tally ERP O,

Explain the Steps to create and display single cost category.
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n

Explain the steps to create stock category in Tally ERPY.
6. Explain the options of Balance sheet configure window.

= Write the procedure to create budgets for cost centres.

SECTION C — (3 x 15 =45 marks)
. Answer any THREE questions, including Question No. 12, which is compulsory.
Each question carries 15 marks.
8 Explain the components of Tally ERP 9 Window with neat diagram.
9. Explain predefined groups in Tally ERP 9.
10. Explain any FIVE inventory vouchers.

11. Explain the steps to Create, Display and Alter Multiple Stock items.

12. Give Journal Entries, identify groups, Ledger and Vouchers in a Tabular form for
the following transactions.

i e

' 1. | 1-5-2017 Mr. Anil Kumar commenced business W1th caplt;ﬂ\

' of Rs. 50,00,000 ﬁ

2. | 11-5- 2017 \ Cash deposned into bank Rs 5 00, OOO
3.

|
l
i
l

— 1
\ 28-5-2017 \ Purcha%ed furniture for Rs. 2, OO 000 E

.
4. | 10-6- 201 » Purchased good% for Rs 4 00 OOO

IF%-J\F 12-7-201 7 | Pur chdscd goods from M1 Qhekhar on credlt
\ for Rs. 10,00,000 |

61892017 | gii'ééis_fe?f’{@f@i::w':j
\_ZQ 25-11-2017 | Sold goods to Mr. Satwik on credit Rs. 3,00,000
l 8. }( 13}3_2_(31? LCﬁash re celved from Mrlsét.“lliﬁf.jgp#oﬂ?fﬁ x

0. 2 1- 2018 \ Rent paid Rs. 1,00,000 j\
110.110-3-2018 | igli;;y paid to M T 1o Mr. Nagrai Rs. 2,00, 66—6’#”’“"]‘

13. Write short notes on any THREE of the following :
(a) Creating a company in tally
(b) Purchase and sales order vouchers
(c) Fields displayed in godown creation screen with diagram
id) Cash Flow and Fund Flow Statements in Tally

(e) Day book in Tally.
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B.Com. DEGREE EXAMINATION APRIL 2018.

Sixth Semester

PRINCIPLES OF FOREIGN EXCHANGE - III
(Revised)

Time : Three hours Maximum : 80 marks

. Answer ALL the questions subject to internal chojce.

Question No. 13 (Case Study) is compulsory.

SECTION A - (10 x 2 = 20 marks)

-. Answer any TEN :
Wezor BIE, L3I0 :

(a) Whatis Foreign Exchange Market?
Te8 IASOoD :’mdﬁ&i Q0TBeRO?

(b) What is spread?
WROBOAE (Spread) Hodesy?

() What is Fixed Rate of Exchange?
AT A0 BB d0Bden>?

(d) What is Exchange Rate?
QSO0 BT doBBeRO?

() What is indirect quotation?
¥I3 7 zso'segd Q0TITETO?

(f)  What is Spot Rate?
3136&3 B0 d0@38eR0?

(8 What is Cross Rate?
8 B0 Ho5Tesy?

(h) What is exposure?
38DRIDE SoBTeRO?

(i}  What is Risk?
3%, o (Risk) aowdemy?
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()  Ascertain the forward premium :
Spot rate 1 pound = ¥ 85
60 days forward rate = ¥86.20
30008 3600300 BOE), OB &HBOWD

3 60 1 pound =% 85
60 BInY S0303 & =T 86.20

(k) Expand:
() FERA and
(ii) FEMA

(i) FEMA

() Whatis Ask Rate?
INTOR S doBTERO?

SECTION B - (3 x 5 = 15 marks)

Answer any THREE :
2e5ar SwedY, Bu3dAD

Distinguish between Forward Trading and Future Trading.
Soond =TT 303 PIH 3 mgsmd INY VBT asésaéz’nﬁdai% 39%0.

Briefly explain features of Foreign Exchange Market.
28 Voo Secoses obd %&ﬁ@@ﬁoﬁémﬂ DIDA0.

Briefly explain factors influencing Exchange Rate.
ANR003> BISBY, AP BB oBnYBY BodZon DIOD.

Find the cross rate between :
(@) Dollar to Pound
(b) Pound to Dollar
(c) Euroto Pound
1 Pound =% 90
1 Dollar =X 65
1 Euro =¥ 80




10.
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donSZHnen OB TT F0BO HBOVD :
(a) @eeor® ) Fow*
(b)  Joow ) woews
{©) adbodee ) Fo®
1 SPow® = dp. 90
1 mev® = de. 65
1 alodee = dne. 80

Explain the functions of clearing house.
3etvd Sodsody Fo0bFYR) HI02D.

Briefly explain the advantages of Foreign Exchange Market.
3ed HAS00d Sedoze o amﬁﬁeéﬁ%’ai)cl RodT N DT0LY.

SECTION C - (3 x 15 = 45 marks)
Answer any THREE. Q. No. 13 (Case Study) is compulsory :
Weson S0R0¢, eu3020. 38 moa) 13 (Zvom o5,0F) @0l :

Explain different types of participants in Foreign Exchange Market.
Aded AASood S00TES 0D TnSHROS mﬂ:@dmadd::x;frie#dzl 3020,

Critically evaluate principles of PPP theory.
... AT0BIR, :Dd)aas's@ﬁmﬁ 3930,

Ascertain the Forward Rate for the following :

Forward Points
Currency  Spot Rate 30 days 60 days 90 days
(a $toT 2 63.60/70 20/30 30/10 40/20
(b) £to$ $1.40/50 40/30 30/50 20/30
() €to& £1.20/30 30/20 30/40 40/30

BINSHOrt ZvonE B Ford LBALY :
‘ S0odT 23e8
3O, IRI TS 30 B 60 BIND 90 BN
(@ $IRT ¥63.60/70 20/30 30/10 40/20
(b) £H$ $1.40/50 40/30 30/50  20/30
() €1>RHL £1.20/30  30/20 30/40 40/30




11. Explain the factors determining the Exchange Rate.

12.

-

23eB DSo0% BOTH), AFFORVT L08R, SO0,

Translate the following balance sheet under Historical Rate, Current Rate anc
Current and Non-Current Rate Method as on 31.03.2017 :

()
(b)

1I.

Historical Rate 1$ (Dollar) =X 50

Current Rate 1$ (Dollar) =% 65

Particulars Note Amt )

Equity and Liabilities :

1. Shareholders funds :
(a) Share capital shares of Rs. 10 each - 10,00,000
(b)  Reserves and Surplus - 5,00,000
2. Long term liabilities :
Long term borrowings (Debentures) - 4,00,000
3. Current liabilities (Creditors) - 6,00,000
Total 25,00,000
Assets :
1. Non-current assets :
Tangible fixed assets - 10,00,000
Investments - 5,00,000
2. Current Assets :

Inventories - 3,00,000
Trade Receivables - 2,00,000
Cash and Cash Equivalents - 5,00,000

Total  25,00,000

After translating the above balance sheet find the profit or loss.
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391t 00T WS B3Fadn Bweos 31.03.2017 Jomd 30023 AR, DIFLT WS, 1300
B 3 g 3 1Y YT WSaHATHFod FOIIFLO :

(a) 038337 WS 1$ (woord) = T 50

(b)  wed W¥S1$ (weert) =T 65
3I8een Bsgdzod)  Bw3 })

I. Betd 5033 mm@brﬂe}o :

1. Bedbwavd APneh :

()  Bedd woBmY 3,3 Bed ¢S Bw. 10 - 10,00,000

(b)  ze0NE3 AB Horie 330 Y - 5,00,000
2. DeFr3d mm@bﬁ@o :

DEFIEID IBW mongd (Re0zZnYL) - 4,00,000
3. 9 wHwedrieh (ONT) - 6,00,000

wi),  25,00,000

II. es3ne
[~]

1. w29 203 eane

jﬁs?}’pd esz(»amfo - 10,00,000

BRBBNAL - 5,00,000
2. wd eazgfe}o :

FOBOR e - 3,00,000

ST WTBTI)rieh - 2,00,000

AT o) IR ISR - 5,00,000

W) 25,00,000

[+]

2R ERT ¥EaS 3-5’:}30.1)6% TOI3EAT ToIT eyl MPe Kia‘&aﬁﬁ% FORD H&BaLD.
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Case Study (Compulsory) :

An Indian trader Mr. Naveen has to receive $ 2,00,000 after 6 months, spot rate
is 1 $ = Z 65. He expects rupee to appreciate and exchange rate may come down
to Z 60. He enters into a put option at a strike price of ¥ 62 and premium of1
per dollar. Find out option price, if the market price after 6 months is

(a) Rs. 61 (b) Rs. 62 (c) Rs. 64.

Explain your decision in

() In the money

(i) Out of money

(iii) At the money

3300 g oS (dmapod) :

PoU3E TyID BT AID 6 Sori¢ Fo30 0B oF ok ($ 2,00,000) S odoesesaN.
3GE 6o 2,08 BoeDI BA. 65 AT, VAT VIAEODL 50 CRT0D BoEd, 03adRMOS
ROPIIDWY, ©ond JAIood TG de. 603 QYOI mq,s 9w, B 50NN o3P IS
TR0 (put option)3, ISeBand) 03N @0 (strike price) CR. 62. &edoodbo B . 1 38
woed ¥03T. 6 donY V03T Sooets B0 FYNT03GT

(@) B». 61 (b) Bw. 62 (c) B 64.

5)’&3%3(’3)3?&5&2‘ 2303 03PN

() 0ded Fdobusdord

(ii) 0B BBoLBTBOIR

(iii) DDeB BBOLWBITO SFd SBobLRTLBOTO

2oedTFHNY Bod3> IZOO.
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B.Com. DEGREE EXAMINATION APRIL 2018.

Sixth Semester

BUSINESS LAW

(Revised)

Time : Three hours ' Maximum : 80 marks

Attempt all sections according to internal choice.

SECTION A - (10 x 2 = 20 marks)

Answer any TEN of the following :
Uezor R BZNI ev3020

()

(b)

What is statute law?
BIAW FIBAT 0BTeR0?

What do you mean by void contract?
ERVAT o] WIBOT 0TBERO?

Define ‘coercion’.
e (W30 DorBesy?

What is ‘co-agent’?
3® 520090 0BT3 A33H?

What is a ‘Quasi-Contract’?
AR (87) 2Z0w HorBemo?

Write the definition of ‘Bailment’.
('\')ﬁ(’caso 2S00 253253% 20300,
What are ‘cross offers™

8@ TRINYD onBesy?

Give the meaning of ‘contingent contract’.
20833 Ae0dd 2BORT eacp’raﬁa&gl edd.

State the meaning of ‘Acquisition’ under the Competition Law, 2002.

:o;o‘-é’facw Zas® 20023 BROLY wEESad eazp’rddz{ 200200.
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() What is ‘Trade’ under the Competition Law, 20027
B peks ToBRTO 20020 ea@qb@m‘;sazsmd’ 0BT eTO?

(k) Define the term ‘Deficiency’.
‘803 0> 23,93,00F), (WFF) AeBO.

()  What is a ‘Consumer Dispute™
MEBTT 2355, HOBTER?

SECTION B - (3 x 5 = 15 marks)

Answer any THREE of the following :
WSe5or SoeUY, V30D

Distinguish between contract of indemnity and contract of guarantee.
TR, B0BT wWB0B B03) 25D0eBIT0F wBOBNYA 0D FFYRMGT), WD

Describe any five exceptions to the rule ‘No consideration, No contract’.
BT OIVT WRDOBIY, aaﬁg@w% 2T wwmdrﬁemgi =320,

What is ‘offer’? Examine the rules relating to it.
‘TSN 20BVER? WTE, SOWODAT DodSorted®), wToD.

Define ‘pledge’ and .state its features.
AdOH0d @Sﬁawmﬁﬁ%édd ©FNID), BePO.

Who is a ‘consumer’™ What are his rights?
‘TREY 0T3S 0dPT? BT BTUNTDY 030D,

What are the objecﬁves of Competition Law, 20027

BBpees omeR0 20028 evdeBnes, w300D.

SECTION C - (3 x 15 = 45 marks)
Question No. 13 is compulsory. Answer any TWO of the remaining :
38 13 30z, 'zzmﬁ?cj@ﬁéég W3e598 HOBY, GV3DVA0.

Define contract and explain the essentials of a valid contract.
LBOB T 53,5008, DeBD FB) NOFS WTOBE I, OTFLNITY =00,

Who is a minor? What are the rules relating to Minor's Agreement?b Explain.
59,3 SoDBIO 0BT 0339807 BRI F0RAT 2B0wRTOD JodONYE), QT00.

2.
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Explain the various consumer disputes redressal agencies.
ACY:3510] 2% TOBIVT T2 0FLTedNY AG wjmdri%idg{ QD3920.

Examine the différent ways of discharging the contract.
WITOWT ABTES 0 A :ozpwmm_}t JTD0.

Who is a Bailee? Describe his duties and rights.
VZe3 Q0BT adtH? eZE 53?%(\’@0 ) aﬁ%ﬁ%’m& J=020.

Case Study .(Compulsory) : ' ' (3 x5 =15)
K3, 0dnehis 33 (Swaad) :

(a) X agrees to pay Rs. 10,000 to Y if Y beats Z. Y beats Z but X fails to pay.
Can'Y sue X? GiveAreasons. ,
Yo ‘Z’dmo( BRBTT Y’ AR . 10,000r1%3a$% BRBIZN ‘X I503) 8@6303363. Y'®o
2’1 8RBT, HEd Xah 3T, S0I, SIAELY e 333, & BT SZROMA

Yo X ci)doca; mdob@&,émwumde? 520 B080.

BT Aesoy o871 o Sgdo@d&zl VO] WodobRy, FobBHI. F03T wHTo
Nezdn o, 30,000{19}3% a’e@.}oagaf. B8I8 Aczagy o, 30,000 Bn@en 36@8:’03393.
WBRCTID Aesae @doa(‘paazsaimoobdq B9 BABWBIG?

(¢} Anil, a minor, borrows Rs. 25,000 from Sunil on the guarantee of Pramod.
Anil has failed to pay the debt on due date. Can Sunil recover his money
from Pramod? Support your answer with reasons.

VTE SobAF BT Rodeodor eI ALY BIDEOWIBF o B, 25,000 RO,
 TBawzed.  ®o38 v AT FooHrTeBeRen FOTNOIE.  Z0DCORY
BAVEITTT  FIZReBAT  moerg ms«g SERY  InBuBEE? mo’ean’e}d%

ERBOF BT Fones I=Z02H.
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B.Com. DEGREE EXAMINATION APRIL 2018.
Sixth Semester
Paper II — INCOME TAX LAW AND PRACTICE
(Revised)

Time : Three hours Maximum : 80 marks

Answer all questions with strict observation of inner choice in each Section.

Use of simple calculator is allowed.

Question No. 13 Case Study analysis is compulsory.
SECTION A — (10 x 2 = 20 marks)

1. Answer any TEN of the following :
8 BINSI)NIE) Wezors 33 SNt ovddAD :

(a) State the types of capital gain.
VG JF0T woBZY waririg zorj\ BegD.

(b) What is dividend?
9332038 H0BBeR0O?

(c}  Give the formula for grossing up of winnings from lotteries and 1nterest on
fixed deposits.
Tat30000T 1E eswaodh ) A0 BeIedne oeds WROD BweahE 337, SRZ3D,

B ooaodoomri (AL 2R3, iifaéa

(d) What do you mean by set-off of losses?
m&)aba&g{ FOBRNTT doBBeRO?

(e} What is speculation loss?
B39, THTTVE Fad D0T3eRO?

(f)  State the provisions of U/S 80 DD.
T0Yew 80 DD mbmwmmd BeY0.

(8} State no limit donations which are 50% deductable.
deedringd 203 &3 wmrs VO oty Vo &858 S0% sRITrLS AP Wi evd.

(h) How do you treat dividend received by an individual from a foreign company
and co-operative society?
W) B3 FEAS dfed Fozob enyreos R 3BTO 3030008 JWw ZTOBNIRY,

éeﬁ waﬁezh)&@?
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(i) Who is a non-working partner?
Fo0DF VTITOR ToewroT 0detd?

() State the limits mentioned in section 40 (b) to pay salary, bonus etc. to
working partners.

FIODFVEBT ToeVMIT BWBAIVS Jowd, Weews® 23D WYY wif 0exd 40 (b)
o od Q3o wi Bee.

(k) State the provisions of section 80 E.
38%5;6 80 E sdodb QODHBTIrIR), BedO.

() Expand - TRO and TCS.
2309 - TRO 03 TCS.

- SECTION B — (3 x 5 = 15 marks)
Answer any THREE of the following :
S YNNIV Wewors Sue0Y, 6v3020

Compute the taxable capital gain of Shri Nagesh for the assessment year
2017-18:

Particulars Jewellery
Year of acquisition 1987-88
Cost of acquisition Rs. 3,00,000
Year of improvement 1994-95
Cost of improvement Rs. 25,900
Selling expenses Rs. 10,000
Sale proceeds Rs. 25,00,000

The cost inflation, index for the year 1987-88 — 150, 1994-95 — 259 and
2016-17 - 1125.

8¢ D8 A% 0BT Sebdndor Jg, I=F 2017-183 worzes SPIIR), OB LBOWD :

EP TS 30 8ndy
DOeD IAF 1987-88
20D 23¢3 ~ dw. 3,00,000
TACTT IAF 1994-95
SDe3Te S03 de. 25,900
S0oks DBOF ge. 10,000
S0t 3¢, G. 25,00,000

33, BWBoYOE Rew08 B JIFNYY, 1987-88 - 150, 1994-95 - 359 Iy
2016-17 - 1125.




4332-F02-VISC-R-A-18
3. Compute the income from other sources of Mr. Jairaj for the A.Y. 2017-18 from
the following particulars :

(a) Dividend from Reliance Ltd. Rs. 10,000

(b) He is the author of income tax and earned a royalty of Rs. 50,000. The
expenses relating to the publishing of the book is Rs. 10,000. .

(c) Winnings from horse race Rs. 10,000 (gross)

(d) Interest on fixed deposits (net) Rs. 18,000

(.e) Ground rent Rs. 10,000

() Interest on Govt. securities Rs. 4,000

B YR FABINBT IN&INYT Q. wOHTIBS, ds 3@ 2017-180 w30 esmead
FoRoNPors 2T 803 FoBY HBALD :

(@) Boadbet Fo. AOLAIE wezzeod de. 10,000

(b) -S> WFBo T, BFFT SeTHNG), CoBFSTON 2T 208 Te. 50,000 AT,
B0 BFBE FFBH e Ge. 10,000 BSACI.

() BBV 2:02I0% 13 303 S, 10,000 (k).
(d) 38 Be3eIo0s wos ASY WA, Te. 18,000

() % wBA Be. 10,000

()  RO%ed PEI B3Pow wos wR Be. 4,000

4. From the following information, compute the amount of deduction allowable
U/S80C:

Mr. Raja Mrs. Rani

Rs. Rs.
Life insurance premium on own life 10,000 15,000
Contribution to public provident fund. . 40,000 50,000
Repayment of housing loan 50,000 —
Tuition fees paid 25,000 10,000
N.S.C. purchased (VIII issue) . 40,000 20,000
Five years F.D. in SBI (notified) 25,000 10,000

Contribution to unrecognised provident fund 10,000 10,000
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8 3YNT Sn&Invon 0w 80 C B, FRBWBOTIT FBINYTY, F0R) LBOD

8cvos 8308 Tatd 1
3038 23T BoedT BeI AP Fo 10,000 15,000
IEEAT PIF, 0P J03F - 40,000 . 50,000
oW 5008 B0edT BB FTOTDS 50,000 —
(AVANATOD) &)q& 300D 25,000 10,000
Tade0dd> VI I3, DOCD (8We 3TeT) 40,000 20,000
5 IR v3Podb AT FeIed (F0233) SBI 25,000 10,000
rOBL3ROBT PIF, AP S03F - 10,000 10,000

From the following profit and loss account of a partnership firm for the year
ending 31.3.2017. Compute the book profits for the A.Y. 2017-18 :

Profit and Loss Account for the year ending 31.3.2017

Rs. Rs.
To General expenses 75,000 By Gross profit 3,25,000
To Interest on capital at 15% p.a. 30,000 By Commission 25,000
To Salary to working partners 2,00,000 By Interest on debentures 20,000 |
To Depreciation 15,000 '
To Net profit 50,000
3,70,000 ' 3,70,000

Depreciation allowable as per rule is Rs. 20,000 firm fulfils the conditions under
section 184.

B 3918 AR JRRT UP-FoQ T9E0OT WORY TICITDT 303®o.b 80508 IR 2017-188
378 (book) &z3 BoRO HBOWD :

RY-Tod Lo Saiarosé 31.3.2017

aw. ow.
TP, DWFNR 75,000 *3om, 033 3,25,000
0OBRYT oedT wB Be. 15 I.3. 30,000 BeRY swaod 25,000
5o0lF 03 Toewresort Bt Fowd  2,00,000 MOTIT 0T W 20,000
3369 » 15,000 )
&5;3 CIAl 50,000
~3,70,000 3,70,000

sma0d 307 5o8AIT IFe0 BNBUBIWT 3I8Y I3 IR, So. 20,000 R3OZW. Teewnodse
30:5;&1» a)’bzsaew 184 gdod mos'oqsmid% TROFIRYAT.




()
(b)
{c)
(d)
(€)
®

(2)

()

(b)

previous year 2016-17 :

Income from let out property
Loss f.rom/self occupied property
Profits from cloth business

Loss from cotton business
Speculation on loss

Long term capitél loss

Short term capital gain

PARY< Yl i?Ja&ngb('\foﬁJOd eS0T el
303 weE Forodor 8T
ué%a m?smdaod e3T3 eI

B3 DUTICHOT BT T

2853, THYHICDOT &3 B

DeFrID wodSey Tod

ew@d@ WOBY &I

6. Following are particulars of income and losses given by Mr. Maruti for the

" Rs.

1,00,000
1,25,000
1,00,000
50,000
20,000
15,000

20,000

Compute the gross total income of Mr. Maruti for the AY. 2017-18.

§e SPTLS0HT, &oBT SR 2016-170 Go3-F2ANYRY, T FYNT0S PR SPRHAY

ow.

1,00,000
1,25,000
1,00,000
50,000
20,000
15,000

20,000

d5, IR 2017-183 8¢ I5pB030dST 307, e:sa’ao.bd(&gl T0RO &LBODO.

7.  Explain in brief the powers of income tax officer.

80203 307 BBTONY ¥PTONY wil FogFTeN HZVD.

4332-F02-VISC-R-A-18
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SECTION C — (3 x 15 = 45 marks)

Answer any THREE of the following. Question No. 13 is compulsory :
We5ar Soedd 2BNYr evz020. 33, ';5'09% 13 s@a0dseNc03T :

From the following particulars of income of Smt. Renuka. Compute her income
from other sources for the A.Y 2017-18 :

()
(b)

(e)
(£
(8

She owns a plot of land in Hospet which is let out for Rs. 2,000 pm.

She owns a quarry in Dharwad, she has let if on a royalty of rupee 2 per
tonne of stone raised. During the year 25,000 tonnes of stome was raised.
She spent Rs. 5,000 to earn royalty.

She has received an amount of Rs. 2,10,000 as lottery income.

She owns agricultural land in Malesiya from which she earned an income of
Rs. 25,000.

She gets family pension from the state govt. Rs. 60,000.
Income from hidden source Rs. 10,000.

She made the investments in the following securities :
(i) Rs. 50,000, 10% Govt. securities

(i) Rs. 90,000, 10% tax-free debentures of X Ltd.
(iii) Rs. 50,000, 8% municipal debentures

(iv) Received Rs. 10,000 as dividend from Indian Co.

She spent Rs. 200 to collect the interest.

803 TeenzUITy BABINRT BHoohT IITRYE ©ZT W8 Sosere BT 0DTTY,

50508 IR 2017- 1838, 50w0R2308 30R> LBAD :

()
(b)

(c)
(d)

(e)

o= BRIZeEI0D 2010 w2 231 B3, 'adai% 3on¢ Wit dw. 2,000 dod 6@&29306.

U39 PITBETY, 0w Fey ned ¥ 'aqu 38 Lo* IR CowpS Tw. 2 Tod
WSedodhIor (‘Oeamoe:. 330 ngdoow 25,000 e3m® e HRTY ai)aamod. E{ateleri~aty]
nesen 35880038 o Be. 5,000.

230008 wor eswaod Twe. 2,10,000.
oIon dodcéo.imdq 20030 uﬁwéd IAVOEAN) fzzcbo , 83003 NYLT &0 B, 25,000.

39 Doy, ¥CT0D0E Boedow S03edadnn Bwe. 60,000 DBV

6
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%308 B3 S0eeBOR o6 eweod de. 10,000.
o S UNS PTT IV, BRI, BRBS INRWY :
) . 50,000, 10% 3050 BB S,
(i) Ge. 90,000, 10% emad 301t dw0b3 TeBIie X Fo. DaDIBT
(iii) . 50,000, 8% SRV BeI OB
(iv) esSead 305R00E BAG g0 B, 10,000

o= Sn. 200 waazSz’uaeDmﬁ DWOF ;mzamoam;:.

From the following information compute the gross total income of Mr. Mahesh for
the A.Y. 2017-18:

Rs.
(a) Income from salary (computed) ' 2,00,000
(b) Loss from self occupied property 50,000
(c) Profits from electronic business 2,00,000
(d) Loss from groundnut business 50,000
(e) Profits from speculation buvsiness 40,000
() Long—terrh capital gain 30,000
(g) Short term capital gain , 10,000
(h) Loss from owning and maintaining race horses 50,000
The carried forward losses from the A.Y. 2016-17.
| Rs.
(1) Loss from ground nut business 1,00,000
(ii) Unabsorbed depreciation 10,000
(iliy  Loss from cloth business discontinued 20,000
(ivy  Long-term capital loss 40,000
v) Short term capital loss 5,000

-




TEAIEITA VT ¥ AW AN AL &SNS

. BB T8 Y BRBINBB InbINYTIFOR 3T goesds Id¢ 2017-180 3301,

B8w0DTT), FoRO SR :
ow.
(a) ToWSDOT ol eTT0d) (erfi S87) 2,00,000
(b))  Ro3 w¥E FouaT &T Fod 50,000
[ | | (c) 3)63%&‘\)3&6 S?Sdmdaod &6 eyl 2.,00,000
) (d)  Beorw FTBVT ST HQ | 50,000
(e) :-:»’m“;%dmdaod 303 03 40,000
()  DeFrad wormed word | 30,000
(g) ¥eRZH WOBTY WYl | 10,000
(h) 2% BoBOBNY ASFBH ) WEITROT 8T B 50,000
%o 7, IR 2016-17 D08 S0BOTOT HIANL
ow.
()  Beorn FTIH0NT B Had | 1,00,000
) Rpor sB3ReYS 3389 10,000
(iii) %ﬁéﬁ@od AT qudmdaod 303 B 20,000
(iv) DEFIEIH OB B 40,000
v) ©eRIH WOBZIY HA 5,000

10. Mr. Ramakrishna made the donations to the following funds and institutions
during financial year 2016-17 :

Rs.
(a) National foundation for communal harmony 20,000
(b) The natibnal children's fund 10,000
() The national blood trahsfusion council 10,000
(d) The Swacch Bharat Kosh set by central govt. 20,000
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Rs.
(e) Prime Minister's drought relief fund 10,000
) Jawaharlal Nehru memorial fund 20,000 ,
k|
(2 Municipality for promoting family planning 30,000
(h) Books donated to approved college 20,000
(i). Approved charitable institution 10,000
() Repairs and renovation of notified temple 10,000

The adjusted gross total income of Mr. Ramakrishna is Rs. 4,00,000. Compute
the deductbale amount of donations u /s 80 G.

<. TOFRFO B0TR SR 2016-17 89 205 BRI ) 305;;1%1 eRT eedring :

op.
()  oagrob oesn PEagE B3t 20,000
(b)  Caggod oY AR , 10,000 |
(©)  Cdrob ua® toviEa s T0B3 T 10,000 |
(d) Feow, mbrdéod m@&ﬁc‘)‘)&z S“zswzpads 3nc3 20,000 |
(€)  Jpes B008 w3 IowT AN | 10,000
0 BHRBT* IBTO 0T AP 20,000
(g) Botow adeends BRCBTN Inc zLrt 30,000
(h) 3033 38w DBIATYODTN )3T Beedrt 20,000
0 g3 SuS Dov-vg FoRst 10,000
G4) csod?%) ) F2eTCWBN SINI 3 IB3 D Lalel ] 10,000

0. oadoﬁd%w BROTIEIE IRAT ason, Wi, swood de. 4,00,000 QBOIT. 38&%«3 80 G
vB0L I FRIRAVTVBITT Becdrt 303 F0rO HLBODD. ,




Shri Nayak of Bangalore'working in a private firm, gives the following informatio

for the previous year 2016-17 :

(@)

(b)

(©)

(d)

(e)

®

(8

He made the following payments during the year :

Basic salary Rs. 20,000 p.m.

Dearness allowance Rs. 10,00Q p.m. (enters into retirement benefit)
City compensatory allowance Rs. 2,000 p.m.

Entertainment allowance Rs. 1,000 p.m.

House rent allowance Rs. 5,000 p.m. He is living in rented house paying
rent of Rs. 4,000 p.m.

He is having house property in Tumkur which is let out at a monthly rent of]
Rs. 8,000. The municipal value of the house is Rs. 75,000. He paid
municipal taxes of Rs. 7,500. During the year he repaid the housing loan of]
Rs. 30,000 which includes Rs. 10,000 interest loan. |

He has also having the following incomes :
(i) Interest on fixed deposit with syndicate bank Rs. 20,000
(i) Interest on savings bank account in syndicate bank Rs. 12,000

(i) Winnings from lotteries Rs. 1,00,000 (gross)

(1) Professional tax Rs. 200 p.m.

(2) Paid life insurance premium on the life of :
(A) Own life Rs. 10,000
(B) On wife's life Rs. 10,000
(C) On brothers life Rs. 10,000

(3) Made donation to the clean Ganga fund set by the central govy
Rs. 10,000.

Compute the total income of Shri Nayak for the A.Y. 2017-18.

10
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Be oot wWorideds G %0m RN FoIVALY, FeS FORIWY. T HodT IR
2016-178 S0b3neR), VBT :

(a) oo Se3d Se. 20,000 .3,

(b) o3, B, 10,000 F.8. (T3 Se33, FONeIT)
(c) ®nc 30®e3 g, dw. 2,000 3.3.

(d) Sowtowme & de. 1,000 3.8,

(€) T Bt P T 5,000 .8 o3> wodn Sodobd) SoRmN), & o3t I,.8.
BN B, 4,000 3BT

f) o3 33ROV, 3033 BT, VBB, T3 TR 8,000 So3d wdn JeBmE. ST
BPod MaFs Fodod IPe de. 75,000 {B3W. I xy3 3drtadnh Cwe. 7,500
66%503053. AT0 IRFTY, VID CT3T o8 e Tw. 30,000 2B, Clajelo}
3. 10,000 @ #8038 5e03.

(g) o3It B8 YN eswooNYEs

(i) 2opdees 03w 0d S8 Pesedod Soeds 28 dn. 20,000

(i) 2ofBees® w3 03T 0D guPz00d edod Boeds wB dwe. 12,000
(iii) eoe3doDOT NG 303 dfa 1,00,000 (xxo11)
330 IRF VIO T FINT DWOFNIRY SnBEeoRTIN :
(1) 333018 de. 200 I.8.
(2) eI 3% T3 B0AR, 2Besne Soed
(A) 5’(303 e dw. 10,000
(B) Somwdod wess dwe. 10,000

(C) BBpeBWIT 2¥ess Be. 10,000

(3) Beow, XVTTROT ,u—amaﬁou, 328, nore QR ets Beedrt 8. 10,000.

Qe I

30080 SaF 2017-188, ¢ ©20T*TST 2,63, 5030 AT, FOBO HBOD.
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¥ -

12. X, Y and Z are the partners in a firm sharing profits and losses in the ratio of
3 : 2 : 1. The profit and loss account of the firm for the year ending 31.3.2017 is

as under :
Profit and Loss Account for the year ended 31.3.2017
Rs. Rs.
To Office expenses 25,000 By Gross profit 2,80,000
To Bad debts 5,000 By Discount : 20,000
To Salaries 50,000 By Commission 15,000
- To G.S.T. 10,000 By Rent from house property 35,000
To Provision for bad debts 5,000
To Donations
(National defence fund) 10,000
To Advertisement 15,000
To Salary to partners :
X - Rs. 30,000
Y - Rs. 20,000 50,000
To Depreciation 15,000
To Commission :
X - Rs. 10,000
Y-Rs. 5,000
Z-Rs. 5,000 . 20,000
To Interest on capital at 20% :
X - Rs. 20,000
Y - Rs. 15,000
Z - Rs. 10,000 45,000
To Net profit 1,00,000
3,50,000 ' 3,50,00¢

Additional information :

(a) bfﬁce expenses includes Rs. 2,000 paid as municipal tax on property let
out and Rs. 5,000 paid for purchasing furniture.

(b) Out of bad debts Rs. 2,000 was disallowed by ITO.
(c) Depreciation allowable as per rule is Rs. 20,000.
(d) X andY are working partners.

Compute the total income of a firm for the A. Y. 2017-18, assuming that the firg

fulfills the conditions of section 184.

12
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X, Y 2%y Z 05 nom DenrOm Fofab TEMROTING), BRK) eat-TIR,
3:2: 10 oRoDe3nE), B0wEAW 80T, IWFOF 31.3.20170 mo3od eogd-Fad 23303,

s Oed K)e@mad :

©93-BoQ 793 asca—as'oszs 31.3.20 176;

o¥r) o.

ge3ed DWoeNnYD 25,000 RIOT, SCYA) 2,80,000
VT TN 5,000 3BT Z20eB | 20,000 |
Bowe 50,000 BeRY | 15,000
23,975 8. 10,000 o8 ot 35,000
2PTBROS ORI 59000k, D 5,000 '
Segdririeb (N.D.F.) 10,000
0TI 15,000
ZoeVMATT JowY :

X - 8. 30,000

Y - 8. 20,000 50,000
2RTY 15,000
TeVMATT BeRY !

X - 8. 10,000

Y - dn. 5,000

7 - Bw. 5,000 20,000
WOBZYT HoedT W Be. 20 :

X — 8w. 20,000

Y - dw. 15,000

Z - dw. 10,000 45,000
Y oot 1,00,000

©3,50,000 | ©3,50,000
13




13.

FOOLTUL-VIODU-IK-A-10O

éz&)udﬁ SI0&3neh :

(a) ©e3ed s)zstrm?“ ow. 2,000 m&ﬁ &fa% Sodod 8nv 3o o I3 dwe. 5,000
CBNRCITT D :;Jbea?od% %¢08.

(b) 2%t w007 FeonY, Bn. 2,000 301! ¥BTONYOR 3050x0L3E) RTCOIT.
(c) eswe0d 301 FoBAIT IF0 FABWBITIE 535Y Be. 20,000 10033,

(d) eewmed X 03y Y S3T0 To0dF SEHE TOMRTTINGAT.

Tenmedm 5033@&1) B0090m =ar 2017-180 (M2 esmobda&gl OB SHBOD. WO

JewMd% 30@9&11) 3823;63 184 09 eveSedsmn &)uoqiﬁmimq FporitedAT ot
32010=30.

Case Study (Compulsory) :

Mr. Ramalal of Pune gives the following information relating to the capital assets
sold during the previous year 2016-17 :

Cost of acquisition Rs. 7,78,000
Year of acquisition 1999-2000
Cost of improvement Rs. 2,40,000
Year of improvement 2004-2005
Year of sale 2016-2017
Sale proceeds Rs. 35,12,500
Selling expenses Rs. 12,500

He purchased a residential house (new) for Rs. 10,00,000. The cost inflation
index for the previous year 1999-2000 - 389, 2004-2005 - 480 and
2016-2017 - 1125.

Compute the taxable capital gain for the assessment year 2017-18, if

(@) Capital asset sold is a residential house

(b) Capital asset sold is a jewellery

(¢) Capital asset sold is agricultural land in rural area.

Case Study :

State the reasons for getting different taxable capital gain for the above
mentioned assets sold.

14
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BBO 6g oS (S@d TF) :

B ab Q. CIRERORY FABSHRG 2‘;303?\‘{; 000083 IR &SGH@(Q{ , 0BT IR 2016-17 B
F0WORIBF) S8 FYNT03I :

DOED So’aegs ow. 7,78,000
DO IRE 1999—2000
SDe50m SPe) ow. 2,40,000
BACTON IRIE 2004-2005
SIU3 IRE | 2016-26 17
Inoats 30e) | gw. 35,12,500

SI00E3 DWOE ow. 12,500

330 Se. 10,00,000 BRGT BAR VLB DODUTT. LB IRFNY I3, Browows
R0t308 1 0e8 7. 1999-2000 — 389, 2004-2005 — 480 S0y 2016-2017 ~ 1125.
301! SAF 2017-18 G BBIN BRI WoRTY ST, om> HBOWD. 208 Hed,

() S0k IRBS e TRB FoVAPNGT

(b) R0t IRAS e} eESLNTNTY

(c) R50ok IRRF & Men FBBBAab Z& AA0IPATY

3500 BT 0T

8 oS ZRWATOS BANYRY, SI00E BB WIIT G FSPHT WoRZY T 5/63%13'{

3500 ded.
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